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‘5. X.PXX, *.TXX, Vi T #519TauTisunsy PC-DRAW (XX =
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] ot T
2.1 dane N azlsngtiand wamusan mdail
ENTER THE NEW DATA FILENAME [¥:%kkkkks]
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Wnmpta ";t' i {wmﬁq#ﬁnﬂ# R Il b A .
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s ﬂ*ﬂﬁ%ﬂ%@%&mﬁﬁ
q W'WM%%N%&%M?Q d

WHICH LOAD IS INSTALLED 7

TAB vav it o
g o) P
W midnata B

[ UTILITY, TRANSFORMER, LINE, MOTOR, GENERATOR ]

(denfaunisna U, T, L, M wfa G AWIa 1 lis1azReisut ity
[] »
vaagunsai fanazus ingthnmas l«tuﬂm'l.uzud 3, 4, 5, 6 uaz 7 uaziafeass
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ENTER SYSTEM DATA OF LINE NO. 1

WHICH LOAD IS5 INSTALLED 7 U
[ UTILITY, TRANSFORMER, LINE, MOTOR, GENERATOR ]

LOWER BUS NUMBER
HIGHER BUS NUMBER

0

UTILITY FAULT LEVEL = MVA

X/R RATIO _

LIHE ml 2

Ve ). 1
[ uT : %, TIMOTOR, GENERATOR ]

WER BUS NUMBER

mmmﬁ;ﬁmm

X/R RATIO =



SYNC
INDT
GUPX
GUP>
GUP<

ENTER SYSTEM DATA OF LINE NO. 3
WHICH LOAD IS INSTALLED ? M
[ UTTLITY, TRANSFORMER, LINE, MOTOR, GENERATOR ]
LOWER BUS NUMBER = 0
HIGHER BUS NUMBER =
MOTOR TYPE :
= SYNCHRONOUS MOTOR |
= SINGEL INDUCTION MO:
= GROUP OF - ol WE > 186.5 kW AT >1800 RPM )
= GROUP OF 7. 34456, »>186.5-746 kW AT <=1800 RPM )
= GROUP OF
kW
rpm
%
%
NO. 4

WHICH LOAD IS INSTALLED ?

(LT

HIEEER BUS NUMBER =

N AR N A 8

TURB = TURBINE & OTHER TYPE
RATED POWER Cr
SUBTRANSIENT REACTANCE=

i

TRANSIENT REACTANCE
X/R RATIO =

o 6

MVA

%
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ENTER SYSTEM DATA OF LINE NO. 5

WHICH LOAD IS INSTALLED 7 [,

[ UTILITY, TRANSFORMER, LINE, MOTOR, GENERATOR ]

LOWER BUS NUMBER
HIGHER BUS NUMBER

LINE TYPE :
BUS = BUS DUCT CAB = CABLE

km
kv
ohm,/ km

1

1]

LOWER BUS NUMBER g ,

ﬂwﬂﬂ%%ﬂ%ﬁw $INT

RATED POWER¢

A aﬁmammwma Elx

TRANSIENT REACTANCE
X/R RATIO =

[ B=BYPASS, C=CORRECT, D=DELETE, I=INSERT, X=EXIT ]

Qi 8
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FILE NOT FOUND

PRESS ANY KEY TO DISPLAY ALL DATA FILES....
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DISPLAY SYSTEM DATA OF LINE NO. 1

INSTALLED LOAD IS TURBINE & OTHER GENERATOR

LOWER BUS NUMBER

]
=]

HIGHER BUS NUMBER

I
e

13.5 %
45

— e’
Ctrl key ON ‘ a4\ \ PRESS ANY KEY TO CONTINUE...
. 1 w."'

|
INSTALLED LOAD IS USILITY

ﬂHE‘l@“‘i‘l’W‘ﬁWﬁ'}ﬂ‘ﬁ

HIGHER BUS, NUMBER =

QW?@WWHWTJWH’WH&

X/R RATIO

Ctrl key ON PRESS ANY KEY TO CONTINUE....
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DISPLAY SYSTEM DATA OF LINE NO. 3

INSTALLED LOAD IS TWO-WINDING TRANSFORMER

i
ot

LOWER BUS NUMBER

HIGHER BUS NUMBER = 5

RATED POWER MVA

Ctrl key ON PRESS ANY KEY TO CONTINUE...

.............. M DATA OB LINE  NO. 12

l-w ON MOTORS
5 Ek'l'lf & >1B6.5-746kW at <=1800 rpn

ﬂ‘ﬂ“ﬂ"’ﬂ Wﬂﬁﬂﬂ’?ﬂ‘i m
Qﬁﬁ‘ﬁﬁﬂ‘imﬂﬁﬂﬂﬂ']ﬁﬂ‘

SUBTRANSIENT REACTANCE %
POWER FACTOR e .76
EFFICIENCY = a5 %
X/R RATIO = 9
Ctrl key ON PRESS ANY KEY TO CONTINUE....
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ENTER BASE MVA FOR CALCULATION _

{(Base MVA should be approximately equal to the MVA of calculated system)

At Bt gl a191 s ingi Austumunaness sansit 3 ot
fupgasi (Usndazldan 1, 10 wie  100) Aueniigesnisuiane  Enter
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2. ﬂﬂnuaq‘lnrﬁ'ﬁitﬁﬂﬂﬁﬁﬂuﬂ AiaRdA(Hard disk) 3zt Fanamamilass

a1 luilaiafdduasmispna e (RAM) winwa meuusun Wil vdisk wfe RAM DISK
3. nisidaniszummaanisauonn1T¥n19ss wEtan 3 (Fiadnaetaan)
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THE FOLLOWING DATA IS ALREADLY SET

FAULT RESISTANCE = a ohm

FAULT REACTANCE = 0 ohm

INITIAL VOLTAGE AT EVERY, BUS P.U.
DEGREE
CYCLES
CONTACT PARTINGTIME OF BV CB. 2 . CYCLES
DO YOU W NO]
] L] A Pl il i
9.4 fumelazi e noanisiaasasitiidia 2 (afasszonnmu aniid

uﬁ:unﬁuiiﬁﬁiaﬁ '——:‘

)
EMﬁ%H%@ﬁ@Wﬂ?ﬂ‘i

ENTER THE FLELTED BUS NEHB

DRI 4RIV H0H ot

Liflagius i afasastity)  uazus ot ulane Enter azlsngtiand nau

SHORT CIRCUIT CURRENT AT BUS ... WILL BE CALCULATED.
DO YOU WANT TO FIND S.C. CURRENT CONTRIBUTION OF EACH LINE? [YES, NO]

frdpanteatuaang sudilivaludounng v 832997 mzina997 WnA Y uas

frui¥ean11idine N wienniu afesazom
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DO YOU WANT TO FIND BUS VOLTAGE DURING FAULT ? [YES, NO]
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A Ctrl Wiaufu Left qmﬂnaﬂaﬁnﬁnaﬂuﬁmﬂ'wﬁ'ﬂﬁaﬂfau ﬂnﬁnﬁﬁnﬂ
1 e
nA Ctrl wianiu Right Isudnsuadimineaitaunstyl
o ctrl wiawtu F1 azuhunisusnanm (8dl) Aid¥19131eu PC-DRAW
(a1 fufautioyad)

nA Ctrl wiauffu End a.tﬂummﬁmmﬁnhﬁ'wmﬂ 1 wawmiingany

nf Ctrl wienfiu Ent

9.5 : o zﬁ*'__nﬂﬁﬂaﬁnﬁiulfm‘l%"{ﬁ iny

i
LATRIRZ0 WA

ffaInt o U o5 ne N G dlunefamied aun

(afasrconi
WHICH TYPE 0 YOU 182,080 COLUMN?_

W1da lam wia 80 @M aam: Hmn&nter l.h?nﬂ-immﬁaﬂu

| m uﬂiiiﬂmmunauﬁq
uazfin fla mi&qaw:auna-

i ’W’ﬁ a“www“r?ﬂ Y18 Y

ﬂﬁu'mﬁrmﬂﬁ LngKeudnstupil 20 sausnguusedaidiunasi dennns
WauAety
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PAGE 1 . 1 SHORT CIRCUIT CURRENT OF BUS NO. 1 RATED 13.8 kV
FOR H.V. CB [ INTERRUPT = 5 cY CON. PART = 3 cY

FAULT LEVEL = 642.639 MVA R = 31.58745
E/Z = 24 643 kA(rms)
MULTIPLYING FACTOR LOCAL ° = 1.039525
MULTIPLYING FACTOR : REMOTE = 1.151112
MULTIPLYING FACTOR : AVERAGE = 1.091007
E/Z % MF. ¢ LOCAL = 25.617 kA(rms)
E/Z % MF. : REMOTE = 28.367  kA(rms)
E/Z % MF. i AVERAGE = 26.886 kA{rms)
CB. DUTY : \

INTERRUPTING SHO CIRCUT },W'H [sYM] = 26. 886 kA(rms)
MOMENTARY SHORT.C ; A4V = 40.775 kA(rms)
GENERATOR CONT! i DEGREE ] :
LINE NO. 1 OCA = 2.78 , -8B.73
LINE NO. 2 REMOTE = 2.22 ; —8B7.30
LINE NO. 22 1 OTT L 0.27 , -83.39
LINE NO. 24 \\\ = 0.13 , —-84.17

LOCAL .4613591

- \\ PRESS ANY KEY TO CONTINUE..

RATED 13.8 kV

Ctrl key ON

PAGE 2 . 1 SHORT CIRCULT GUiRENT OF

FOR LV. CB. FOivALENCE— e
V:f

FAULT LEVEL, = ) MY T x/R

ﬂ‘IJEI’J‘VIEWlﬁWEI'm‘ﬁ

bt m&ﬂﬂmwmwﬂaa B) s

IHTERH‘IIPTIHG SHORT CIRCUIT CURRENT [SYM]
[ ASYMMETRICAL SHORT CIRCUIT CURRENT

kA(rms)

26.109 kA(rms)
41.833 kA(rms) ]

wn

FOR TIME DELAYED RELAYING DEVICE

SHORT CIRCUIT CURRENT

18.920 kA(rms)
Ctrl key ON PRESS ANY KEY TO CONTINUE....

quil 17
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PAGE 3 . 1

SHORT CIRCUIT CURRENT CONTRIBUTION ( SYM. ) [ PU. , DEGREE ]
[ MOMENTARY FOR HV. CB. ]

CURRENT OF LINE NO. 1 FROM BUS NO O TO 1 = 2.777 , -8B.73
CURRENT OF LINE NO. 2 FROM BUS NO 0O T™ & = 2.220 , -8B7.30
CURRENT OF LINE NO. 3 FROMBUS NO1 TO 5 = 2.220 , 92.70
CURRENT OF LINE NO. FROM BUS NO1 TO 6 = 0.247 , 92.30
CURRENT OF LINE NO. 0. 7 = 0.247 , 92.30
CURRENT OF LINE NO. 0 6 = 0.247 , -87.70

CURRENT OF LINE ' AUS NO 0 1 = 0.247 , -87.70
CURRENT OF LINE ‘ BUS\ NO T O = 0.016 , 96.30
Ctrl key ON | 3 \ PRESS ANY KEY TO CONTINUE...

PAGE 4 . 1
BUS |V E ]
[
VOLTAGE g0, BUS NO. @7 0.00 y 0.00
ﬂumnw ENINBANT | o
‘FOLTAGE OF BUS NO. 6 -1.78
q m&mnmm&nmm NY
VOLTAGE OF BUS NO. 0.06 : 0.59
VOLTAGE OF BUS NO. 9 = 0.06 : 0.59
VOLTAGE OF BUS NO. 10 = 0.06 . 0.59
VOLTAGE OF BUS NO. 11 = 0.06 ; 0.59
Ctrl key ON PRESS ANY KEY TO CONTINUE...

oM 19
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PRESS F TO CALCULATE FAULT ON OTHER BUS

C TO CHANGE SYSTEM DATA

I TO CHANGE INITIAL CONDITIONS

R TO CHANGE OPTION OF SHORT CIRCUIT CALCULATION
G TO DISPLAY DIAGRAM

5 TO STOP CALCULATION

Cc
I

3 3 3 3

R infasncadrdtisduRud
1und nitmg muiqpﬁi

M G Ldﬂi’aan WARIT

f11Rilnag

'j:. —_——

| (Y -2 ————
tﬂ!'aqqm'miaﬁ m m

o o UL HLINIINT .
WIAIDIMUNAANHIALL e

Witiayanfutwleut Auneunisatuan

10. uatfioya zA"
(B, 14 '
nwﬂduumumtﬂmiunaaaﬂnﬁmqm W1aTaun1Tnn ¢ puzianygt fannas
v L]
wawdapil 20 Uswnguusa Euihinasiudetausn Lﬂﬁﬂ:ﬂﬁnwﬂﬁmlm
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WHICH LINE NUMBER DO YOU WANT TO CHANGE THE DATA (ENTER 999 TO EXIT]

LINE NO. = 7

i (] w
UWRUHVIE L ABAWIEARBINIT uRINA Enter HayaiAuvesateiiuazisinguy
]
anm Hapil 21

CHANGE SYSTEM DAT)

3 U8k

HATED VOLTAGE

e ."\;‘-
i
.
N

(W] ()

=

REACTANCE

A

=l

RESISTANCE

LINES/F st

BmASS. c= GE&HGE. X = EKI
ﬂumuﬂmwmm

QNN 0E DA i

dsunla sl
w . ) *
oM C  Baenigiaiunrn e st

wm X efenissunisfiudey

neifuatens 1 Whussufazuananesin nsuitedayatudiafed 3
nnfe  nmfiasnadeyanns a tubunend ssiuiFiannzaAtieans 2 ves
unazgqnsdiiaty g mas o fiudna Tas as1emaar s (s ol e
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LOWER BUS NUMBER ua: HIGHER BUS NUMBER) n“mﬁﬂlﬂuuﬂmﬁwﬁw " q:sﬂéw&ﬁ
fiazan  Tauiadasazudnaniindeazi i i (wiardlua) Hamisen  wasl
\afaaussounls gt Ui liiRans wdana Enter Louilt Fauty
AT (H1Laen T UAEIAN AN Enter Wiay) artmiaslsngumitaiidy (e
(ifnfayaesawnidanmrauda  aslsngHiananansedn "PRESS Esc TO CANCEL

OR ANY KEY TO CONTINUE." #aiilun1s1¥ismsasdennsmgnfieamesaifildmtiin

11.  pasudpaquinm

SCIP (Euﬂm:ﬂ'a

d1ut animidy ﬁmﬁn mmmﬁ 3 1ﬂéﬂ'ﬁ1ﬂ'mms
#3130 moaq F@gﬂ EI 1998w SCIP 3z
1uilou 1% nsudnagl
T R e

a‘m*:unw'tmwﬁiuﬂnﬁﬂq‘l'a uanhnﬁuLﬂﬂwwnﬁmnﬂunnmm‘lnmﬁﬁn
nh Ctrl wieutfu Home sziilunisudmanimusniumg
nf Ctrl wianiy PgUp aziiluntsudasnmossmla 1 am

na Ctrl wiauffy Pgdn szithunisudnaninaeiy

nA  Ctrl wienffu Enter azifunisaunisudgnanm ua:nﬁnﬁmﬂ‘uwﬁmﬂnmm

nm Bsc  sztilunassunisudaanm uasniugninfatuneunisugang
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nmwauan o

Tlsunsun1sdiaTisiin1sdnaTrear s e M U Ts s s ugRd MnT T

SCIP

10 REH ----
20 REM * SHORT CIRCULT AMALYS
30 REW ¢
40 REN +
70 REM
80 REM
90 REN 3% THIS 15 THE MAI)
100 REM
102 DEFINT I
105 COMMON D1$,D28,D38,D4s, 065, Did
110 KEY OFF - SCREEM 0,0,0 : WIBIH 3
115 IF CINIDXX=3 AND {30 THEN"Z41{

117 IF CINIDXZ()0 THEN 190 77
120 CLS : CLEAR : LOCATE 5,27 : COLOR “For 48 :
123 LOCATE 6,27 : PRINT °¢  SHORT CLRCHIRANALISE

125 LOCATE 7,27 : PRINT * A
130 LOCATE 8,27 : PRINT &
134 LOCATE 9,27 : PRINT ‘p—_
135 LOCATE 12,10 ; PRINT “Céb
137 LOCATE 12,25 : COLOR 15.5) TNPUT ** K
138 IF LEN(NANS) (=50 THEN 190

13% LOCATE 14,10 : PRINT “0UT "f‘ﬁlﬂrﬂ [ HAXIHUH SAETTERS

o ke G4 1 0 A 1141 swﬂq N5
141 T1% = INEEYS :0IRL T

160 REN ----------

170 REH

5 SR DI U DA E e v

200 LOCATE 11,25 : PRINT "PRESS" : LOCATE 11,32 : COLOR 15 : PRINT "N* : LOCATE 11,35 : COLOR 7 : PRIN
T “T0 CREATE NEW DATA FILE®

210 LOCATE 12,25 : PRINT "PRESS" : LOCATE 12,32 : COLOR 15 : PRINT "0 : LOCATE 12,35 : COLOR 7 : PRIN
T "T0 USE OLD DATA FILE'

220 LOCATE 13,25 : PRINT "PRESS" : LOCATE 13,32 : COLOR 15 : PRINT "E" : LOCATE 13,35 : COLOR 7 : PRIN
T "T0 EDIT OLD DATA FILE"

230 LOCATE 14,25 : PRINT "PRESS® : LOCATE 14,32 : COLOR 15 : PRINT “D" : LOCATE 14,35 : COLOR 7 : PRIN
T “T0 DELETE OLD DATA FILE"

240 LOCATE 15,25 : PRINT "PRESS® : LOCATE 15,32 : COLOR 15 : PRINT “R" : LOCATE 15,35 : COLOR 7 : PRIN
T "T0 RENAHE BACKUP FILE"

250 LOCATE 16,25 : PRINT “PRESS" : LOCATE 16,32 : COLOR 15 : PRINT "0" : LOCATE 16,35 : COLOR 7 : PRIN
T "T0 QUIT & RETURM TO DOS"

%, 1,CINIDXT

THEsp bt eRRE i inine”
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1270 LOCATE 17,45 = INPUT “",LX : IF LX(=0 THEN LOCATE 17,45 - PRINT SP$ : GOTO 1270
1260 LOCATE 19,45 : INPUT "",XR : IF XR(=0 THEN LOCATE 19,45 : PRINT SP$ : GOTO 1280
1290 COLOR 7

1300 LSET DI$=MKI${I) : LSET D2§=MEI$(LBNI) : LSET D3$=HKI$(HBNI) : LSET D4%$="XFMR"
1310 LSET DS$-LTY$ - LSET D&S-MES$(MVA) : LSET D7$:-MKS${0) - LSET DO$=HKSS{LY)

1320 LSET D9$=MKS$(0) : LSET D10S=MKSS(XR):LSET D11$=HKS$(D)

1340 RETURN

1350 REN ———---—mmmmm e
1360 REM ® ENTER LINE DATA *
1370 REM --

1380 LOCATE 8,21 : PRINT “LOMER BUS NUMBER %
1390 LOCATE 9,21 : PRINT "HIGHER BUS MUHBER
1400 LOCATE 11,31 : PRINT "LINE TVRE &%
1410 LOCATE 12,21 : COLOR 15 - PRiNd

1420 LOCATE 12,46 : COLOR 15 :
1430 LOCATE 14,21 : PRINT "Ro
1440 LOCATE 16,21 : PRINT "RATED.Jd
1450 LOCATE 18,21 : PRINT "kl
1460 LOCATE 20,21 « PRINT "RE

41 : PRINT *=°

W : PRINT *=*
‘élan 7+ PRINT "= BUS DUCT®

PR 7 : PRINT "= CABLE"

" : LOCATE 14,56 : PRINT "ke"
=" - LOCATE 16,56 : PRINT “kv"
*LOCATE 18,56 : PRINT “oha/ke"
. LOCATE 20,56 = PRINT “ohe/ke"

1470 LOCATE 22,21 : PRINT “®NES[E PR "

1480 IF I=1 THEN LBWX=0 : LOCAFE 8 INX 260TO 1500

1490 LOCATE 8,45 : COLOR 15 4FINP WL - IF RBNI4ON T \H"' 8,45 : PRINT 5P§ : GOTO 1490
1500 LOCATE 9,45 : INPUT " ,HBNZ HERE=0 ITELBRT [HHTE 9,45 : PRINT 5P§ : GOTO Iﬁﬁﬂ'
;:ll:sligmﬁ 11,45 : INPUT =" VS TY$ 545 18 COSCABS. THEW LOCATE 11,45 : PRINT SP§ -

1520 LOCATE 14,45 : INPUT "°,R
1530 LOCATE 16,45 - INPUT “",KV :
1540 LOCATE 18,45 : INPUT "°,LX : 4
1550 LOCATE 20,45 : INPUT “",LR :
1560 LOCATE 22,45 : INPUT *°,LP :
1570 COLOR 7 {
1560 LSET DI$=HKI$(1) : L5EDA
1590 LSET DS$=LTY$ - LSET Beb M
1600 LSET D9$=HKS$(LR) : LSET b1
1620 RETURN
1630 REN -——-=—===-======meuun

E%Z;f‘i‘:fifﬁ“%ﬂ JnpgINans

1670 LOCATE 9,15 T HIEHEH BUS NUMBERY : LOCATE 9,4[ PRINT "=*

1680 LOCAT 5 uﬁl
1690 LOCATI %ﬁ OLOR ?EIF;I-I}TQ S HOTOR®
1700 LOCATE 5; EH HTE 13, 10+ COLOR 7 PRINT -2 STRGEL TNDUCTION HOTOR"

1705 LOCATE 14,5 : COLOR 15 : PRINT "GUPX" : LOCATE 14,10 : COLOR 7 : PRINT "= GROUP OF INDT.(EACH )74
6 kW & 1186.5 kW AT )1800 RPH )

1710 LOCATE 15,5 : COLOR 15 : PRINT "GUP)" : LOCATE 15,10 : COLOR 7 : PRINT "= GROUP OF INDT.(EACH 37.
3-186.5 kW & 1186.5-746 kW AT (1800 RPH )"

1720 Lucnlf 16,5 : COLOR 15 : PRINT "GUP(" : LOCATE 16,10 : COLOR 7 : PRINT "= GROUP OF INDT.(EACH UND
ER 37.3 kN)*®

1730 LOCATE 17,15 : PRINT “RATED POMER" : LOCATE 17,41 : PRINT "=" : LOCATE 17,56 : PRINT “kM"

1740 LOCATE 18,15 : PRINT “SPEED" : LOCATE 18,41 : PRINT "= : LOCATE 18,56 :PRINT “rpa

1750 LOCATE 19,15 : PRINT “SUBTRANSIENT REACTANCE™ : LOCATE 19,41 : PRINT "=* : LOCATE 19,56 : PRINT "
:'I

1760 LOCATE 20,15 : PRINT “POMER FACTOR " : LOCATE 20,41 : PRINT *:

*FRINT 5P$ : &0T0 1520
: PRINT SP§ : GOTO 1530
3 : PRINT 5P$ : GOTO 1540
: PRIMT 5P$ : GOTO 1550
: PRINT SP$ : GOTO 1560

T DAS="LINE"
""s HES$(LY)
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760 REW i —

770 REM ¥ SUBROUTINE FOR INPUT OR H?ﬂlTE DATA FILE ¢

780 REM —=========m— == s oo

790 CLS : LOCATE 2,25 = PRINT “ENTER SYSTEH DATA OF LIME® : LOCATE 2,53 : COLOR 15 : PRINT "WO." I : C
OLOR 7

800 LOCATE 5,28 : PRIMT “WHICH LOAD IS INSTALLED ?*

810 LOCATE 6,17 : PRINT *[" : LOCATE 6,19 : COLOR 15 : PRINT “U™ : LOCATE 6,20 :COLOR 7 : PRINT “TILIT
e

820 LOCATE 6,29 : COLOR 15 = PRINT "T" + LOCATE 6,30 : COLOR 7 : PRINT "RAMSFORMER,"

830 LOCATE 6,43 : COLOR 15 = PRINT °L® LucnIE 6,44 : COLOR 7 : PRINT “INE,”

840 LOCATE 6,50 : COLOR 15 : PRINT “N° ATE - COLOR 7 : PRINT "0TOR,”

850 LOCATE 6,58 : COLOR 15 : PRINT "6".% ?" R 7 : PRINT “ENERATOR ]°

860 LOCATE 5,56 : T2$=IMKEYS$ : R 15 : PRINT _1g;!§5§§'; : IF T28="" THEN 860
870 IF T24="U" OR T2$="u" THEM 95

880 IF T28="T" OR T28="t" THEN=

890 IF T28="L" OR T24="1" THEN =, | S
900 IF T26="H" OR T24="n" THEN | /) -
910 IF T24="6" OR T24="g" LOCATE 5,86 < 6010 860

20 R —rTT T
930 REM * ENTER UTILITY DA
940 REM -
950 LOCATE 8,21 : PRINT "L
960 LOCATE 9,21 : PRINT "HIGHE
970 LOCATE 11,21 = PRINT "UT

" : LOCATE 11,56 : PRINT "HVA®

960 LOCATE 13,21 : PRINT "X/R RA
990 LBMI=0 : LOCATE 8,45 : COLOR 1
1000 LOCATE 9,45 : INPUT "* HENI &
1010 LOCATE 11,45 : INPUT "° MVA :
1020 LOCATE 13,45 : INPUT **,XR
1030 COLOR 7 “» 4 .
1040 LSET DI$=HKI$(I) : LS DRe-RETERHENT T LS T DAg="UTIL"
1050 LSET DS$=HKS$(0) : LSE SEL-03 : LSET D93:-HKS$(0) -
LSET DI0§=HES$(XR):LSET D114
1070 RETURN
1080 REM

B e NN

1120 LOCATE 9,21 : PRINT "HIGHER BUS NUMBER® : LOCATE ?,1[ PRINT *=*

1130 LOCA

s R AR UMA0 K AR e

1150 LOCATE 42 ="miro"

1160 LOCATE 13,21 : COLOR IS : PRINT “TRWD" : LOCATE 13,26 : COLOR 7 : PRINT "= THREE-WINDING®

1170 LOCATE 13,46 : COLOR 15 = PRINT “AUNT" : LOCATE 13,51 : COLOR 7 : PRINT "= AUTO WITH TERTIARY"
1180 LOCATE 15,21 : PRINT "RATED POMER™ : LOCATE 15,41 : PRINT "=" ; LOCATE 15,56 : PRINT “MVA"

1190 LOCATE 17,21 : PRINT "REACTANCE® : LOCATE 17,41 : PRINT "=° : LOCATE 17,56 : PRINT "1"

1200 LOCATE 19,21 : PRINT "X/R RATIO" : LOCATE 19,41 : PRINT "="

1210 IF I=1 THEN LBNI=0 : LOCATE 8,45 : COLOR 15 : PRINT LBNI : GOTO 1230

1220 LOCATE 8,45 : COLOR 15 : INPUT "",LBNI : IF LBNX(O THEN LOCATE 8,45 : PRINT SP$ : GOTO 1220
1230 LOCATE 9,45 : INPUT “°,HBNI : IF HBNI:0 OR HBNI(:=LBNI THEN LOCATE 9,45 : PRINT SP$ : GOTO 1230
1240 LOCATE 11,51 : INPUT °°,LTYS$

1250 IF (LTY$C) TWHD" AND LTY$()"AUTO") AND (LTYSC)"TRWD® AND LTY$()“AUNT™) THEN LOCATE 11,51 : PRINT
SP$ : GOTO 1240

1260 LOCATE 15,45 : INPUT *",HVA : IF MVA(=0 THEN LOCATE 15,45 : PRINT SP$ : GOTO 1260

] EM LOCATE 9,45 : PRINT SP$ : GOTO 1000
[ 11,45 : PRINT SP$ : GOTO 1010

IF 1
: - PRINT SP$ : 6OTO 1020




260 LOCATE 9,48 : TI$=INKEY$ : COLOR 15 : PRINT T1$ : COLOR 7 :
270 1F T14="H" OR TI$="n" THEN GOSUB 540 : GOTO 360

280 TF T1$="0" OR T1$="o" THEN GOSUB 2200 : GOTO 360

290 IF TI$="E" OR T1$="e" THEN GOSUB 3290 : GOTO 360

300 IF T1$="D" OR T1$="d" THEN GOSUB 4570 : GOTO 190

310 IF T1$:="R" OR T1$="r" THEN GOSUB 4850 : GOTD 190

320 IF T1$="0" OR T1$="q" THEN CLS : SYSTEM ELSE LOCATE 9,48 :
330 REN ----mmmmmmmmmeae

340 REM ¢ SELECT DISPLAY ( FILE 81 IS OPEN OTHERS ARE CLOSED)
350 REM -=---s=m=mmm==eman .
360 CLS : LOCATE 12,18 : PRINT "DO YOU WeHI ORI
7 = PRINT "ES,";: COLOR 15 : PRINT “W':
390 LOCATE 12,67 : T1$=INKEY$ : COLOR™M
400 TF T1$="Y" OR T1$="y" THEN GOl
C410 IF T1$="N" OR T1$="n" THEM®
420 REN =======m======m==aa
430 REM * SELECT CALCULATE #
440 REH ---------——-—-———-
450 CLS : LOCATE 12,21 : PRIN
460 LOCATE 12,50 = COLOR 1
470 LOCATE 12,55 : COLOR 15 :
480 LOCATE 12,61 : T1$=INKEJS™:
490 TF T1$="Y" OR T1$="y" THEN

51[5:5%1 DATA 7 [
L] i -

212

IF T1$="" THEN 260

PRINT SP§ -

: BOTO 390

Ry SBRINT "ES,"
(o PRINT "0 1°
T1$:"" THEN 480

GOTO 260

®:: COLOR 15 : PRINT “Y*;:COLOR

: IF T1$="" THEN 390

GOTO 480

SO0 IF T1$="H" OR TI$="n" T : PRINT SP§ :
510 REH -

520 REM ¥ CREATE NEW DATA FILE

530 REW

540 CLS - LOCATE 12,15 : INPUT * L REERRREE] " FDATS

550 GNEWS=FDAT$H" DAT"
560 ON ERROR 6070 700
S70 NAHE DNEWS AS DNEWS |
580 ON ERROR GOTO 0 T
590 OPEN DNEWS AS 8§ 1 LE
600 FIELD B1, 2 AS DIf, 2 Lﬂz:,
A4S ums 4 45 D1l
610 CLS :

mmﬂﬂ Wi hy AR

COMTINUE. "

=7

,@m.:mm.usm,usm

INT Il] RE-ENTER OR °;:COLOR

;:COLOR 7: HIHI " T0

S RN THAMY AN

652 PUT #1,1g1=

634 IF TH{}EHHHEI] THEN 620

660 CLS - LSET DA$="EODF" : PUT #1,I : RETURN

670 REM ---- i T e

680 REN * ERROR OF CREATING NEW DATA #

"0, 80 R e e G

700 1F ERR=53 THEN RESUME 580

710 IF ERR=58 THEN 720

720 LOCATE 16,31 : COLOR 31 : PRINT “FILE ALREADY EXISTS®

730 LOCATE 23,36 : COLOR 1S : PRINT "PRESS ANY KEY TO DISPLAY ALL

740 T24=INKEYS - IF T2$="" THEN 740
750 GOSUB 4760 -IF T7$=CHR$(27) THEN RESUME 190 ELSE RESUME 540

DATA FILES®

: COLOR 7 : LOCATE 23,78
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1765 LOCATE 21,15 : PRINT "EFFICIENCY® : LOCATE 21,41 : PRINT “=" : LOCATE 21,56 : PRINT ‘1"

1770 LOCATE 22,15 = PRINT "X/R RATIO" : LOCATE 22,41 : PRINT °:=*

1780 LBNX=0 : LOCATE 8,44 : COLOR 1S : PRINT LBNI

1790 LOCATE 9,45 : INPUT “",HBNT : IF HBNI=0 OR HENI(-LBNX THEN LOCATE 9,45 : PRINT SP$ : GOTO 1790

1800 LOCATE 11,45 : INPUT " LTY$

1810 IF (LTY$()"SYNC™ AND LTYSC)"INDT™) AND (LTYS$()"GUP)"™ AND LTY$()"GUP{") AND LTY$()"BUPX" THEN LOCA

TE 11,45 : PRINT SP$ : GOTO 1800

1820 LOCATE 17,45 : INPUT "",KN : IF KW(=0 OR {LTY$="GUP}" AMD KW(37.3) THEN LOCATE 17,45 : PRINT 5P$
: GOTO 1820

1830 LOCATE 18,45 : INPUT “",RPM : IF RPM{=0 THEN LOCATE 18,45 : PRINT SP$ - GOTO 1830

1840 LOCATE 19,45 : INPUT "",XD : IF XD(:=0 IHEH LOCATE 19,45 : PRINT SP$ : GOTO 1840

1850 LOCATE 20,45 - INPUT ",PF IF PF(O OF EN LOCATE 20,45 : PRINT SP$ : GOTO 1850

1855 LOCATE 21,45 : INPUT " ,EFF: IF EF \\x ’ EH LOCATE 21,45 : PRINT SP$ : GOTO 1855

oy

1860 LOCATE 22,45 : INPUT ", XR : : PRINT 5P$ : GOTO 1860
1880 LSET DI$=MKI$(I) : LSET D? -“x.;..ﬁ“:: : LGET DIS=MRTRLRENG) - (SET Das="nToR"

1870 COLOR 7

1890 LSET DS$=LTY$ : LSET Dé$=MESSLERwewtSET DS -MESSORRNE. - L SE nas=nlss{rni
1900 LSET D9$=HKS$(PF) : LSETDYOE: HaoeTalel

1920 RETURN

1930 REW

1940 REM * ENTER GEMERATOR DA

1950 REW ——=====m=mmmmmmmmmmmee :

1960 LOCATE 8,19 = PRINT “LOMGA"BUSIN
1970 LOCATE 9,19 = PRINT “HIGHER
1980 LOCATE 11,26 - PRINT "GENGHRTOR

1990 LOCATE 12,21 = COLOR 15 # PRI JM0A": > LOCATENI2426% EOLOR'7 = PRINT “= HYDRO WITHOUT AMORTISS
EUR" St al\\

2000 LOCATE 13,21 : COLOR 15 : PRIND™" ‘ 1 b ,'i . Lol : PRINT "= TURBINE & OTHER TYPE"
2010 LOCATE 15,19 = PRINT "RATED Py ) f LﬂﬂlTE 15,56 = PRINT "HVA"

2020 LOCATE 17,19 : PRINT "SUBTRANSIENTS —LOCATE 1?.41
:I -
2025 LOCATE 19,19 :
2030 LOCATE 21,19 - :
2040 LENZ=0 : LOCATE 8,45 |
2050 LOCATE 9,45 : INPUT *°
2060 LOCATE 11,45 - INPUT "L
2070 TF LTY$() "HHOA™ AMD LTH }"TURB"  THEN LOCATE 11,45 : PRINT SP$ : GOTO 2060
2080 LOCATE 15,45 = INPUT ** HVK «=iF NVA(=0 THEN LOGATE 15,45 : PRINT SP$ : GOTO 2080
2090 LOCATE 17,45 : ﬁ?ﬂu &I fg mﬁmﬂﬂﬂﬂ ﬂﬂrﬁ 0T0 2090
2095 LOCATE 19,45 : GOTO 2095
2100 LOCATE 21,45 : TRBUT **,)R : IF XR(=0 ‘II-EH LOCATE 21,45 PRINT SP$ - aum 2100
2110 COLOR 7

12 A AR MUABUNGH
2130 LSET D

2140 LSET D9$°=HKSS(XD) : LSET D10$=HKS$(XR) :LSET DI1§=MKS$(0)

2160 RETURN

2170 REM
2180 REM * USE OLD DATA FILE
2190 REN
2200 CLS : LOCATE 12,15 : TNPUT "ENTER THE OLD DATA FILENANE [%:s#stsast]® FDATS

2210 DOLDS=FDAT$+" .DAT"

2220 ON ERROR GOTO 2310

2230 NAME DOLD$ AS DOLDS

2240 ON ERROR GOTO O

2250 OPEN DOLDS AS #1 LEN=38

2260 FIELD 21, 2 AS DIS, 2 AS D28, 2 AS D38, 4 AS DAS, 4 AS DS$, 4 AS D6S, 4 AS D78, 4 AS D83, 4 AS D9
$, 4 AS D10%,4 AS DLIS

2270 RETURN

PRINT "z" : LOCATE 17,56 : PRINT *

: LOCATE 19,56 : PRINT “I°

?“-TE 9,45 : PRINT SP$ - GOTO 2050
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2260 REN - -
2290 REH * ERROR OF USTHG OLD DATA *
2300 REN

.l\

0 OR 15,0 : PRINT “PRESS ANY KEY TO CON

+Palp,DP, Hose ,Graph ,END, Enter , +ANY

2340 GOSUB 4760 -IF T174: Bﬂﬂt{??i THEN RESUHE 1
: COLOR 7
2490 LOCATE 12,33 : COLOR 31 - 4RI

0+ COLOR 15,0 : PRINT "PRESS ANY KEY TO CO
2522 TA$=IMKEYS : IF Tdg:="

2310 IF ERR=53 THEN 2330

2320 IF ERR=58 THEN RESUNE 2240

2330 LOCATE 16,34 : COLOR 31 : PRINT “FILE NOT FOUND®

2340 LOCATE 23,36 : COLOR 15 : PRINT "PRESS ANY KEY TO DISPLAY ALL DATA FILES® : COLOR 7 : LOCATE 23,7
2370 REN -

2380 REM * SUBROUTINE FOR DISPLAY ¢

2390 REN - -

2400 CLS : 1:=1

2430 IF DA$="UTIL" THEN GOSUB=#S5i

2440 IF DAS="XFHR" THEN GOSUB ¢

2450 IF DA$="LINE" THEN GOSU \.

2460 IF DA$="HTOR" THEN GOSUB 2990 - 46

2500 LOCATE 23,1:COLOR 0,7:PRINT %

TINUE...." : COLOR 7 :LOCATE 23,28

2510 T$=INKEYS : IF T4$="" THEN 25100 €L

2515 ON GOTDXY 60TO 2550,2532,2552 9400

2524 ON GOIDXI GOTO 2530,7% """5" On,Pallp, P, Howe , Grapht ,END,Ente
T, +ANY ol >

2530 CLS : I=141 : GOTO “iw.ml m

2532 CLS : I=I-1 : IF I =

2533 GOTO 2410

8
)SE RESUME 2200
2410 GET #1,1 : IF D4$="EODF"
2470 IF DA$="GENT" THEN GOSUB®]e
2520 LOCATE 23,1 :COLOR 0,7:PRINT “Ctrl
2534 CINIDXI=J :
250 oo 5 mamwmm

2350 T3$=INKEYS : IF T38="" THEN 2350

2420 CLS : LOCATE 3,24 : PRINT.ZBiSPIRY SvSieEM DATA “wLUCATE 3,54 : COLOR 15 : PRINT "NO." I
2480 CLS

NTINUE...." : COLOR 7 :LOCATE 23,79

2551 REM * DIRECT P

‘2552 LOCATE 23,1 :

2555 FOR 1P6= ﬁq aiﬁ‘ﬂ @ %umﬂ@*‘w EI r] ﬂ E]

2556 BET #1,IP6 : IF D4$="EODF" THEN 2480

2557 NEXT IPG :I=IPE-1 :60T0 2410

2558 PeI=1

2559 BET #1,PGX:IF D4$="EODF" THEN I=P6I-1 :60T0 2410
2560 PEX=PEI+1 :60TO 2559

2561 REM
2570 REN ® DISPLAY UTILITY DATA #
2580 REM
2590 LBNI=CVI(D28) : HBMI=CVI(D3$) : MVA=CVS(D6$) : XR=CVS(D10$)

2600 LOCATE 6,28 : COLOR 7 : PRINT "INSTALLED LOAD IS" : LOCATE 6,46 : COLOR 1S : PRINT “UTILITY"
2610 LOCATE 9,21 : COLOR 7 : PRINT "LOWER BUS NUMBER =" : LOCATE 9,45 : COLOR 15 : PRINT LBNI
2620 LOCATE 11,21 : COLOR 7 : PRINT "HIGHER BUS NUMBER =" : LOCATE 11,45 : COLOR 15 : PRINT HENI

2554 LOCATE
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2630 LOCATE 13,21 : COLOR 7 : PRINT “UTILITY FAULT LEVEL =* : LOCATE 13,45 : COLOR 15 : PRINT HVA : LO
CATE 13,56 - COLOR 7 : PRINT "HVA®

2640 LOCATE 15,21 : COLOR 7 = PRINT "X/R RATIO =" : LOCATE 15,45 = COLOR 15 : PRINT XR
2650 RETURN

2660 REN —-----==nnnmmmmmmnmmeeoenee

2670 REH ¢ DISPLAY TRANSFORKER DATA *

2680 REN

2690 LBNX=CVI(D2%) » HBWI=CVI(D3$) : LTY$=D5$ : MWA-CVS(D6$) : LX=CVvS(DB$) : XR=CvS{D10$)
2700 LOCATE 6,18 : COLOR 7 : PRINT "INSTALLED LOAD IS* : LOCATE 6,36 : COLOR 15

2710 IF LTY$="TWND" THEN PRINT “TWO-NINDING Tﬁausrunﬂin'

2720 IF LTY$="AUTO" THEN PRINT "AUTO TRANSFORMES

2750 LOCATE 9,21 + COLOR 7 : PRINT SLONE OCATE 9,45 : COLOR 15 : PRINT LBNI

2760 LOCATE 11,21 : COLOR 7 : PRINPSHIGHE JCATE 11,45 : COLOR 15 : PRINT HBMI
2770 LOCATE 13,21 : COLOR 7 : PRTNT™™FATELP PATE 13,45 = COLOR 15 : PRINT HVA : LO
CATE 13,56 : COLOR 7 : PRINT *
2780 LOCATE 15,21 : COLOR 7 : P
ATE 15,56 : COLOR 7 : PRINT ‘
2790 LOCATE 17,21 : COLOR 7 : A0 - =" LOBATE 17,45 : COLOR 1S : PRINT XR
2800 RETURN i) 407 A

CALE 15,45 : COLOR 15 : PRINT LX : LOC

2820 REM * DISPLAY LINE DAT
2930 REN ----——--—-——-———-- - o TN
2840 LBNI=CVI(D28) : HBNZ=CVI =D5¢% ALSBYS(D68), - Ry-0VS(D78) - LX=CVs{Des) : LR=CVS(D9s)
: LP=CVS(D103) ' e S A

2850 LOCATE 6,26 : COLOR 7 :
2860 IF LTY$="BUS * THEN PRINT “LI
9870 IF LTY$="CAB * THEN PRINT “LI |
2880 LOCATE 9,21 : COLOR 7 : PRINT LI
2890 LOCATE 11,21 : COLOR 7 - o
2900 LOCATE 13,21 : COLOR 7
ATE 13,56 : COLOR 7 : PRIN ‘
2910 LOCATE 15,21 : COLOR 7+=F WTESIS,45 : COLOR 15 : PRINT KY : LOC
ATE 15,56 : COLOR 7 : PRINT ki =
2920 LOCATE 17,21 : COLOR 7 *PRINT "REACTANCE
ATE 17,56 : COLOR 7 : PRINT 'uh|1gl,‘

2930 LOCATE 19,21 : : COLOR 15 ; PRINT LR : LOC
ATE 19,56 : COLOR 7 ]Eigf:;; 'iﬂ] ]E;I:if] ‘ii
2940 LOCATE 21,21 BDLOR 15 : PRINT LP

2950 RETURNM

o o mx&mm mﬂ’l’]ﬂﬂ’]ﬁ d

—————————— e

2990 Lau:_cVIInzsi HBNI=CVI(D3$) : LTY$=058 : KM=CVS(DE$) : RPM=CYS(D7$) : XD=CVS(D8$) : PF=CYS(D9$)
: XR=CYS(D10$) :EFF=CYS(DL18)

3000 LOCATE 5,15 : COLOR 7 : PRINT “INSTALLED LOAD IS® : LOCATE 5,33 : COLOR 15

3010 IF LTY$="SYNC" THEM PRINT °SYNCHRONOUS MOTOR"

3020 IF LTY$="INDT" THEW PRINT "SINGLE INDUCTION MOTOR™

3025 IF LTY$="GUPY" THEM PRINT "GROUP OF IWDUCTION MOTORS™ :LOCATE 4,33:PRINT "( each )746 kW & 186.5
kW at )1800 rpa )"

3030 IF LTY$="GUP}" THEN PRINT "GROUP OF INDUCTION MOTORS":LOCATE 6,33 :PRINT "(each 37.3-186.5kN & )1

86.5-746kH at (=1800 rpa)

3040 IF LTY$="6UP(" THEN PRINT "GROUP OF INDUCTION MOTORS (each under 37.3 kN)"

3050 LOCATE 7,15 = COLOR 7 = PRINT "LONER BUS NUMBER =* . LOCATE 7,45 : COLOR 15 : PRINT LBNI

5 : COLOR 135

: LOCATE 9,45 : COLOR 15 : PRINT LBNI
““suLOCATE 11,45 : COLOR 15 : PRINT HBNI
445 : COLOR 15 : PRINT RL : LOC

Y€ 17,45 - COLOR 15 : PRINT LX : LOC
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3060 LOCATE 9,15 : COLOR 7 : PRINT "HIGHER BUS NUMBER ="+ LOCATE 9,45 : COLOR 15 : PRINT HBNZ
3070 LOCATE 11,15 : COLOR 7 : PRINT “RATED POMWER =" ¢ LOCATE LL,45 : COLOR 15 : PRINT KN
: LOCATE 11,56 : COLOR 7 : PRINT “kN"

3080 LOCATE 13,15 : COLOR 7 : PRINT “SPEED = : LOCATE 13,45 : COLOR 15 : PRINT RP

H : LOCATE 13,56 = COLOR 7 : PRINT “rpa”

3090 LOCATE 15,15 : COLOR 7 : PRINT "SUBTRANSIENT REACTAMCE =" : LOCATE 15,45 : COLOR 15 : PRINT XD
: LOCATE 15,56 : COLOR 7 : PRINT "I°

3100 LOCATE 17,15 = COLOR 7 : PRINT “POWER FACTOR =" : LOCATE 17,45 : COLOR 15 : PRINT PF

31:‘.15 LOCATE 19,15 : COLOR 7 :
F:LOCATE 19,56:COLOR 7 :PRINT "1" J
3110 LOCATE 21,15 : COLOR 7 : PRINT KR .' ' =" : LOCATE 21,45 : COLOR 15 : PRINT XR

=" : LOCATE 19,45 = COLOR 1S : PRINT EF

3120 RETURN

3130 REM .
J140 REM * DISPLAY GENERATOR IMT I/
3150 REM '

4, 4

fmu LBN=CVI(D28) = WBNZ=CYI(
3170 LOCATE 6,15 - COLOR 7 -
3180 IF LTYS="HOA" THEN PR
3190 IF LTY$="TURR™ THEN PRINT °
3200 LOCATE 9,21 : COLOR 7 : &
3210 LOCATE 11,21 : COLOR 7 - P
: 1
3000 LOCATE 13,21 = COLOR 7 : PRINIJPRATES Pidre =", LOGATE 13,50 : COLOR 15 : PRINT VA

- LOCATE 13,61 : COLOR 7 : PRINT * :
3230 LOCATE 15,21 : COLOR 7 : PRINT *

+ LOCATE 15,61 : COLOR 7 - PRINT "L =
3235 LOCATE 17,21 : COLOR. 7
: LOCATE 17,61 : COLOR 7 s
3348 LOGHTE 19,21 + coLor e
3250 RETURN

3260 REH 2 m

3270 REM & EDIT OLD DATA FILE !‘-

e AT ’Hﬁﬂ;&m?‘& AR

3310 ON ERROR 6OTO 35

SEEARER NI NN INAE

3324 NAME EZBKS AS EIB

3326 ON ERROR BOTO 4006
3328 MAME EZ85§ AS E285%
3330 ON ERROR 60TO 0

S Rel) St smmacanatn e
3350 REM * BACKUP FILE ¢
260 REN =i
3370 GOSUB 3830

3380 OBAKS=FDATS$+" BAK"

3390 OPEN OBAKS AS #3 LEN-38
3400 FIELD 43, 2 AS T1$, 2 AS T2, 2 AS T3S, 4 AS TAS, 4 AS T5§, 4 AS T6S, 4 AS 178, 4 AS TBS, 4 AS T9
$, 4 AS TLO0$,4 AS TLIS

3410 1=1

-Cys{Deg) - Xp=cvs(D9$) : XR-=CVS(D10$
3 COLOR 1S

\1 OCATE 9,50 : COLOR 15 : PRINT LBNI
=%, : LOCATE 11,50 : COLOR 15 : PRINT HEN

=" : LOCATE 15,50 : COLOR 15 : PRINT LX

CATE 17,50 = COLOR 15 = PRINT XD

-

OEhTE 19,50 = COLOR 15 = PRINT IR
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3420 GET 81,1
3425 LSET TI$=01% - LSET T24=0D2§ : LSET T38=D3$ : LSET T4$-D43 - LSET T5$:=D5%

3426 LSET Toy=Des : LSET T78=D78 : LSET T84=D8% : LSET T9$=09¢ : LSET T10$:D10§:LSET T11$=D11$
3430 IF DA$="EODF" THEN PUT #3,1 : CLOSE : GOTO 3490

3440 PUT &3,1

3450 I=1+1 : GOTO 3420

Sl RN~y

3470 REM * LOOP OF EDITING *

L e et D

3490 GOSUB 3830

3500 CLS : LOCATE 12,20 : PRINT "WHICH LINE MUMRE!
3505 LOCATE 14,20 : PRINT *[ ENTER @88\
3510 LOCATE 12,65 : INPUT ™7,E i
3512 1F E(=0 THEN LOCATE 12,64 : PRONES
3514 IF E=999 THEN RETURN

3516 IF E:888 THEN 3520 ELSE 3560

3520 1:1 / |
3530 GET #1,1 -
3540 IF DA$="EODF" THEW 60SUR & 3t

OU WANT TO EDIT ?°

“”Jl??F 1o Exit J°

Y
10
, 4

_

3550 1=1+1 : 60TO 3530
3560 1=CINT(E)

3570 GET B1,1

3580 CLS : LOCATE 3,25 : PRI
COLOR 7

3590 IF DA$="UTIL" THEN 60SUB#DSS

3400 1F D4$="XFHR" THEN GOSUB 269
3610 IF D4$="LINE" THEN GOSUB 26

3620 IF D4$="HTOR" THEN GOSUB 299048 ¢
3630 1F DA$="GENT" THEN GOSUB 3160 : G
3640 CLS : LOCATE 16,30 : COLOR 31 : PRINFIFASS EHI
3650 LOCATE 23,51 : COLOR 15 : PRINT “PRESS ANY£EY 10° e " +-LOLOR 7
3660 TS$=INKEYS : TF T5¢-a-A7HEN 3660 ELSE €OTO 3500

3670 LOCATE 23,15 : COLOR 7~z PRERT ™
. PRINT “zBYPASS," -
3680 LOCATE 23,28 : COLOR 1:@“1;" . LOCAT - LOLOR ?@rmﬁ *=CORRECT, "
3690 LOCATE 23,39 : COLOR 157: PRINT "D" : LOCATE 23,40 : COLOR 7 : PRINT “=DELETE,"

3700 LOCATE 23,49 : COLOR 15 : #RIML "I" : LOCATE 23950 : COLOR 7 : PRINT *=INSERT,"

3720 LOCATE 23,59 - ¢Col ‘ A ; : EXIT ]°

7 s - ek g w11 N IWEI TS

3740 IF T58="8" OR T5§E"b" THEN 3500

3750 IF 158="C" OR T58="c" THEN GOSUB 790 : §0T0 3792 = o/

o PR IR 11818

3770 IF 15$341" 0N 158 _

3790 IF 158="4" OR T5$="x" THEM RETURN ELSE 3730

3792 LOCATE 23,10:COLOR 7:PRINT * PRESS “;:COLOR 15:PRINT "Esc ";:COLOR 7:PRINT “TO CANCEL OR
".:COLOR 15:PRINT “ANY ";:COLOR 7:PRINT “KEY TO CONTINUE ..*

3794 TS$=INKEYS:TF TS¢="" THEN 3794

3796 IF TS$=CHR$(27) THEN 3500 ELSE PUT #1,I:60T0 3500

3800 REM
3910 REM * OPEM EDITING FILE ¢
3820 REN
3930 OPEN EOLDS AS #1 LEN-38

3940 FIELD 41, 2 AS D1§, 2 AS D2§, 2 AS D3$, 4 AS DAS, 4 AS DSS, 4 AS DS, 4 AS D78, 4 AS D8S, 4 AS 9
$, 4 AS D10$,4 AS DII$

3850 RETURN

ATE 3,52 : COLOR 15 : PRINT “NO." T :
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3860 REM =------ssm-emmmmmmmmene

3870 REM * OPEN TEHPORARY FILE #

3890 F1$=LEFT$(FOATS,2) - F2$=RIGHTS(F1$,1)

3892 IF F2$=":" THEN TEMP$=F1$+"TEMP" ELSE TEMP$:-"TEMP"

3695 OPEN TENPS AS #2 LEN-38

3900 FIELD 82, 2 AS TP1$, 2 AS TP2$, 2 AS TP3S, 4 AS TPAS, 4 AS TPS$, 4 AS TP6S, 4 AS TP7$, 4 AS TPBS,
4 AS TP9$, 4 AS TP10$,4 AS TPLIS

3910 RETURN

3920 REM ----n---msmmmmmennnan

3930 REM * ERROR ON EDIT DATA ®

3940 REM --—-- --
3950 IF ERR=53 THEN 3970

3960 IF ERR=58 THEW RESUHE sszz »
3970 LOCATE 16,34 - COLOR 31 : PRIM

3980 LOCATE 23,36 - COLOR 1S -
8

3990 TS$=INKEYS ; IF T5$="" THEN ;

4000 GOSUR 4760 : IF T7¢=CHRS
4003 IF ERR=53 THEN RESUNE

4004 IF ERR=58 THEN KILL E

4005 RESUME 332¢

4006 IF ERR=53 THEN RESUME

4007 IF ERR=56 THEM NAME EZ

4008 RESUME 3330

4010 REN -——=-===mmmmmmmnn

4020 REH & TRAMSFER DATA #
4030 REM -- , £
4040 LSET TP1$:=D1§ : LSET TP2¢=D24": L& TPA$=D4S : LSET TP5$=DS$ : LSET TPE$=D6$ : L

SET TP7$=07¢ : LSET TP8$=D83$ : Sie EETRI03-D108 - LSET TP11$:D118

4050 RETURN - /

4060 REM ===============
4070 REM * DELETE DATA * % _ -
00 Bl s ‘I"_ AY |
4090 GOSUB 3890 | m
4100 K1:1-1 :
4110 TF NE=0 THEN 60T0 4160 o

4120 FOR JI:=1 T0

3 memwmm
4180 I DAg=. wm,im umquﬂ’]a El

4200 I=I+1 - GOTO 4160
4210 CLOSE

4220 KILL EOLDS

4230 WAME TEMP$ AS EOLDS
4240 RETURN

4250 REN -
4260 REN # INSERT DATA ¢
N27G e, == maviicasing
4200 GOSUB 3890

4290 NI=1-1 : =]

4300 IF NX=0 THEN GOTO 4350

L DATA FILES® : COLOR 7 : LOCATE 23,7
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4310 FOR J2=1 T0 NI

A370 GET 41,31 : 60SUB 4040

4330 PUT 42,71

4340 NEXT J2

4350 HI=141

A360 GET 81,1 : DIS-MKT$(NT) : GOSUB 4040
4370 IF DA$="EODF" THEN PUT §2,MX : GOTO 4400
4380 PUT 42,H1

4390 1=141 : GOTO 4350

4400 1=K

4410 GOSUB 790

4412 LOCATE 23,10:C0LOR 7:PRINT *
*.:COLOR 15:PRINT "ANY *:COLOR 7:PRIN
4414 TS$=INKEYS:IF T5$="" THEN 4414 S
4416 TF TS$=CHR${(27) THEN CLOSES
4420 GOSUB 4040 : PUT 82,K
4430 CLOSE

4440 KILL EOLDS

4450 NAKE TEWP$ AS EOLDS
4460 RETURN

4540 REM

4550 REM * DELETE OLD DATA F)

4560 REM

4570 CLS - LOCATE 12,15 :
4580 DOLD$=FDATS+".DAT® : D7
4590 ON ERROR GOTO 4670
4600 NAME DOLDS AS DOLDS
4610 ON ERROR 60TO 0
4620 KILL DOLD$

4622 ON ERROR GOTO 4722
4624 NAHE DZBS$ AS D2BS$
4626 KILL D78SS o %)

4627 ON ERROR G0TO 0 & 4. )

4630 RETURN

464D BN~ — ———— ﬂ
4650 REM * ERROR OF DELETING OL mu FILE *

4660 REN - | e

4670 TF ERR=S3 THEN }J’J‘nﬂﬂﬁw&lqn‘j

4680 IF ERR=58 THEN ‘

4690 LOCATE 16,34

i R T T g1y gy e

4720 GOSUB 4760 : IF T7$-CHR$(27) THEN RESUME 190 ELSE RESUME 4570
4722 IF ERR-=58 T[-EH RESUNE 4626

4724 RESUNE 4430

4730 REM
4740 REM * DISPLAY ALL DATA FILES *
4750 REM --
4760 FI$=LEFT$(FDATS,2) : F2$=RIGHT$(F1$,1)

4770 IF F2$=":" THEN DF$=F1$+"%.DAT" ELSE DFg$="#.DAT"

4780 CLS : FILES DF$

4790 LOCATE 23,15:COLOR 7:PRINT "PRESS ";:COLOR 15:PRINT Esc ;:COLOR 7:PRINT “TO RETURN TO MAIN MEWU
OR ";:COLOR 1S:PRINT "ANY °;:COLOR 7: Fﬂﬂﬁ “KEY TO RETRY.. me 23,78

4800 T?#III!ETI : IF 178="" THEN 4800

4310 RETURN

S:PRINT "Esc ";:COLOR 7:PRINT "TO CANCEL OR

A reeeeeee] FDATS
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4420 REN ----

4430 REM * RENAME BACKUP FILE ¢

4AR40 REN -—--

4050 CLS : LOCATE 12,15 : PRINT “ENTER THE BACKUP FILENAME [#:®#ssxt]™ . LOCATE 14,15 : PRINT “ENTER
THE NEW FILENAME [##essee]”

4860 LOCATE 12,55 - INPUT "",BDATS : LOCATE 14,55 : INPUT *",FDATS : F13=LEFTS$(BDATS,2) - F24=RIGHTS(F
1$,1)

4870 OBAKS=BDATS+".BAK" :ZBAKS=BDATS+".7BK" : IF F28=":" THEN DNEWS=F1$4FDATS4™ .DAT™ : INEWS=FIS+FDAT

$4".7BS" ELSE DNEWS=FDATS+".DAT" : INEWS-FDAT$+".18S"

4880 ON ERROR 6OTO 4940

4990 NAHE OBAKS AS DMEWS ’

4892 ON ERROR 6OTO 5012 )

439 NAME ZBAES AS INEWS

4897 OM ERROR 60TO 0

4898 RETURN

4900 REN —

4910 REH * ERROR OF RENAMING BACKUF

4920 REM

4940 IF ERR=58 THEN LOCATE 16

4950 IF ERR=53 THEN LOCATE Ié

4960 LOCATE 23,36 : COLOR 15

4970 TES=INKEYS : IF Teg="""

4980 RESUME 5050

4990 LOCATE 23,36 : COLOR 15%

8

4992 T6$=INKEYS : IF Té$="" THEN 489

4994 A$=FDATS:FDATS=DNEWS:G0SUB 4%

5012 IF ERR=58 THEM KILL ZNEW$ ¢ RES

S014 RESUNE 4897

SO20 REW =-===nnmmsmmmmmmmmmnaee

5030 REM # DISPLAY BACKUP FILE ¢ _',,

040 REN ------nmemmmmmmae e -

mwxrmku'rmuuhﬁn-.memr_-(_ww___—-.

5060 ON ERROR GOTO 5140 y_' )

5070 CLS : COLOR 7 = FILES DK -

suaﬂ LOCATE 23,15:COLOR 7:PRINY "PRESS ™ -COLOR™1S st * i;!nn 7:PRINT "TO RETURW TO HAIN HEWU

;:COLOR 15:PRINT “ANY * nntun 7-PRINT "XEY T0 HETRT ".LOCATE 23,78

5u?n T88-INKEYS : IF T8$:="" 1

i BT 4n9

5110 REH -—---—-

5120 REM ERROR OF DISRLAY BACKUP FILES ¢

5130 REM --- -——-

m ik ?ﬂ:! TPy ﬂ 4

5150 RE

5185 REN === S=mmmmmmmmm e m e e

5190 REM * SPECIAL DISPLAY ACT BY ctrl KEY ¢

5195 REM -

5200 IF T4$=CHR$(10) THEN GOIDXI=7 :60TO 5270 'Ctrl+Enter

5202 IF LEN(T4$)=2 THEN SE$=RIGHT$(T4$,1) ELSE 5260

5205 IF SK$=CHR$(118) THEN 5260 'Ctrl+PgDn

5210 IF SK$=CHR${132) THEN GOIDXI:=2 : GOTO 5270 'Ctrl+Pglp

5220 IF SK$=CHR$(95) THEN GOIDXI=3 : GOTO 5270 'Ctrl+F2

§230 IF SK$=CHR$(119) THEN 60IDXI=4 . GOTO 5270 'CtrltHose

5240 IF SK$=CHR$(%94) THEN GOIDXI=S5 : 60TO 5270 'Ctrl4F1

5250 IF SK$=CHR$(117) THEW 60IDXY=6 : GOTO 5270 ELSE GOIDYX:=8 :60T0 5270 'Ctri+End ,+ ANY OTHER KEY

5260 GOIDXZ=1 "ANY OTHER KEY

5270 RETURN

READY EXISTS® : GOTO 4990
LE W0 FOUND" ELSE RESUME 4850
L BACKUP FILES®

L'DATA FILES® : COLOR 7 : LOCATE 23,7

i$027) JIHEN RESUNE 190 ELSE RESUME 4850
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SCCAL

200 REM e
210 REM * SHORT CIRCUIT AMALYSIS OF INDUSTRIAL P
220 REM ¢ A
230 REM ¢ BUS IMPEDANCE MATRE .
240 REM ========m==mmmmm e
300 REM $IMCLUDE: 'COMDEF-9'
5000 DIM 2BX(60,60), 2BR{60,60)
5200 SP$=SPACES(10)
5205 KEY OFF : SCREEN 0,0,0 : Wili ' : —
5210 IF CINIDXI=1 THEN ON P : 1264 50400, 5956, 597995990, 6004, 6022, 6042, 6070
5220 IF CINIDXX=2 THEN 6310
5300 I=1 : LM=0 : BSI=0 :
S340 GET #1,1
5350 IF D4$="EODF" THEN 5 ;
§356 IF (D4$="GENT") OR (Dd$:"U
5360 LM=CYI(D18$) : BSZ=CVI(D
5370 MLNI:=LN : IF MBSI{BSI THEN : }
5375 IF 10101 THEN CLS : LOCATE M2, 18" : PRINT:CRROR HAS NO END * - GOTO 8270
5380 1=I+1 : GOTO 5340 2 '
5390 28S$=FDATS+".28S"
5392 ON ERROR GOTO 6420
5394 NAME IBS$ AS 785%
5396 ON ERROR 6OTO 0 .
5410 CLS:LOCATE 12,26:COL0RZ
uld be approximately agua Yf
5412 LOCATE 12,60 : COLOR 1573 INPUY | THE
5414 CLS:LOCATE 8,26:COLOR 7<PRINT "CALCULATING IMPEDANCES™
k!
5418 GOSUB 6530 'CONVERTING IHPEDANCE Y

it SR 0 A 211 T EI1 N T

5444 CLNI=0:CHDZ=0:(

5445 CLS:LOCATE 9,20:COLOR 7:PRINT "PLEASE SELECT OPTION T CIRCUIT T CALCULATION®
5446 LOCATE P [Tyt 75 . PRINT °1"
5447 LMT%%&%&& F%‘ﬁ mm’]r ¥ %!ﬁ(‘j ﬂ

5448 LOCATE 15,26 : 5 : PRINT 3" : Tt 15,28 : COLOR 7 : PRINT "FOR LONG TIME DELAYED®

5449 LOCATE 17,26 : COLOR 15 : PRINT "4" : LOCATE 17,28 : COLOR 7 : PRINT "FOR ALL OF ABOVE"

S4S0 T9$=INKEYS$:IF T9$="" THEN 5450 ELSE A$=" PREPARING EQUIVALENT IMPEDANCE.®:8$="(This will take abo
ut 1-15 minutes)®

5451 IF T9$="1" THEN OPTI=1:CLS:LOCATE 12,20:PRINT A$:LOCATE 14,20:PRINT B$:BOSUB 8306 : BOTO 5460 : '
FORM IBUS & RECORD OM DISK

5452 IF T94="2" THEW OPTI=2:CLS:LOCATE 12,20:PRINT A$:LOCATE 14,20:PRINT B$:605UB 8306 : GOTO 5460 : '
FORH IBUS & RECORD OM DISK

5453 IF 794="3" THEN OPTI:=3:CLS:LOCATE 12,20:PRINT A$:LOCATE 14,20:PRINT B$:GOSUB 8306 : GOTO 5460 : °
FORH 28US & RECORD OM DISE

5454 IF T9%="4" THEN OPTI=4:CLS:LOCATE 12,20:PRINT A$:LOCATE 14,20:PRINT B$:GOSUB 8306 : GOTO S460 : '
FORM 2BUS & RECORD OW DISK

5455 GOTO 5450

EMiER DASE Aem FOR K «fDCATE 14,1:PRINT *( Base MVA sho

l?iﬁﬂ : PRINT 5P§ : GOTO 5412
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S460 LSET 28(1)=HRSS(MBST) :LSET 24(2)=HKSSIHLNT) :LSET Z28(3)=HKSS{GNCE):LSET 78(4)=HESEIOPTL) LSET 28(5
JzHES$(MB) :LSET Z$(6)="LAST"

S46) LL= ({124GNCT)*HBST)41 :GOSUB 8500 - PUT #2,LL 'REC. LAST LINE OF IBS

S462 LOCATE 18,20-PRINT “EQUIVALENT IMPEDANCE PREPARATION COMPELTED .":LOCATE 23,50:COLOR IS:PRINT “PR
ESS AMY KEY TO CONTIMUE....":LOCATE 23,79:COLOR 7:BEEP:BEEP

5463 T9$=INKEYS = IF T98="" THEN 5463

5465 CLS: LOCATE 6,20 : PRINT "THE FOLLOWING DATA IS ALREADLY SET." : 60SUB 9240

5470 LOCATE 23,15 : PRINT "DO YOU WANT TO CHANGE ANY DATA 2 [°; -COLOR 15:PRINT "¥*.-COLOR 7:PRINT €S,
- -COLOR 15:PRINT °W"::COLOR 7:PRINT "0 ]

5500 T9$=INKEYS - IF T98="" THEN 5500

5510 IF T9$="Y" OR T9$="y" THEN GOSUB 9370 ;.G

5520 IF T9$="N" OR T9$="n" THEN ssm EL ¢ 550
5530 CLS : LOCATE 10,15 : COLOR 7 : PREM
5540 LOCATE 10,48 : COLOR 15 : INP
5550 IF FBI(=0 OR FBI)MBSY THE
5555 FOR £=1 T0 ID

5556 IF FBI=BUZ{K) THEN 5570
5557 NEXT K

5560 LOCATE 10,58 : PRINT SP$ :
5570 LOCATE 12,15 : COLOR 7 ;

LOCATE 12,46 : COLOR 15 : PRINT

: LOCATE 12,51 : COLOR 7 : I LOCLIES '
5580 LOCATE 12,54 : COLOR 15 4 : deNBdeD OCATE 12,54 : PRINT SP$ : GOTO 5580
5581 LOCATE 14,5:COLOR 7:PR THOULT CORMEHTAAT BUS, “sP8Z; " WILL BE CALCULATED®
5567 LOCATE 16,5:COLOR 7:PRINT | T RIBUTION OF EACH LINE 7 [*;:C0
LOR 15:PRINT “Y";:COLOR 7:PRI “PRINT *0 ]"
5584 T95=IMEEYS:IF T98="" THEN
5585 IF T9$="Y" OR T9$="y"
5586 IF T9="N" OR T9$="n" THEN
5587 LOCATE 16,79:C0LOR 15:PRINT T5$ '
5588 LOCATE 18,5 : COLOR 7 = PRINT "D fg; . 30 F VOLTAGE DURING FAULT 7 [ E5, 0]":LOCATE 18
,53:C0LOR 15:PRINT "Y":L€ ATE g
5589 T9$=INKEYS:IF T98="" IHEN
5590 IF T9$="Y" OR 19%="y" L THEN CLY
5591 IF T98="N" OR 19%="n" FHEN OL
5592 CLS:LOCATE 12,26:COLOR ,Im *CALCULATING "SHORT CIRCUIT B{I@IT :60SUB 9900
5593 IF CLIX=0 AND CLVI=0 THE) 5 95
5594 LOCATE 14,20 : COLOR 7 : PRINECALCULATING CONFRTBUTION [ BUS VOLTAGE DURING FAULT® :OM OPTI 605

S i O -um HRNANS

5597 PAGEX=] : SUBFP

Ay ) i iy ) DY

ssm LOCATE 3 COLOR 15 : PRINT “FOR H.v. CB [ INTERRUPT = CON. PART = . |

5612 LOCATE §,11 : COLOR 7 : PRINT "FAULT LEVEL =" : LOCATE 5,26 : COLOR 15 : PRINT USING “#eddtie.ué
§°;FLH - LOCATE $,39 : COLOR 7 : PRINT "MVA" : LOCATE 5,45 : COLOR 7 : PRINT ° X/R =" : LOCATE 5,57
: COLOR 15 : PRINT XRH

5614 LOCATE 6,11 : COLOR 7 : PRINT “Ef =" : LOCATE 6,26 : COLOR 15 - PRINT USING "S2euids ¥
§°;EP7 - LOCATE 6,39 : COLOR 7 : PRINT "kA(ras)"

616 LOCATE 7,11 : COLOR 7 : PRINT "MULTIPLYING FACTOR : LOCAL : LOCATE 7,57 : COLOR
15 = PRINT HFLOC

5618 LOCATE 8,11 : COLOR 7 : PRINT "MULTIPLYING FACTOR : REMOTE : LOCATE 8,57 : COLOR

15 : PRINT HFRHT
5619 LOCATE 9,11 : COLOR 7 : PRINT "HULTIPLYING FACTOR : AVERAGE : LOCATE 9,57 = COLOR
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15 : PRINT HFAVR

5620 LOCATE 10,11 : COLOR 7 : PRINT "EfZ * MF. : LOCAL =" : LOCATE 10,55 : COLO

R 15 : PRINT USING "#R8asse 244" ;FILOC : LOCATE 10,70 : COLOR 7 : PRINT “kA{rms)”

5621 LOCATE 11,11 : COLOR 7 : PRINT "EfZ * NF. : REMOTE =" : LOCATE 11,55 : COLO

RIS : PRINT USING “EREERER. 22" ;FIRMT : LOCATE 11,70 : COLOR 7 : PRINT "kA(ras)”

5622 LOCATE 12,11 : COLOR 7 : PRINT "Ef2 ¥ MF. = AVERAGE =" : LOCATE 12,55 : COLO

R 15 : PRINT USING "dhEbese_g2d° FIA'H'E LOCATE 12,70 : El}Ll'.IH 7 : PRINT “ki{ras)"

5623 LOCATE 43,10: PRINT "CB. DUTY :™ : LOCATE 14,11 : PRINT "INTERRUPTING SHORT CIRCUIT CURRENT [SYH]
< LOCATE 14,55 : COLOR I3 : PRINT HSIHE “HHERER NBE"FTAVR : LOCATE 14,70 : COLOR 7 : PRINT "kA(r

l‘.i]

5624 LOCATE 15,11 : PRINT "MOMENTARY SHORT CIRCUIT CURRENT [ASYM] =" : LOCATE 15,55 : COLOR 1S : PRI
NT USING “BEBRSSE.883°;FINH : LOCATE 15,70 & 00 f+mmwuml

5625 LOCATE 16,11 : COLOR 7 : PRINT “GEMERATORSCORI® i [ PU. , DEGREE ] :

5626 LC:=1

5627 KCC = (SUBPAGEZ#5)-4 :
5628 FOR KC=KCC T0 GHCI

5609 11 = GNTHI(KC) : L= 1c.+Lc,..-""" """-....

5630 IF RMOTI(KC)=1 THEN 8$-"[ REHGWF J"EIS L
631 LOCATE L,7:COLOR 7:PRIN ;*’J SN \:\*”Q SLOCATE 38 -COLOR 15:PRINT 8$:L0C
NTE L,52:COL0R 7:PRINT =*-LOcadfP 3 S0 154 1;~- MEAL 14 GNCON(XC) :LOCATE ,65:C0LOR 7:
PRINT *,° i *\

5632 LOCATE L,67:COLOR 15:PRIA
5633 IF L(21 THEN Le=Lc+t - fT0 g6
5634 LOCATE 23,50 : COLOR 15 -

| key ON" :COLOR 7,0 F J i N

5635 TOSINKEYS : IF 198="" THEN 6 FLSERISR 280008 ONCOTBIY 600 56365595, 564,595, 30000, 6060
,5636,6300,5635 /

5636 FOR LCC=17 T0 23 :
5637 LOCATE LCC,7 = PRINT SP$:5P4 & ;;ﬁfh;; 1594458

*. LOCATE 23,1 :COLOR 0,7:PRINT “Ctr

5638 NEXT LCC ——
639 01 : SUBPAGEX=SUBPAGER*1 : LOBREEAVES PRINU/SPRISAOCATE 1,1 : COLOR 0,7 : PRINT “PAGE";PAGEL
;. ;SUBPAGET : COLOR 7,0 4 ‘
5640 NEXT KC < 3
5641 LOCATE 22,25 : COLORYz SefLOCATE 22,55 : COLOR 15 : PRINT

HFIDX
5642 LOCATE 23,50 = COLOR !

key ON":COLOR.7,0
LaieN )20 [k e
56["]

PRINT “PRESS ANY KEY TO CONTINUE. 1;annATE 23,1 :COLOR 0,7:PRINT "Ctrl

5643 T9$=INKEYS : |

1 0b45, 6300, 5643

5644 SUBPAGEL-SUEP

5645 PAGEX=2 : SUBPAGEX:=1 : CLS :LOCATE 1,lg: COLOR 0,7 :PRINT “PAGE";PAGEY; H;EPIEEI LOCATE 1,13
: COLOR 7, ‘ TEI! VB “kV"
S SR R

5647 IF (OPTE=4 OR OPTI=1) W 1 ="FOR LY. CB EL

5648 LOCATE 3,7: COLOR I5:PRINT A$

S649 LOCATE 5,11 - COLOR 7 : PRINT "FAULT LEVEL =" : LOCATE 5,26 : COLOR 15 : PRINT USING “Be#i4dt.
§°;FLL : LOCATE 5,39 : COLOR 7 : PRINT "MVA" : LOCATE 5,48 : COLOR 7 : PRINT * X/R =" : LOCATE 5,57
: COLOR 15 = PRINT XRL

5650 LOCATE 6,11:COLOR 7:PRINT "E/2 =":LOCATE 6,55:COLOR 15:PRINT
USING “#488388. 884" ;FIIL:LOCATE 6,70:COLOR 7:PRINT “kA(res)":IF VB)=1 THEN 5655

5651 LOCATE 7,11: PRINT “C8. puty .* .
5652 LOCATE 8,11:COLOR 7:PRINT “INTERRUPTING SHORT CIRCUIT CURRENT [SYM] =":LOCATE 8,55:COLOR 15:PRINT
USING “ERRBE88. 982" ;FLVCB:LOCATE 8,70:COLOR 7:PRINT “kA(ras)®
5655 IF OPTX=2 OR OPTXI-4 THEN 5657 ELSE 5685

5657 LOCATE 11,7 :COLOR 15:PRINT “FOR FUSE"
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S660 LOCATE 13,11 = COLOR 7 : PRINT “FAULT LEVEL =" : LOCATE 13,26 : COLOR 15 : PRINT USING “EHi¥EREY.

§84°:FLL : LOCATE 13,39 : COLOR 7 : PRINT “HVA" : LOCATE 13,48 : COLOR 7 : PRINT * X/R =" : LOCATE 1
3,57 = COLOR 15 : PRINT XRL
5670 LOCATE 14,11:COLOR 7:PRINT "E/Z =" : LOCATE 14,55:COLOR 15:F

RINT USING “SERBRES_8M";FTIL : LOCATE 14,70 : COLOR 7 - PRINT “kA(ras)”

S677 LOCATE 15,11:PRINT "FUSE BUTY :"

$675 LOCATE 16,11 : COLOR 7 : PRINT "INTERRUPTING SHORT CIRCUIT CURRENT [SYH] =" : LOCATE 16,55 : COLD
RIS : PRINT USING “BS3883.888°;FIIL : LOCATE 16,70 : COLOR 7 : PRINT “kA{rms)”

5680 LOCATE 17,11 : COLOR 7 : PRINT [ ASYNNETRICAL SHORT CIRCUIT CURRENT =" : LOCATE 17,55 : COLO
R 15 : PRINT USING “BEEBSSE.BEM";FINL : LOCATE 17,70 : COLOR 7 : PRINT "kA{ras) |"

5685 IF OPTI=3 OR OPTI=4 THEN 5690 ELSE 5710
5690 LOCATE 19,7 : COLOR 1S : PRINT "FOR TIM
5700 LOCATE 21,11 : COLOR 7 : PRINT "SHORD GIRC
R 15 : PRINT USING "HERRERE_B84";FILT = LOCATE
5710 LOCATE 23,50 : COLOR 15 : PRINI™SPRE
key ON":COLOR 7,0
5720 T9$=INKEYS : IF T9$="" THEN S/20=8PS
$722 ON GOIDXY GOTO 5726,5595,5645

5726 IF (CLIZ=1) OR (CLVI=1) i
5760 IF VB{1 THEW 5820
5765 T$="[ HOMENTARY FOR HV._4 A

5770 BOXI=0 : GOSUB 14266 : BOXTA': SOGHE A4RCE S FOR KL T 2 XX(E)=XK(K) = RROK)=RM(K) = NEXT
K _

5775 GOSUE 10680
5780 IF CLIX=1 THEN GOSUE 10800
5785 IF CLVI=1 THEN GOSUB 10910 -
5790 T$="[ INTERRUPT FOR HY. CB. ™
5800 BOXI=2 : GOSUB 14266 : BOXIZ3 % e [ NCIR( < XX(R)=XT(R) & RR(R)=RI(K} : NEXT
t'. C

5805 GOSUR 10680
5810 IF CLIZ=1 THEN GOSUB 10800 : GOS! ;,f
5815 IF CLYI=1 THEM GOSUB 1991C

£0, RELAYING DEVICE
; + LOCATE 21,55 : COLO

PHIHI 'th{rls]

*.LOCATE 23,1:COLOR 0,7:PRINT “Ctrl

5825 BOXX=6 : GOSUB 14266 : BekI- ' [ﬂ‘ KK)=XML{K) = RR{K}=RML{K} : NEX
5835 IF CLIX=1 THEM

i m%ﬁ‘%ﬁﬂ%’w Talik)

5820 T$="[ AT 1/2 FIRST CYEE LT RY )
5830 60SUB 10680
5645 T4="[ AT 1/2 FIRSH CYCLE FOR FUSE '

i A

5870 1F CLVI=1 THEN GOSUB 10910 : GOSUB 21500
5872 RETURN

5875 18="[ AT LONG TIME DELAY ]® .

5685 BOXI=10 : GOSUB 14266 : BOXI=11 : GOSUB 14286 : FOR K=1 TO HLMZ : Xx{K)=XLT(K) = RR{K)=RLT(K) : M
EXT K

5890 GOSUB 10680

5895 IF CLIX=1 THEN GOSUB 10800 : GOSUB 21600
5900 1F CLVI=1 THEN GOSUS 10910 : GOSUB 21700
5902 RETURN

5905 GOSUB 5760 : GOSUB 5845

5910 GOSUB 5875

5915 RETURN



§917 REN ==-=m=m=m=m=mmmmrmmmmam e m e e

S918 REM ¢ DISPLAY CONTRIBUTION AMD VOLTAGE *

5919 REN ========---==mmmmmmmrmm e as

5920 1F (OPTY:=1 OR OPTI=4) AND VB=)1 THEW 5922 ELSE 5952

5922 IF CLIZ()1 THEN 5936

5924 PAGEL=3 : SUBPAGEI=]

5926 T4=TPO$ : FOR EP=1 TO WLNI : FIL(KP)=FILO(KP) : FILACKP)=FILAD(KP) : NEXT KP
5928 GOSUE 20000 'DISPLAY

5932 GN GOTDXT 60TO 5936,5645,5934,5595,30000,6080,5936,6300

5934 SUBPAGET:=SUBPAGEI-1 : GOTH 5928

5936 IF CLVI()1 THEW 5952

5938 PAGEI=4 : SUBPAGEX:=1

5940 T$=TPO$ : FOR EP=] TO MBSI :
5942 60SUB 20500 Ny
5946 ON GOIDXT 60TO 5952,5948, 5956 1l
5948 IF CLIZ=1 THEW 5924 ELSE 5698

5950 SUBPAGES-SUBPAGEL-1 - GOMMSIIT™ 27,
5952 IF OPTI=1 OR OPTI=4 THEN S3d¢
5953 IF CLIZ(}1 THEM 5968
5954 PAGEL=S : SUBPAGEX=1
5956 T$=TP1$ : FOR KP=1 T0
5958 GOSUB 20000 'DISPLAY
5962 ON 6OIDXT 60TO 5968,5
5064 IF VB(1 THEN 5645
5955 IF CLVI=1 THEN 5938 ELS
5966 SUBPAGEY=SUBPAGEI-1 : GOTO
5968 IF CLVEI(}1 THEN 5982
5970 PAGEI=6 : SUBPAGEI:1
5972 T8=TP1$ + FOR KP=1 T0 HBST - ‘EFX(MRroERY1(£P)s PIEFRI(KP) : NEXT KP
5974 GOSUB 20500 = |
5976 ON GOTDXT 60TO 5982,5978, 5980, 556k, 5004l

5978 IF CLIZ=1 THEN 5954 (ELSE 5958 ]

5979 IF VB(1 THEN 5645 EI. — "_=
5980 SUBPAGEX=SUBPAGET-] *-6¢
5982 IF OPTI=2 OR OPTI=A THE 593
5986 IF CLIZ(}L THEN 6002
5988 PAGEX=7 : SUBPAGE=1

L N AR e

5996 IF OPTI()1 AND OPTX(}4 THEN 56435

ion s 1 0012 4 UAINYIAY

- 6002 IF CLVEL)! THEN 6016

6003 PAGET=8 : SUBPAGEI:1

6004 T$=TP2$ : FOR KP=1 T0 MBSI : EFX(XP)=EFX2(KP) : EFR(KP)=EFR2(KP) : NEXT KP
6006 GOSUB 20500

6008 OM GOIDXT GOTO £016,6010,6014,5595,30000,6080,6016,6300

6010 IF CLIZ=1 THEN 5988

6012 IF OPTI=1 OR OPTY=4 THEN 5970 ELSE 5645

6014 SUBPAGEI-SUBPAGEZ-1 : GOTO 4006

6016 IF OPTI=3 OR OPTI=4 THEN 6018 ELSE 6070

6018 IF CLIZ()1 THEN 6038

6020 PAGEY=9 : SUBPAGEI:1

6022 T$=TP3$ = FOR KP=1 TO MLNX : FIL(KP)=FIL3(KP) : FILACKP)=FILAI(KP) : MEXT KP

kp)<EFRO(KP) : NEXT EP

225
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6024 GOSUB 20000

6026 ON GOIDXI GOTO 6038,6028,6036,5595,30000,4080,6038, 6300

6028 IF OPTI=3 THEN 5645

6030 IF (OPTI=2 OR OPTI=4) AND CLVI=1 THEN £003

6032 IF (OPTY=2 OR OPTY=4) AND CLIZ=1 THEN 5988

6034 1F OPTI=1 AND CLYI=1 THEN 5970 ELSE 5954

6036 SUBPAGET=SUBPAGEX-1 : GOTO 6024

6038 TF CLVI{}1 THEN 6070

4040 PAGEZ=10 : SUBPAGEI:1

6042 T$=TP3% : FOR KP=1 T0 HBSY : EFX(KP)=EFX3(KP) : EFR{KP)=EFR3(KP) : MEXT KP
6044 GOSUB 20500

6046 ON GOIDXI GOTO £070,6048,6054,559
6048 IF CLIX=1 THEN 6020

6050 IF OPTI=3 THEN 5645
051 IF OPTZ=2 OR OPTI=4 THEW
6052 IF OPTI=1 OR OPTI=4 THEN 59
6054 SUBPAGET=SUBPAGEZ-1 :6OTU 80144
6070 CLS:PAGET=11:LOCATE 12,34
6072 LOCATE 23,50 : COLOR 15 : £
6074 LOCATE 23,1:COLOR 0,7-Ed
6076 T9$=INKEY$:IF T98="" THEN 4ff
€078 ON GOIDXI GOTO 6300,4020480704559
6080 IF (OPTX=3 OR OPTZ=4) AND |
6140 IF (OPTI=3 OR OPTI=4) ANLJELI

6150 IF OPTI=2 AND CLVX=1 THEN 604 5 AT
6160 IF OPTI=2 AND CLIX=1 THEN 3688 4; =
6170 IF OPTI=1 AND CLvZ=1 THEW So7aff  iai ™
6180 TF OPTZ=1 AND CLIZ=1 THEN 59
6300 CLS:LOCATE 12,16:COLOR 7: rmr
7:PRINT "ES,";:COLOR 15:PRINT "N";
6302 T9$=INKEYS : IF m- ‘
6304 IF T98="Y" OR T94: v <Ll CIH
6306 IF T94="N" OR T93$="
310 ON ERROR GOTO 0
6320 CLS : LOCATE 10,20 :
OLOR 15 : PRINT °F"

6330 LOCATE 12,26 IE 12,28 PRINT m CHANGE SYSTEK DATA®
6340 LOCATE 14,26 ‘ifl Bb% fjw ﬂﬁm CHANGE TNITIAL CONDITIONS

6345 LOCATE 16,26 : MI.{IH !5 PRINT "R” JJEHE 16,28 I'.'.I}Lllli 7 : PRINT *T0 EHMIEE OPTION OF 5.C. CAL
CULATION®

mmm RUTELLREIA ) B e

6360 T9$=INK IF 19$="" THEN £360

6370 TF T98="F" OR T94="f" THEN 5530

6380 IF T98="C" OR T9$="c" THEN GOSUB 12605 : 6OTO £320

6390 IF T9¢="1" OR T9$="i" THEN GOSUB 9370 : GOTO 6320

6395 IF T94="R" OR T98="r" THEN CHRI=1 : GOTO 5444

6397 IF T94="6" OR T94="g" THEN CINIDXX=2 : GOTO 30010 'CHAIN FDRAN
6400 IF T94="S" OR T9§="s" THEN GOTO 14315 'CHAIN BACK

6410 60TO 6360

6417 REW
6418 REM EXISTING OF "28S" FILE
6419 REM --

6420 IF ERR=53 THEM RESUHE 5396

|
HARD COPY 2 [®;:COLOR 15:PRINT °Y";:COLOR

21

) CALCULATE le ON OTHER BUS™ : LOCATE 10,26 = C
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6422 TF ERR=58 THEM RESUME 6430 ELSE RESUME 5396

6430 ON ERROR GOTO 0:60SUB 8295

6432 LL={(12+GNCT)*HBSY}41:GET #2,LL -GOSUB 14301

6434 IF (28(1)CIMESS(MBST) OR 28(2) CINKSS(HLNX)) OR Z$(3) C)MKSS(GNCY) THEN CLOSE #2:KILL 7858 :GOTD S4
10

6436 OPTI=CVS{78(4)): MB=CVS(78(5))

6438 CLS: LOCATE 10,10 :COLOR 7 :PRINT "EQUIVALENCE THPEDANCE (Z8US) HAS ALREADY BEEM FORMED™:LOCATE 1
1,10 :PRINT "BY OPTION ";0PTZ;" ON “;MB;™ HVA BASE"

6440 LOCATE 13,10 :PRINT "DO YOU MANT TO REFORM ? [ °;:COLOR 15:PRINT "Y"::COLOR 7:PRINT "ES,"::COLOR
1S:PRINT “N";:COLOR 7:PRINT *0 ]";:LOCATE 13,50

6442 TO$=INKEYS : TF T98="" THEN 6442 i
‘ "E}t’;iﬁ}ﬁuﬂ

6444 TF T98="Y" OR T9$="y" THEM CLOSE #2 :
6446 TF T9$="H" OR T9$="n" THEN 6448 ELSE
6448 PRINT T9$:60SUB 6530

6450 GOSUB 7660 'CKECKING SYSTEM
6455 CLMI=0 : CHDI=0 : CHIX:=0 : ¢
6460 BOTO 5465
6500 REN —=-=====m-=mrmmmm e
6510 REM * COMVERT SYSTEM IN '
6520 REW ======nmmmmmmmmeaaneae

6530 T1=0

6540 FOR I=1 T0 HLNI

6550 GET 41,1

6560 IF T2=0 OR (T2C)0 AND (DS$= W) 1 THEN 6610

6570 CLS : LOCATE 12,16 : COLQ (T “ERROR 08 = WINDING IRANSFORMER OF RECORD NO." I

6580 LOCATE 23,56 : COLOR 15 :
6590 T9$=INKEYS : IF T9¢=""
6600 GOTD 14330 'CHAIN BACK
6610 IF D4$="UTIL" THEN GOSUB 6710": 6OT4
6620 IF DAS="XFHR" AKD (DS$="TWHD" OR HER bdS
6630 IF DA$="XFHR" AWD (DS$=" TRHD® OR-DH="MAI"), THEN: 0 : GOTO 6670
6640 IF DAS="LINE" THEN -
6650 IF D4S="HTOR" THEN Gf W uie sery
6660 IF DA$="GENT" THEN G054

6670 NEXT T : RETURN
6680 REH

6690 REM * CONVERT UTILITY IHP. &

s ?ﬂ:;:";*ﬁzigﬂm TG IHAN 7, a0

6730 XHL(I)=XH(I) T)=RH(T) =XUTCTD=XM(RY = RLT(T)=RM(L),

EE= M ANNINAM INeNAE

6770 REM

6780 NPZ(I)=CvI(D2¢) = WOI{I)=CVI(D3$) : MVA=CVS(D6$) : LX!=CVS(DB$) : XR=CVS(D1DS)
6790 XM(I)=(LX1#H8)/(100¢HVA) : RM(I)= :nmﬂtn XI(1)=xu(1) - mn*nnul

6800 XHL{I)=XM(T) : RML(T)=RM(I) : XLT(T)=XM(I) : RLT(I)=RH(I)

6810 RETURN

6820 REN
6830 REM * CONVERT THREE WIMDING TRANSFORMER INP. ¢
840 REW
6850 NPX(I)=cvI{D2s) : MOX(I)=CVI{D3$)

6860 TI=TI41

6870 IF TX=1 THEN LX14=CvS(D8S) : XR1=CVS(D10$) : MVAl=CVS(DéS) - : GOTO 7040
6880 IF TY=2 THEN LX28-=C¥S(DBS) : XR2-C¥S(D10%) : MvA2=CVS(Dé$) : : GOTO 704D
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6890 IF T2=3 THEN LX34=CvS(D8$) : XR3=CVS(D10$) : MVA3=CVS(Dés)

6900 X18=(LX1HONB)/(1OORSHVAL) : X28=(LX28¢HB)/(10DSHVAZ) : X34=(LX3B4HB)/(1008¢HVA3)
6910 A= (XLE-X2NHN3A) /2 « NBR= (XLAHX20-X30)1/2 « NCB=(X284X38-X14)/2

6920 XDH=(XAREXBE)+ (XBEEXCH) + (XCREXAR)

6930 IF XC8=0 THEN XM(I1)=1E418 : RM(I1)=1E418 ELSE XHM{I1)=XDE/XCE : RM{I1)=XW(I1)/¥R1
6940 IF XAR=0 THEN XH(I2)=1E+18 : RM(I2)=1E+18 ELSE XH(I2)-XD3/XA% : RM(I2)=XH{I2)/¥R2
6950 IF XB#=0 THEM XM(I)=1E418 : RM{I)=1E+18 ELSE XM(I)= :nl,r'm RM(T)=XM(T)/XR3
6960 XT(I1)=XH(I1) : XT{I2)=xW{12)} : XI(I)=XW(I)

6980 RICIL)=RM(I1) = RI(I2)=RM(12) : RI(T)=RM(I)

6990 XML{L1)=XM(I1) : XML(IZ)=XM(12) : mm XM [

7000 RHL(I1)=RM{I1) : RML(I2)=RM(I2) : RHL{Dj=RH{
7010 XLT(IL)=XW(T1) : xv(12)- xnuzl
7020 RLT(I1)=RM(11) - ALT(12)=
7030 T1:0

7040 RETURN

7050 REM

7060 REM * CONVERT LINE IMP. *
7070 REM

7080 NPI(I)=cvI{D2$) : Nox{I)=
cvs(niosg)
7090 XN(T)=(LX1#RL/LPE)/ (visvE /et - RN
7100 XML(I)=XM(I) = RML(I}=R
7110 RETURN

7120 REM

7130 REM * COMVERT MOTOR *
7140 REW - el |
7150 NPEZ(I)=CYI(D2$):HOT(I)=CVI(D3§ JBLTY =058 Yy LU :RPHSEYS{D7$) : XD=CYS(DBS) : PF=CVS(D9¢) : XR=CVS(
D10$) :EFF=CYS(D118) 1aiias -
7160 HVA=WK/PF/EFF/10 : XDN-XD*HB/HVA/10D- :
7170 IF LTY$="SYNC" THEN GOSUB 7360 BOTEIdT X
7180 IF LTY$="INDT" THEN 719 cka
7190 TF WK)746 THEW GOSUB Fiel:
7200 IF RPH(=1800 THEN
7210 IF WK)186.5 THEW GOSUB

: LX!=CYs(Des) :LR!=CVS(D9%) : LPI=

: XI(I)=XH(T) : RI(T)=RM(I)

. 6OTO 7260

7220 IF WK)37.3 THEN G0SUB 73

7230 GOSUB 7420 : 6OTO 7260

7240 IF LTYS="6UPK™ THEN, 60SUB 7388 ;. 6070, 7260, &/ ‘

7245 1F LTY$="60p)* (atieN c0sbi ﬂ;ﬁﬂfljw El’] ﬂ ‘j
7250 TF LTY$="6UP(* " TAEN"BOSbE

7255 PRINT "ERROR IN M ol 8270,

& SR

7310 !I'II.':H RHL(T) =XHL(T) /2R

?m IIEH * HOTOR TYPE-2 *

7360 XM(I)=XDN : RM(T)=XH(I)/YR : XI(I)=1.58XDN : RI(I)=XI(I)/%R
7370 XHL{I)=XON : RML(T)=XHL(I)/XR

7380 RETURN

7400 REH * HOTOR TYPE-J #

7420 XH(T)=1E+18 : RM(I)=1E+418 ; XT(T)=XM(I) : RI(I)=RM{I)

7430 XHL(I)=XDN : RHL(I)=XHL(I)/XR

7440 RETURN
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7450 REW

7460 REH © CONVERT GEMERATOR *

7470 REM

;:::’Tr:tli:nvitnztl : NOX(1)=CVI(D3$) : LTY$=D5$ : MVA=CYS(D6$) : LX!=Cws(Des) : XR=CYS(D1O$) : XD=CV
7490 IF LTYS="HHOA" THEN XN(I)=.75%XD*HB/HVA/100 = RM(ID=XM(T)/XR : XI(1)=XH(I) : RE(T}=RH(I) : XML(I
J=LX!#HB/HVA/100 : RHL{T)=XML(I)/XR : GOTO 7510

7500 XH(I)=LXU¥MB/HVAS100 = RMCT)=XMCI)/XR = XICT)=XM(T) : RICTD=RM(I) - XML(T)=XM(T) = RHL(T)=RH(T)
7510 XLT(I)=XD*HB/HVA/100 :RLT(I)=XLT(I}/XR - RETURM

7590 REM - -
7600 REM ® FORH BUS IHPEDAMCE MATRIX BY
7630 REM - -
7640 REM * CHECKING EACH LINE *
7660 FOR K=0 TO MBSI
7732 Buz{K)=0

7733 NEXT &

7734 FOR L=0 TO MLNX
7735 PPE{L)=0 : QOX(L)=0 : W
7736 WEXT L

7738 IHC=0 : INFC=0 :
7740 BUL(0)=NPY(1) : iultli
7745 1F (BU2(0) (20 OR XLT{1)
ON SYSTEM DATA LINE NO. 1" : 60
7750 10=1 : BOLX(1)=0 : PPI(1
7760 FOR 1=2 TO HLNZ

7770 GOSUE 8010

7780 NEXT 1

7790 REM e \
7800 REM * ADDING m:msmn LINE ¢
7810 REM --- - =i
7820 IF INC:=0 THEN 7920 ..

7830 13J:=INC : INC:=0 e
7840 FOR 11:1 T0 1) -
7850 1:NT2(11) : GOSUB 8010
7860 MEXT 11

7870 IF INC=1JJ THEN 8180

SE e inens

e RETRAN 3 0 AN INYA Y

7940 FOR 11=190 133

7950 1=INF(IT) - GOSUB 8010
7960 NEXT [I
7970 RETURN
7980 REM ---
7990 REW * FINDING BRANCH & LIHI *
8000 REH

8010 Ix=0
8020 FOR IC=0 To I0

8030 1F NPE(1)=BUZ(IC) THEN IX=1

8040 HEXT IC

8050 FOR ICC=0 TO 10

6060 IF NaX(I)=BUZ(ICC) THEW BL10
8070 NEXT ICC

\ \"i =0 : BCONZ(L)=D

3 L
10,20 : COLOR 7 : PRINT “ERROR

(1)=1 : scoNx(1)=10
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BO8D IF 1X=0 THEN TMC=INC+1 : NTI{INC)=1 : RETURN

8090 10=1041 : BUZ(I0)=MOZ(T) : GOX(1)=Mox(1) : PPL(I)=NPZ(I)

8100 GOTO 8130

8110 IF IX=1 THEN PPI(I)=NPI(I) : GOX(I)=NOX{I) : 8OLR{I)=1 ; ITHC:TTHCHD - TTHF(ITHC)=T = BCONI(I)=I0
. RETURN

alm 10=1041 : BUZ(T0)=WPL(T) . QOX(T)=NPET(T) : PPI(1)=MoX{1)

8130 IF ADIWI=1 THEN BOLX(T)=0 : ITHC=TTHCH1 : ITHF(ITHC)=T : BCONI(I)=I0 : RETURN

BISO IF XLT(T)C1E418 THEN BOLX(T)=0 : TTHC=ITHC+] - TTHF{ITHC)=I : BCOMI(I)=T0 : RETURN

8160 10=10-1 - INFC:=INFC+] : INF{INFC)=I

8170 RETURN

8180 CLS : L=1
B190 FOR 1B=1 T6 113

8200 K=64(L*2)

8210 LOCATE K,16 : COLOR 15 : PRYNT™®FRENL:. i mmg“ OF 7 : PRINT “LINE ARE NOT CONNECTED
AT BRANCH NO." : LOCATE £,62 a0V . Iﬂ'_l

B220 L=L+1 : IF L(=8 THEN 8260
8230 LOCATE 23,50 : COLOR 15-9%PRIk
8240 TP4=INKEYS : IF T94="" i
8250 L=1
8260 NEXT 1B
8270 LOCATE 23,56 : COLOR 1S,

8280 T9S=INKEYS = IF T9§:=""
8290 CLOSE:GOTO 14330

8292 REM ~=---~--==mmmmmmnm-

8293 REM * OPEN FILE 42 AS WORK

8294 REN s

8295 OPEN 78S§ AS #2 LEN=240 -

299 FIELD 42, 40 AS ZPARS(1), 40 AS 29 7,

PAKS(6) =T

8299 RETURN [

R

8302 REH * FORN 78US ACCORDIAME

B304 REH ~--nmrmvmnmemoeome ﬂ‘

8306 ON OPTE GOSUB 8316, 837258410, 8430

8310 RETURN

8311 REN --------mm-

mﬁumwﬂmwmm

8313 REN

8314 REN # IIlHIEHTMt'I’

8315 REN --

8316 FOR K1 maqlﬂ ‘jm S.IW']’J ‘V]Eﬂ a El
8318 Xx(x) -

8320 NEXT

8322 CONPT = 1 : GOSUB BS65 'FORM ZBUS

8324 BOXI = 0 : GOSUB 8442 'RECORD 76X

8326 BOXI = 1 : GOSUB 8462 'RECORD ZBR

8328 REN o

B330 REM * INTERRUPT HY CB

8332 REN :

B334 FOR k=1 T0 HLNZ

8336 XX(K) = XT(K) : RR(K) = RE(K)

8336 NEXT K

B340 COPT = 1 : GOSUB 8565 'FORM ZRUS

8344 BOXI = 2 : GOSUB 8442 'RECORD Z8X
8346 BOXX = 3 : GOSUB 8462 'RECORD ZBR
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8348 REM -------------
350 REM * X/R HV (B ¢

8352 REM ---——---=----

8354 FOR K=1 TO HLNX

8356 Xx(x) = XI(k} : RR(K) = RI{X)

8358 NEXT K

8360 COMPY = 0 : GOSUB 8565 'FORM ZBUS

8362 BOXY = 4 : GOSUB 8442 'RECORD IBX

8364 BOXI = 5 : GOSUB 8462 'RECORD 7BR

8365 GOTO 16030 "FORM ZBX FOR CHECKING GEM REMOTE OR LOCAL
8366 REH \

8368 REM * HOMENTARY LV CB *
B370 REH =—=====-=====mmmeme
8372 FOR k=1 TO HLNI

B374 XX(K) = XHL(K) : RR(K) =
8376 NEXT £

8378 COMPY = 1 : GOSUB 8565
8380 BOXY = 6 : GOSUB 8442
8362 BOXT = 7 : GOSUB 8462
8384 REW ---------=---
8386 REM * X/R LV CB ¢

8388 REM -------------

8390 FOR K=1 T0O HLNI

8392 Xx(k) = XML(K) : RR{K)
8394 NEXT K

8396 COMPY = 0 : GOSUB 8565
8393 BOXI = 8 : GOSUB 8442
8400 BOXI = 9 : GOSUB 8462
2402 RETURN

8404 REN -—---------
8406 REM & LTD 78US ¢ A y 4
8408 REM ---=--=------ (= Y]
8410 FOR K=1 TO MLNZ A
8412 xx(K) = wr(e) : RR(x) -Et[ § fj
8414 NEXT K .

8416 CONPT = 1 :

S ImEninens

ﬂﬂf—ﬂﬁ'ﬁﬁ\“tﬂimﬂﬁﬁ’mmﬂﬂ

8430 GOSUB 831§
8432 GOSUB &Illl
8434 RETURN
8436 REM
8438 REM * RECORD ZBX ON DISK *
6440 REM
8442 FOR K=1 T0 HBSI

8444 FOR L=1 T0 HBSY

8446 28(L) = Mess{zex{k,L))

8448 NEXT L

8449 E0sue 8s00

8450 TN = BOXT*HBSI+K : PUT #2,IN
8452 NEXT K

8454 RETURN
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8456 REW ---------=-=-=-==--=--
8458 REN * RECORD ZBR ON DISK ¢
8460 REN ----—----------==--==-
8462 FOR £=1 TO HBSY

8464 FOR L=1 TO MBSI

8466 28(L) = Mes§(ZBR(K,L))

8468 NEXT L

B469 GOSUB 8500

8470 IN = BOXTEHBSTHK : PUT #2,IN
8472 NEXT &

8474 RETURM

8450 REM
8492 REM * PACK FILE BUFFER 82 ¢
8496 REH
8500 FOR 1Jk=1 T0 6
8505 ILK = (10413K}-10
8510 LSET ZPAKS(IJK) = 28(ILK+1)
+28(ILK+9)+28(ILK+10)
8515 NEXT 13K

8520 RETURN

8550 REM -------——-
8555 REM * FORM Z8US *
8560 REM -
8562 REM SET MATRIX TO ZERO
8565 FOR k=0 TO HBST

8575 FOR L=0 TO HBSI

8580 Z8X(K,L)=0 : 7BR(X,L)=0
8585 MEXT L

8590 KEXT K:20X(0)=0:2LR(0)=0
8595 REW --------------—-
8600 REN ¢ ADDING EACH LINE. :
BO0Y, BN, —om=ermenanenen W o Y
8610 IF HLNI()ITHC THEW PRINE
8615 FOR KK=1 TO HLNZ ] I
8620 1=1THF(KK) - -
8625 TON-BCONI(T)

e BE om0 75

SLELILK+S) 428 (TLR+6) 428 (TLK+7)478(TLK+48)

8640 MEXT KK
8650 RETURN ¢

- s
8680 REM - : -
s n AR I U8R Y
8695 0F=002(1) - PE=PPE(I):IF P2=0 THEN 8720
8696 FOR K=1 TO 10N
8700 SI=BUL(K) :
8705 28X(0%,5%)=28X(P2,52) : ZBR{0Z,S1)=28R(P1,51)
8710 28X(51,0%)=28X(P1,51) : 7BR(S1,01)=ZBR(PZ,51)
8715 NEXT X
8720 78X(0x,01)=28X(PY,00) +XX(I)
8725 28R(0%,02)=28R(PY,01)4RR(T)
8730 RETURN
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8735 REH === e e
8740 REN ® ADD LINK TO THE MATRIX *

B745 REN ====s==mmmmmmee

B750 QX=00X(I) : PI=PPI(I)

8760 1F (ABS(XX(I))=)1E+18) AND (ABS{RR(I))=)1E+18) THEN 9110
8780 IF COMPI=1 THEN 88830

4785 FOR k=1 T0 10N

8790 52=BUL(K)

8800 ZLX{Sx)=28X(PT,51)-26x(02,52) : ILR(SY)=28R(PT,52)-2BR(0X,51)
8810 MEXT K _
8620 LLX!=(2ux(Pr)-2Lx(ox) }+xx(1) « LLR'=(ZLR(RE) F2LR( }}+EE{I]
8330 FOR MX=1 TO ION

8640 FOR MI=MY TO TON
8850 Lsuﬂm -!-ﬂ:{ﬂtl

8865 ZBR(K.L)-ZBR(K,L)-((ZLR(K)/LLELybetRES’
8966 28X(L,X)=28X(K,L) ‘
8867 28R(L,K)=Z8R(K,L) /

8870 NEXT NI : MEXT MI
8875 G0TO 9110

8880 FOR K=1 TO ION
8890 S1=BUL(X)

8900 2LX(51)=78X(PZ,51)-18X
8910 MEXT

8920 LLX'=(ZLX(PE)-2LX(0%))+
8930 FOR MX=1 TO ION

8950 FOR NI=HI TO TON

8960 K=BUL(MX) - L=BUX(NI)
B970 GOSUB 9150

8980 ZBX(K,L)=2BX(K,L)-21H6 :
8985 Z8X(L,K)=28X{K,L) - Z2B&{L.k
8990 MEXT NI : NEXT MX <&
9110 RETURN \
9120 REM

9130 REM * COMPLEX NUMBER * m
9140 REW —--------=mmmme
9150 LL2! = (LLX'$LLXY) + (LLR1#L

9160 2LRR = (ZLR(K) "Mﬂ (almtﬂ ‘n j ‘w EI ’] ﬂ ‘j
9170 2LXX = {ZLR(K) LX

9180 2REL = ((ZLRR/LLZA)ELLRY) + ((2L¥X/LL2! 'I.Ll'

9190 I1H6 = ;[!ﬁf']é H i
9200 RET
9210 REN ——

9220 REM + STANDARD VALUE 0F IHITIM. CONDITIONS ¢
9230 REW
9240 XF=0 : RF=0 :IT:2 : PT=1.5
9250 FOR I=0 TO MBSI

9260 V0(I)=1 : VOA(I):0

9270 KEXT I

ZBR(K, Li<ZERI

9280 LOCATE 10,15 : COLOR 7 : PRINT "FAULT RESISTAMCE = 0 o'
9290 LOCATE 11,15 : PRINT "FAULT REACTANCE = 0 o'

9300 LOCATE 14,15 : PRINT "INITIAL VOLTAGE AT EVERY BUS = 1 P.U.°

9305 LOCATE 15,38 : PRINT "ANGLE = 0  DEGREE"

9310 LOCATE 18,15 : PRINT "INTERRUPTING TINE OF WV. CB. = 2  CYCLES"

9320 LOCATE 19,15 : PRINT "CONTACT PARTING TIME OF HY. CB. = 1.5 CYCLES"

9330 RETURN
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i

)

R L R a—
9350 REN + CHANGE TNITIAL CONDITIONS ¢
9360 REN
9370 CLS:LOCATE 6,20 : COLOR 7 : PRINT "CHANGE FAULT INPEDANCE, BUS VOLTAGE , AND HV. CB. DATA"
9380 CHIZ:=1

9390 LOCATE 10,15 : PRINT "FAULT RESISTANCE = oha"
9400 LOCATE 11,15 : PRINT "FAULT REACTANCE - oha”
9410 LOCATE 10,37 : COLOR 0,7 : PRINT RF : LOCATE 10,65 : COLOR 7,0 : INPUT J : IF J)=0 THEN Rf=J
9420 LOCATE 10,15 : PRINT "FAULT RESISTANCE - oha"

9430 LOCATE 10,37 : COLOR 15 : PRINT RF : LOCATE Q.64 : PRINT * ".5P8
9440 LOCATE 11,37 : COLOR 0,7 = PRINT XF_s)LUCATE - COLOR 7,0 : INPUT J = IF J)=0 THEN XF=J
9450 LOCATE 11,15 : PRINT "FAULT mc, -a\’\\ oha"

9460 LOCATE 11,37 : COLOR 15 : *;5P%

9470 LOCATE 13,10 - COLOR ? ' ]
9450 LOCATE 14,10 : PRINT “WHICH BUS 00340 BiEY [ENTER 999 TO STOP CHANGING]®
9490 LOCATE 14,43 : INPUT Ima :

9500 LOCATE 14,42 : PRINT *
9510 LOCATE 15,15 : PRINT SP
9520 LOCATE 16,15 : PRINT SP$4
9530 IF MOBZ=999 THEN 9690
9540 IF HOBI(O OR MOBI)MESI
9550 FOR £=0 T0 10

9552 IF HOBX=BUI{K) THEN 9560
9554 NEXT K

9556 GOTO 9470

9560 LOCATE 15,15 : COLOR 7 : P
9570 LOCATE 15,34 : COLOR 15 :
9580 LOCATE 15,65 : COLOR 7,0 : 1
9590 LOCATE 15,15 = COLOR 7 -
9600 LOCATE 15,34 : COLOR 15, :
PRINT SP$;" 2

P.U."
: PRINT VO{H0BZ)

[ Ry

9610 LOCATE 16,15 : COLOR J DEGREE"

9620 YOA{HOBX)=YOA(MOBX)/3.

9630 LOCATE 16,42 : COLOR 0,7 - :

9640 LOCATE 16,65 : COLOR 7,07 INPUT m{mﬁ:]

9650 LOCATE 16,15 : COLOR ? PRINE=" VOLTAGE ANBLE DEGREE"

9660 LOCATE 16,42 : :5P$

9670 VOA(HOBX)=VOA( ﬁm]%“w‘ﬂ P I 3 WEI "Tn ‘j

9680 GOTO 9470 q

9690 LOCATE 18,5 : COLOR 7 : PRINT “INTERRUPFING TIME OF HvegE. [2,3,5,8] = CYCLES
9700 meﬂ.wm."ﬂ nﬁrm 1] VI F] ’g‘ W EI ’] ﬂ E]

9710 LOCATE 1945 : COLOR 7,0 = PRINT “CONTACT PARTING TIME OF HV. CB. CYCLES®

OCATE 19,48 : COLOR 15 : PRINT PT

9720 LOCATE 18,65 : COLOR 7 : INPUT J

9730 IF J=0 THEN 9750

9740 1F (J=2 OR J=3) OR (J=5 OR J=8) THEN IT=] ELSE 9690
9750 LOCATE 18,5 = PRINT “INTERRUPTING TIME OF HY. CB.

: COLOR 15 : PRINT IT : LOCATE 18,64 : PRINT * "5 5P$
9760 IF IT=2 THEN PTMIN-=1.5 : GOTQ 9800

9770 IF IT=3 THEN PTHIN=2 : €OTO 9800

9780 IF IT=5 THEN PTHIN=3 : GOTO 9800

9790 IF IT=8 THEN PTHIN=4 : €OTO 9800

9800 IF PT(PTHIN THEN PT=PTHIN

: ERINT VO(HOBZ) : LOCATE 15,64 :

CYCLES® : LOCATE 18,48

i o



9905 LOCATE 19,5 : COLOR 7,0 : PRINT “CONTACT PARTING TINE [MINIMUM:= °;PTMIN;® ] : LOCATE 19,43 : PRI
NT " = CYCLES" : LOCATE 19,48 : COLOR 0,7 : PRINT PT

9810 LOCATE 19,65 : COLOR 7,0 = INPUT *%;]

9815 IF J=0 THEN 9830

9820 IF J(PTHIN THEN LOCATE 19,65 : PRINT ° ";5P$ : 60TO 9805

9825 PT=]
9930 LOCATE 19,5 : COLOR 7 : PRINT "COMTACT PARTING TIME - CYCLES
* - LOCATE 19,48 : COLOR 15 : PRINT PT :LOCATE 19,64 : PRINT ° ".5P4

9840 LOCATE 23,46 : COLOR 7 : PRINT "PRESS™ : LOCATE 23,52 : COLOR 15 : PRINT “Esc” : LOCATE 23,56 : C
OLOR 7 : PRINT “KEY T0 REENTER NEW DATA"

9850 T9$=INKEYS : IF T94="" THEN 9850
9860 IF T9$()CHR$(27) THEN RETURN ELSE

9870 REH —--=--nn-mmmrmm e R‘;‘ ||
9880 REM * CALCULATING SHORT CIRCIULTBUREDN

9900 BCUR=(ME/1.732051)/v8
9901 ON OPTL GOSUB 9903, 9955, 998
9902 6010 10030
9903 GET #2,FBI : GOSUB 14301 ; _
9906 IM=MBSI+FBI : GET ¥2, GOSUE 147
9910 RXF=(XTH4XF)"2 : RRF={RTHigF)"
9920 FIMH=1.6%{VO(FBI)/IF)*60
9924 IN-2%HBSI+FRY : GET #7,IN JEOSUR
9926 IN-I*HBSI+FBI : GET ¥2,IHE GOSUE
9930 RXF=(XTHHXF)"2 : RRF=(RTH+REJ™
9932 IN-4*HBSI+FBI : GET #2,IN #9605
9934 IN=S*MBSI4FBY = GET 82,IN: GOSUE
9940 XRH = XTH/RTH : Z=XRM iui
9942 GOSUB 16300 CHECKING GEN REMOTE-GES
9945 GOSUB 10070 : WFRHT=P :
9946 GOSUB 17070 : MFLOC:P
9947 WFAVR={HFRNTEHF 10X ) 41
9948 SCC = (VO(FBX)/ZF)*8UK. |
9949 FIRNT = SCCEHFRHT : FIL®E -

9950 FLH = FIAVR*VE$1.73205) m
9955 TH:=6¥MBSI4FBY : GET #2,IN ; GOSUB 14301 : XTH = cvS{28(FBI})

SRR,

9960 RXF=(XTH#IF)"
$2,IN : GOSUB usu&: RTH = Cvs{2s(Fez))

9965 IN-BEHBSIHFRT &
9970 XRL = XTH/RIH :.2-XRL : _ o 'Y,
AR 21 6

9967 IN-9EHBSIHFEL -
9982 RETURN

9985 TN:10¢HRSI+FBY - GET #2,IN : GOSUB 14301 : XTH = CVS(2$(FBX))
9987 IN=11#HBSI+FBI - GET #2,IN : GOSUB 14301 : RTH = Cvs(Z$(F8X))
9990 RYF=(XTH4XF)"2 + RRF=(RTH4RF)"2 : 2F=SOR({RXF4RRF)

10000 FILT=(VO(FBX)/2F)*BCUR

10002 RETURN

10010 GOSUB 9903  'S.C. FOR CB , FUSE

10020 GOSUB 9985  'S.C. FOR LTD

10030 RETURN
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10040 REW ~---------
10050 REW ¢ FIND HULTIPLYTHG FACTOR FOR HY CB *
10060 REN ----
10070 IF T=2 THEN 10150
10080 IF 1T=3 THEN 10190
10090 IF IT=5 THEN 10234
10100 IF I1T=B THEN 10280

JBIAT REN == icmieas
10148 REN * INTERRUPT 2 CYCLES *

TR1AS RO e e s ‘

10150 U(1)=1.5 = U{2)=2 : U(3)=3 ys

10151 IF PTHU(MI) THEN P=1 : RETURN A\l /

10152 GOSUB 10506 'PT BOUNDARY [#i “/‘f

10154 ON PTHI GOSUB 10174, 10176, I0TTBYARIE0, 10162, e *READ DATA FOR X,Y COORDINATE
10156 GOSUB 10490 '..___l"—!'

10158 GOSUB 10520 'INTERPO oA 2| e

10160 P1=P |

10162 ON PTLY GOSUB 10174,10 READ DATA FOR X,Y COORDINATE
10164 GOSUE 10490

10166 GOSUB 10520  'INTERP

10168 P2=P

10170 GOSUB 10538 " INTER
10172 RETURN
10174 RESTORE 10406 : RETURN
10176 RESTORE 10408 : RETURN
10178 RESTORE 10410 - RETURN
10180 RESTORE 10412 : RETURN
10182 RESTORE 10414 : RETURN
10184 REM
10186 REM # INTERRUPT 3 CYCLI
16188 REN ---=--===msremm s
10190 U(1)=2 : U(2)=4 - u(
10192 1F PTIU(KI) THEN P=1 =%
10194 GOSUB 10506  'PT BOUNIRRY [F
10196 ON PTHX GOSUB 10216,1077%,10220,1
10198 GOSUB 10490

‘e s
10200 GOSUB 10520 ] R .
e AEYTITENINYIND
10204 ON PTLT GOSUB 10@)6,10218,10220,10222,10224,10226 "READ DATA FOR X,Y COORDINATE
10206 GOSUB 10450 ¢

s e QAT YRAFTRIN AN YA Y

10212 GOSUB 1038 "INTERPOLATE BETHEEN PTHI AND PTLY AT 7
10214 RETURN

10216 RESTORE 10416 : RETURN

10218 RESTORE 10418 : RETURN

10220 RESTORE 10420 : RETURN

10222 RESTORE 10422 : RETURN

10224 RESTORE 10424 : RETURN

10226 RESTORE 10426 : RETURN

10228 REM »
10230 REM * INTERRUPT 5 CYCLES *
10232 REM
10234 U(1)=3 = U(2)=4 : U(3)=6 : U(4)=8 : U(5)=10 : U(6)=12 : MI=6
10236 IF PTIU(MZ) THEN P=1 : RETURN

ﬂ???lﬂ?ﬂ.lﬂ??ﬁ mHEAD DATA FOR X,Y COORDINATE
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10238 GOSUB 10506 "PT BOUNDARY [PTHI,PTLY]

10240 OR PTHI GOSUB 10262,10264,10266,10268,10270,10272 "READ DATA FOR X,Y COORDINATE
10242 GOSUB 10490

10246 GOSUB 10520 "INTERPOLATE FOR PTHI AT 2

10248 PL=F

10250 ON PTLI GOSUB 10262,10264,10266,10268,10270,10272 "READ DATA FOR X,Y COORDINATE
10252 GOSUB 10490

10254 GOSUB 10520 "INTERPOLATE FOR PTLI AT 2

10256 P2-F

10258 GOSUB 10538 "INTERPOLATE BETHEEN PTHY AND PTLX AT 7

10260 RETURN

10262 RESTORE 10428 : RETURN
10264 RESTORE 10430 : RETURN
10266 RESTORE 10432 : RETURN
10268 RESTORE 10434 : RETURN

10270 RESTORE 10436 : RETURN
10272 RESTORE 10438 - aerum7

10274 REM —-————-—----- —
10276 REM * INTERRUPT 8 CYCLES &

10278 REW ~----—--—-——---- _ :

10280 U(1)=4 : U{2)=6 : U(3)=8 ; g S TR NS )2 10 ) =24 - U(R)=30 : MI=8

10282 IF PT)UCHT) THEN P=1 -
10284 GOSUB 10506 PT B
10286 ON PTHI BOSUB 10306,1030
10288 GOSUB 10490
10290 GOSUB 10520
10292 P1=F

10294 ON PTLI GOSUB 10306,10308, 1030 ] "M’Ei 3510320  "READ DATA FOR X,Y COORDIMATE
10296 GOSUE 10490 —
10298 GOSUB 10520
10300 P2=p ‘
10302 GOSUR 10538 RETHEER PTHY AND PTIT AT 7 —— O
10304 RETURN y; Y |
10306 RESTORE 10440 -

10308 RESTORE 10442 : RETURN m
10310 RESTORE 10444 - EETHHH

10312 RESTORE 10446 : E“EI’J qﬂ Hﬂﬁw Hqﬂ‘j

"'READ DATA FOR ¥,Y COORDINATE

’IHTEF.FGI.HE Fi 1}.” 4

rr‘ ,f‘

10314 RESTORE 10448
10316 RESTORE 10450 &

= A Nassi i Ingay

10406 DATA 12, 20, 1, 30, 1.093, 40, 1.15, 50, 1.18, 0, 1.21, 70, 1.223, 80, 1.24, 90, 1.25, 100, 1.2
57, 110, 1.267, 120, 1.27, 130, 1.27

10408 DATA 11, 25, 1, 30, 1.05, 40, 1.1, 50, 1.14, €0, 1.17, 70, 1.19, 80, 1.21, 90, 1.22, 100, 1.23,
110, 1.24, 130, 1.25

10410 DATA 10, 39, 1, 40, 1.014, 50, 1.071, €0, 1.1, 70, 1.129, 80, 1.157, 90, 1.171, 100, 1.184, 110,
1.2, 130, 1.243 )
10412 DATA 9, 48, 1, 50, 1.014, 60, 1.057, 70, 1.086, 80, 1.1, 90, 1.121, 100, 1.136, 110, 1.157, 130,
1.171

10414 DATA 6, 73, 1, 80, 1.029, 90, 1.057, 100, 1.086, 110, 1.1, 130, 1.129

10416 DATA 13, 16, 1, 20, 1.06, 30, 1.15, 40, 1.21, 50, 1.25, &0, 1.28, 70, 1.3, 80, 1.32, 90, 1.327,
100, 1.33, 110, 1.34, 120, 1.343, 130, 1.35
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10418 DATA 10, 32, 1, 40, 1.071, 50, 1.129, 60, 1.157, 70, 1.186, 60, 1.214, 90, 1.229, 100, 1.243, 11

0, 1.257, 130, 1.371

10420 DATA &, SO, 1, 60, 1.057, 70, 1.1, ©0, 1.129, %0, 1.157, 104, 1.171, 110, 1.186, 130, 1.214
10422 DATA 7, 66, 1, 70, 1.021, 80, 1.057, 90, 1.086, 100, 1.107, 110, 1.129, 130, 1.157

10424 DATA 5, 80, 1, 90, 1.043, 100, 1.057, 110, 1.086, 130, 1.107

10426 DATA 3, 100, 1, 110, 1.029, 130, 1.057

10428 DATA 13, IS, 1, 20, 1.05, 30, 1.14, 40, 1.21, SO, 1.27, &0, 1.32, 70, 1.35, 60, 1.38, 90, 1.393,
100, 1.41, 110, 1.423, 120, 1.43, 130, 1.43

10430 DATA 11, 21, 1, 30, 1.086, 40, 1.143, 50, 1.2, 60, 1.257, 70, 1.286, 80, 1.314, 90, 1.343, 100

1.357, 110, 1.371, 130, 1.386

10432 DATA 10, 35, 1, 40, 1.043, 50, 1. 1. : 3470, 1.186, 80, 1.214, 90, 1.243, 100, 1.271, 110,

1.292, 130, 1.329 N\
10434 DATA 9, 42, 1, 50, 1.043, 60, 5079, 20, & 5, 90, 1.178, 100, 1.2, 110, 1.229, 130,
1.257 o d /

1

, Wadelned0t, 1.15, 110, 1171, 130, 1.214
oL hl0, 1.121, 130, 1.157
F"F/ ;%n 1.373, 70, 1.41, 80, 1.44, 90, 1.4

10436 DATA 8, 51, 1, 60, 1.029 “:--'"— 80,
10438 DATA 7, 66, 1, 70, 1.014
10440 DATA 131 1“‘1 1. ﬂu 1.0%,

, 100, 1.48, 110, 1.5, 120, Lo#®" , f | “ ~

10442 DATA 12, 12, 1, 20, 1.029,480, 457 fo, } 148 0, 1.257, 70, 1.3, 80, 1.329, 90, 1.3
64, 100, 1.379, 110, 1.414, 40 1€ £ 40 ~5 \

10444 DATA 12, 15, 1, 20, 1.014 480 4 #8384 509 50,000 1.2, 78, 1.236, 80, 1.271, 90, 1.3
+ 100, 1.329, 110, 1.357, gl £ F , \\‘\

10446 DATA 11, 22, 1, 30, 17029 40, & @52 S0{-1 N #6031 , 1171, 80, 1.2, 90, 1.229, 100, I
257, 110, 1.286, 130, 1.343 4 »

10448 DATA 9, 30, 1, 40, 1.0
1.271 1
10450 DATA 9, 40, 1, 50, 1.014,%60, B 03644365 3 0506680, 1.086, 90, 1.107, 100, 1.129, 110, 1.15, 130
, 1.186 i :
10452 DATA 7, 66, 1, 70, 1.014, 80, 1.036s G5# 400, 1.071, 110, 1.086, 130, 1.114
10454 DATA 4, 75, 1, 80, 1.007, 90, L.G2L %230, “1o6
10156 DATA 18, 0, 1, 1.0203 1 409, 1.045, 4 085, 1.192, 5.1672, 1.262, 6.1695,
1.312, 7.0721, 1.5, 8. 50001 S 000801 L4t ——————
10457 DATA 10.0, 1.44, 11008, 0, 1.47,

v sgl 1057, s 2 088 20, N VN, B0, 1.143, 90,1171, 100, 1.2, 130,

J981) 1.511, 19.974, 1.568, 49.993, |

11,20,1 jJ

663, 100, 1.696
10460 DATA 6,5.6,1.3.2?,1;“!@95,l.ﬂ?‘
10484 BEN == o maep e e e
10486 REH * READ DATA FOR X-Y CHORBINATE

s AR TN INGINT

10450 READ NI

10492 FoR L=1 10 bz U

10494 REMI L)

e AN TN INYAY
10498 RETURN

10500 REM - T

10502 REN ® CONTACT PARTING TINE BOUNDARY ¢

10504 REH ==

10506 FOR I=1 TO MX

10508 IF PT)=U(I) THEN NEXT I

10510 PTHI=T - PTL=1-1

10512 RETURN

10514 REW e =

10516 REH ¢ INTERPOLATE EM':H CURVE +

10518 REM

10520 IF Z(=X(1) THEN P=1 : 60T0 10530

10522 FOR 1=2 TO NI
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10524 IF 2)=x(1) THEW NEXT I

10526 13:=1-1

10526 P = Y(13) + (O0(D)-¥(1D) ) (D) =x(13)) ) #{2-x{13})
10530 RETURN

10532 REN ———————-———or— e

10534 REM * INTERPOLATE BETWEEN PTH AND PTL ¢

10536 RE =====mmm e e e e

10538 P = P2 + (PL-P2}/{UCPTHE}-U(PTLE) Jo(PT-U{PTLE))
10540 RETURN

10545 REN ===—=======m e e e
10546 REM * ASYMETRICAL FACTOR FOR LY C8 OR
10547 REM -
10550 TF 7}1000 THEN P=1.732 :
10560 TF 2)100 THEN P=1.7 -
10570 RESTORE 10456
10580 GOSUB 10490
10590 GOSUE 10520
10600 RETURN

10605 REH -----—-
10606 REW MF FOR LV CB
10607 REH ---—---

10612 RESTORE 10460
10614 60SUB 1040
10616 6OSU8 10520
10618 RETURN

10650 REW - -
10660 REH + CALCULATE CURRENT CON
10670 #EK ~=~mnmrmomrrenereere e e
10680 A:AF : B=F : C:26R(FXFBX) -
10690 C=ZREL b2 - 60SUB 11090
10700 AZREL : B=2ING : Cald

11030 : E=ZREL : F=IIHG

W£83)) - GOSUB 11070
10720 EFR(0) ='iﬂl:ll]*l:05{'lr'ﬂl

10730 FOR T=1 TO MBSI m

10750 A=I8R(1,FB) : B=IBX(I,FON) gnb<E : D:F : GOSUBLYI0%0

10760 A=ZREL : B=1I ) GOSUB 11060
10770 A= vﬂ-:ntcns[ﬂ ﬁﬂ, ?m[ﬂmqmzjmﬂ@n 11050
10790 WEXT I = RETURN

10800 FOR FENy T

onts o) e N ﬂ‘itu RIINYIAY
10830 A=7REL : B=2IMG : C: unm IE xx-:ﬂ : GOSUB 11090

10834 A = ABS(ZREL) : B = ms{nml

10841 FIL(I) = SOR(ZTOL)

10850 GOSUS 11120

10890 KEXT I

10900 RETURN

10915 EAB=ABS{(EFR(ITISEFR(IT) )4+ (EFX(IT)SEFX(IT)))

10920 D=SQR{EAB)

10710 EFR(FBT)=IREL - EFX(ENGIEI T
10740 IF 1=FBL THEN 10790

10780 EFR(I)=ZREL : ERA(I)=21M6

10820 A<EFR(ME) : B=EFX(MI) : C=EFR(NI) : D=EFX(WI) : GOSUE 11050
10835 2T0L = (A%A)+(B48)

10880 FILA(I)=A

10910 FOR I=1 T0 [0 : IT=BUZ(I)

10930 ZREL=EFR(11):2ING=EFX(11):-GOSUB 11120



10970 EFR(IT)=D = EFX(II)=A

10980 NEXT T : RETURN

10990 REM

11000 REH * COMPLEX MUMBER *

11010 REM

11020 REW ADD

11030 ZREL-A+C : ZIMG=B+D : RETURN

11040 REM SUBSTRAC

11050 ZREL=A-C : 2IHG=B-D : RETURN

11060 REM MULTIPLY

11070 ZREL=(A*C)-(B#D) : ZIHG={A#D}+(ReC) - R
110680 REW DIVIDE

11090 £D2=(cec)+(D*D)

11100 ZREL=(A/CD2%C)+(B/CD2%D) :
11110 REM POLAR FORM

11120 IF ZTMG(0 AND ZREL(O THE
11140 IF ZIMG(O AND ZREL=0 T
11150 IF 2IMGCO AND ZREL)O THEW
11160 IF 2IMG=0 AND IREL{O THE
11170 IF 21H6=0 AND ZREL=0 TH
11180 1F ZIMG=0 AND ZREL)0 THEK
11190 IF 2IMG)0 AND ZREL(O T
11200 IF ITHG)0 AND ZREL=0 @
11210 IF ZIMG)0 AMD ZREL)O THE
11220 A=A/3.141592¢180
11230 RETURN

12580 REM -------- --
12590 REW * SUBROUTIME CHANGE DATA
12600 REM ----------
12605 IF CHNI=0 THEN LOCATE 23,20 :
CHNI=1 ' 14215 OPEN TEMP LE Ve,
12610 CLS : LOCATE 12,7 + COLOR PRINT _ HBER DO YU MANT TO CHANGE THE DATA [ENTER 99
9 T0 EXIT ]* : LOCATE 14,25 1,, i = ‘

12620 LOCATE i4 37 - INPUTHE
12630 TF L(=0 OR LIHLNX THEN 2610
12640 =L :6ET 81,1
12650 CLS : LOCATE 3,25 : PRINTS“CHANGE SYSTEM DATAF LINE “: LOCATE 3,52 : COLOR 15 : PRINT “NO." I

u::;m;r?mr "UTIL %nw’} y %1 ? Wﬁn n ‘j

CKING UP DATA AND ZBUS FILE™ :GOSUB 14215 :

12670 1F D4$="XFHR 12740
12680 IF D4$="LINE™ THEN DINFX=1 : GOSUB 15260 : GOTO 12740,

i DTN, TEHREY ] cont St =0 9) EI 188

12710 CLS : UDCATE 16,30 : COLOR 31 : PRINT "PASS END OF DATA FILE'

12720 LﬂcATE 23,51 : COLOR 15 : PRINT "PRESS AMY KEY TO CONTIMUE..." : COLOR 7

12730 T54=IMKEYS : IF T5§="" THEN 12730 ELSE GOTO 12610

12740 LOCATE 23,23 : COLOR 7 : PRINT [ = BYPASS, = CHAMGE, = EXIT]"

12750 LOCATE 23,26 : COLOR 1S : PRINT "B" : LOCATE 23,39 : PRINT "C" : LOCATE 23,52 : PRINT “X°
12760 TS$=INKEY$ : IF T58="" THEN 12760

12770 IF T58="8" OR T5$="b" THEN 12610

12780 IF T58="C" OR TS$="c" THEN 12800

12790 TF TS$="X" OR T5$="x" THEN RETURN ELSE 12760

12800 CLNI = CLNX+] : CLNTHI(CLNI)=I : CHDI:=1

12810 LOCATE 23,23 : PRINT SP$+SP$+SP$+5P$ : LOCATE 23,35 : COLOR 15 : PRINT "PLEASE ENTER DATA"
12820 IF DA$="UTIL" THEN GOSUB 13110 :TF T5$=CHR$(27) THEM 12610 ELSE GOSUS 14050-G0SUB 6710:PUT &1,1:
6OSUB 13840:60T0 12610



12630 TF DA$="LINE" THEW GOSUB 13220 :IF TS$-CHR$(27) THEN 12610 ELSE GOSUB 14050:G0SUB 7080:PUT #1,1:
GOSUB 13840:60T0 12610
12640 IF DA$="HTOR" THEN GOSUB 13390 :IF T5$=CHR${27) THEM 12610 ELSE GOSUB 14050:60SUB 7150:PUT #1,1:
GOSUB 138406070 12610
12650 1F D4$="GENT" THEN GOSUB 13690 :IF TS$=CHR$(27) THEN 12610 ELSE GOSUB 14050:GOSUB 7480:PUT #1,1:
GOSUB 13840:60T0 12610
12860 IF D4$="XFHR" AND DS5$="TWND" THEN GOSUB 13560 :IF T5$-=CHR$(27) THEN 12610 FLSE PUT #1,1:GOSUB 14
050:60SUB £780:GOSUB 13840:60T0 12610
12870 TF DA$()™AFHR" AND (DS$()TRND™ OR DS$()"AUMT™) THEN 13950
12880 GOSUB 13560 :IF T5$=CHR$(27) THEN 12610 ELSE TI-=0:GOSUB 14050:GOSUB 6350:A=MVA:B=LX!:C=XR:D=LEN:
E-HBNZ:L1=1
12900 1=1+1 : GET 81,1 % ‘
12910 IF DS$="TRMD" OR DS$="AUNT" THEN ' ¥ 6850 : L2=1 : GOTO 12970
12920 1=1-2 : GET 81,1 -, "\
12930 TF DS$()"TRWD" AND D5$()"AUKL™ THEN B0T0 139 .--""
12940 GOSUB 14060 : GOSUB 6850 webssdmami=l-1 BET ﬁ=i-

EGIT0 13950 —,

12950 IF DS$C)"TRND" AND D5S$(LS
T

12960 GOSUB 14070 : GOSUB 6850 : Laef™ 0 .
12970 1=141 : GET #1,1 - \'\\ -
12960 TF DSS="TRMD" OR D5S="AUGI*THEN GO50H" 14020 -\ BOSUR 6850.2L3=1 - GOTO 13020

12990 I=1-3 : GET #L,I /
13000 TF DS$()"TRED" AND D5${) AUNT JFTHEN

13010 GOSUB 14070 : GOSUB 6098 : L#°1 . !

13020 CLWI=CLNZ#] : CLNTHI(CLNZ , .y LS 3

13030 LSET D2$=MKI$(D) : LSET #9%:| s 3  USEH D98-MKS$(B) : LSET DI0$=HESS(C) :
LSET Dig=MKI$(L1) -

13040 PUT 81,01

13050 J=L1 : GOSUB 13840
13060 1=L2 : ORH-ORMI : OXH=OXHI
LTI : GOSUB 13840 =
13070 113 : ORN-ORNZ : OXH:OXHZ ; 17 bF1S0T2 S0RML:0RML? - OXML=0YHL2 : ORLT=ORLT2 : OXLT=0
XLT2 = GOSUS 13840 : GOTO
13080 REH ------- _— -

13090 REH * CHANGE UTILI *’T )

13100 REW ----—-- am m

13110 LOCATE 13,45 : COLOR Gud: PRINT HVA : LOCATE 13,60 : COLOR INPUT J = TF 390 THEN HVA=]
13115 LOCATE 13,45 = PRINT SPS

e

15130 LOCATE 15,45
OR 15 PRINT XR : LOCATE 15,60 : AI'I'I SPHSPS - Bﬂl&l?

13135 LOCATE 15,45 |

3150 LSET !

13160 Lo ﬂ _ N%’]@oﬂrﬂr’]% OR *;:COLOR 15:PRIN
o n | G

DRHLI :OXHL=0XHLI : ORLT=ORLTI : OXLT=0X

13140 LOCATE 15 45 :

131?0 T5¢:1 1r 15:-" THEN 13170
13180 RETURN

13190 REN ——---n-----=-------

13200 REN * CHANGE LINE DATA $

13210 REW --

13220 LOCATE 13,45 : COLOR 0,7 : PRINT RL : LOCATE 13,65 : COLOR 7,0 : INPUT J : IF J)0 THEM RL=J
13225 LOCATE 13,45 : PRINT SP$

13230 LOCATE 13,45 : COLOR 15 : PRINT RL : LOCATE 13,65 : PRINT SP§+"  °©

135240 LOCATE 15,45 - COLOR 0,7 - PRINT VK : LOCATE 15,65 : COLOR 7,0 : INPUT J : IF J)0 THEN VK=J
13245 LOCATE 15,45 = PRINT SP§

13250 LOCATE 15,45 : COLOR 15 : PRINT VK : LOCATE 15,65 : PRINT SP§+"  °
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13260 LOCATE 17,45 : COLOR 0,7 : PRINT LX! : LOCATE 17,65 : COLOR 7,0 : INPUT J : IF J)0 THEN LX!=J
13265 LOCATE 17,45 : PRINT 5P§

13270 LOCATE 17,45 = COLOR 15 : PRINT LX! : LOCATE 13,65 : PRINT SP$+"

13280 LOCATE 19,45 : COLOR 0,7 = PRINT LR! : LOCATE 19,65 : COLOR 7,0 : INPUT J : IF J}O THEN LR!=J
13285 LOCATE 19,45 : PRINT 5P§

13290 LOCATE 19,45 : COLOR 15 : PRINT LR! : LOCATE 19,65 : PRINT SP§+™  °

13300 LOCATE 21,45 : COLOR 0,7 : PRINT LP! : LOCATE 21,65 : COLOR 7,0 : INPUT J : IF J}O THEN LP!=J

13305 LOCATE 21,45 : PRINT SP$

13310 LOCATE 21,45:COLOR 15:PRINT LP!:LOCATE 21,65:PRINT SP§+™  ":COLOR 7

13320 LSET D6$=MKS$(RL) = LSET D74=HESS(VK) : LSET DBS=MKS$(LX!) = LSET D9$=HKS$(LR!) : LSET D10$=HKS$
{Lpt)

13330 LOCATE 23,20:PRINT "PRESS ";:COLOR LS , COLOR 7:PRINT "TO CANCEL OR ";:COLOR 15:PRIN
[ *ANY *5:COLOR 7:PRINT "KEY TO CONTTNUE \\ )//

13340 TS$=INKEYS : IF T58="" THEN 135

13350 RETURM ‘

13360 REH -=---=mmmmmmmmmnan ‘

13370 REM ¢ CHAMGE MOTOR nn? ""-....

13360 REM

13390 LOCATE 11,45:COLOR 0, 4F

13395 LOCATE 11,45:PRINT SP$

13400 LOCATE 11,45:COLOR 15

13410 LOCATE 13,45:COLOR 0,7:P

13415 LOCATE 13,45:PRINT SP

13420 LOCATE 13,45:COLOR 15:PRI 1€ £3,41 sP81sPe

13430 LOCATE 15,45:COLOR 0,7: : PO IF 700 THEM XD=J

13435 LOCATE 15,45:PRINT SP$ TRt \

13440 LOCATE 15,45:COLOR 15:PRI
13450 LOCATE 17,45:COLOR 0,7: PR
13455 LOCATE 17,45:PRINT SP$ .- =
13460 LOCATE 17,45:COLOR 15:PRINT PF: Ll ;_ _SP+5PS

13462 LOCATE 19,45:COLOR 0,7:PRINT 0: TNPUT 3:F 300 AND J(=100 THEN EFF=1
13464 LOCKTE 19,45:PRINT 5P8 £

13466 LOCATE 19,45:COLOR $i
13470 LOCATE 21,45 : COLO! V
13475 LOCATE 21,45 : PRINT : mm

13430 LOCATE 21,45:C0LO0R 1S-RRINT XR:LOCATE 21,s0:PRINT SP$+5P$:C 7

13490 LSET DES=HKS$(WC):LSET D74=HKSS (RPH):LSET DES:HESS(XD):LSET DIS-HESS(PF): LSET DIOS:HCSS(iR):LSE

s Lt .08 108 B G ol TR oo o o s

13510 T5$=INKEY$ : IFTTS$="" THEN 13510

BRI INENAY

13550 REW
13560 LOCATE 13,45 : COLOR 0,7 : PRINT HVA : LOCATE 13,60 : COLOR 7,0 ; TNPUT J : IF J)0 THEN WVA=J
13565 LOCATE 13,45 = PRINT 5P

13570 LOCATE 13,45 : COLOR 15 : PRINT HVA : LOCATE 13,60 : PRINT SP$+5P$

13580 LOCATE 15,45 : COLOR 0,7 : PRINT LX! : LOCATE 15,60 : COLOR 7,0 : INPUT J : IF J)O THEW LX!=]
13585 LOCATE 15,45 = PRINT SP$

13590 LOCATE 15,45 = COLOR 15 : PRINT LX! : LOCATE 15,60 : PRINT SP$+5P$

13600 LOCATE 17,45 : COLOR 0,7 : PRINT XR : LOCATE 17,60 : COLOR 7,0 : INPUT J : IF J)O THEN XR=J
13605 LOCATE 17,45 : PRINT 5P$

13610 LOCATE 17,45 : COLOR 15 : PRINT XR : LOCATE 17,60 : PRINT SP$+5P$ : COLOR 7

13620 LSET DE$=MNS$(NVA) = LSET DB$=HKS$(LX!) : LSET D10$-MKS$(XR)

? PUT J:IF J}0 AND J(=1 THEW PF=J

h8d NPUT 1 2 IF 1)0 THEN XR:J
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13630 LOCATE 23,20 PRINT "PRESS ";:COLOR 15:PRINT "Esc *;:COLOR 7:PRINT “TO CANCEL OR *;:COLOR 15:PRIN
T "ANY *;:COLOR 7:PRINT "KEY TO CONTINUE ..*

13640 T5$=INKEYS : IF T5§="" THEN 13640

13650 RETURN

i e e

13670 REM & CHAWGE GENERATOR DATA ¥

s

13690 LOCATE 13,50 : COLOR 0,7 : PRINT MVA : LOCATE 13,65 : COLOR 7,0 : INPUT J : IF J)O THEN HVA:=J
13695 LOCATE 13,50 : PRINT SP$

13700 LOCATE 13,50 = COLOR 15 : PRINT MVA : LOCATE 13,65 : PRINT SP$+"

13710 LOCATE 15,50 : COLOR 0,7 : PRINT LX! : LOGATE 15,65 : COLOR 7,0 : INPUT J : IF J)O THEN LX!=]
13715 LOCATE 15,50 : PRINT SP$
13720 LOCATE 15,50 : COLOR 15 :
13730 LOCATE 17,50 : COLOR 0,7 :
13735 LOCATE 17,50 : PRINT SP$ ;
13740 LOCATE 17,50 : COLOR 15 : Fe+"

13750 LOGATE 19,50 : COLOR 0, ZuambRTNT (TE 12360 PO : TNPUT 1 = IF 1)0 THEN XR=
13755 LOCATE 19,50 : PRINT SP§ NS
13760 LOCATE 19,50 : cih 3 , (A \ T SP$*" . COLOR 7

- { %! b

o L PRINT SP§+*  °
™ L < INPUT J : IF 130 THEW XD=J

13770 LSET De$=MKS${HVA) - D) s LSET D10$=HKS$(XR)
13780 LOCATE 23,20:PRINT r R 7 PRINT “TO CANCEL OR "::COLOR 15:PRIN
T "ANY "::COLOR 7:PRINT “KEY T
13790 TS$=INKEYS : IF 75¢=""
13800 RETURN

LENT THPEDANCE"

13810 REN -——=—-—emmnr
13820 REM * CORRECT zaus '
13830 REM --—--—---—--
13840 TON=10:CLS:LOCATE 12,25:C0L

13842 ON OPTX GOTO 13844, 13900,1

136844 BOXI=0 : GOSUB 14266 : BOXI=] - o

13848 TF XH(I)=0%M THEN mll 16418 BSE-SCTT — XH{T) GH-XH(T)

13850 TF RH(I)=ORM THEN lt' 1

13852 COMPX=1 : GOSUB 8750F = ‘

13854 BOXX=0 : GOSUB 8442 V"

13856 B0XL=2 : GOSUB 142¢6 - Qn- - ﬂ

13858 IF XI(1)=0XT THEN XX(T3=dE418 ELSE XX(T) = XT(I)0XI/(0XT-XI4f))

13860 IF RI{T)=0RI THEN nnm 1§18 ELSE RR(T) = RI(E)SORI/(ORI-RI(I))

13862 COMPI=1 : #

o 3. LR ) $RE N T

13866 BOXI=4 - !

13868 IF XT(I)=0XT THEN XX(I):IE418 ELSE xx-:;l XI{T)%0XT/L0XT-X1(1))

13670 1F i {

3 SRR S RN A
13874 BOXI=4

13876 GOSUB 1 "CORRECT 78X OF GEN CHECKING

13900 BOXI=6 : GOSUB 14266 : BOXY=7 : GOSUB 14286 'GET 7

13902 IF XHL(I)=OXML THEN XX(I)=1E418 ELSE XX(I) = XML(I)%0XML/{0XHL-XHL(1))

13904 IF RHL(I)=ORML THEN RR{I)=1E418 ELSE RR(I) = RML{I)*ORML/(ORML-RHL{1})

13906 COMPI=1 : GOSUB 875D ADD LINK

13908 BOXI=6 : GOSUB 8442 : BOXI=7 : GOSUB 8462  'RECORD I

13910 BOXI=8 : GOSUB 14266 : BOXY:=9 : GOSUS 14286 'GET 1

13912 IF XHL(I)=OXHL THEN XX{I)=1E+18 ELSE XX(I) = XML(I)®OXHL/(OXML-XML(1))

13914 IF RAL(I)=ORML THEN RR(I)=1E+18 ELSE RR(I) = RML(I)*ORML/{ORML-RHL(I))

13916 COMPI=0 - GOSUB 8750 "ADD LINK

13918 BOXY=8 : GOSUB 8442 : BOXI=9 : GOSUB 8462  'RECORD 7

13920 RETURN
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13922 BOXZ=10 : GOSUB 14266 : BOXI=11 : GOSUB 14286 ‘GET 2

13924 IF XLT(I)=OXLT THEN XX(I)=1€+18 ELSE XX(I) = XLT{I)®OXLT/(OXLT-XLT(I))
13925 IF RLT{I)=ORLT THEN RR{I)=1E+18 ELSE RR{1) = RLT(I)*ORLT/(ORLT-RLT(I))
13926 COWPE:=1 - GOSUB 8750 "ADD LINK

13928 BOXI=10 : GOSUB 8442 : BOXIz11 : GOSUS B462  "RECORD 2

13930 RETURN

13932 GOSUB 13844

13934 GOSUB 13922

13936 RETURN

13938 REN --------~

13939 REM * ERROR *

13940 REN --===----

13950 CLS : LOCATE 8,22 : COLOR 7 :
13960 LOCATE 12,20 : PRINT "PRESS
INT *T°

13970 LOCATE 14,26 = PRINT 'E* 5 LOCRIERI.28 : 0oL oR-ZouBRIMAeiT0 TERNINATE CHANGING AND 60 T0 EDIT"

13980 TS$=INKEYS : IF T58="" |
13990 IF T5$="T* OR 15¢="t" I
14000 IF TS$="E" OR T58="e" Ti
14010 60TO 13980

14020 REW
14030 REM * HEMORYOLD DATA +
14040 REH -----=--==m=mmmens
14050 ORM=RM(I) : OXH=XH{I} : |
LT{I) : RETURN
14060 ORML=RH{I) : OXMI=XH(1) :
OXLTI=XLT(I) : RETURN i :
14070 ORM2=RN(T) = OXH2=XW(I) : ORMERLGELT-DX12:X] ORHER=RHL (1) : OXML2=XML(I) : ORLT2=RLT(I) :
OXLT2=XLT(I) : RETURN : -

14200 REM
14205 REM * OPEN TEMPORALY RiL
14210 REH -----------n~ 4o : -

14215 FI$:LEFTS(FOATS,2) - 478 UE-F 18+ TEMPD"+" . DAT" - TEMPZS:=FIg+
"TEHPZ" ELSE TEHPDS="TENPD'+ Sl
14216 OPEN TEHPDS AS ¥3 LEN:-18, :

14220 FIELD §3,2 AS TL1$,2 AS ‘ﬂf!,! AS TL3$,4 AS TLAS,4 AS TLSS,4 AS TLES,4 AS TL7$,4 AS TLES,4 AS TL
98,4 AS TLI10S,4 AS TLL F- [ ¥

' 012 JNYNTNYINT

14225 FOR K=1 TO NI | ‘

4

14230 GET #1,K

e R WA T e

14245 NEXT &
14250 CLOSE #3

14251 OPEN TENPZ$ AS 83 LEN:=240

1;,252 FIELD #3,40 AS TPAKS(1),40 AS TPAKS$(2),40 AS TPAKS(3),40 AS TPAKS(4),40 AS TPAKS$(S),40 AS TPAK$(
3

14253 HI=114GHCT

14254 FOR BOXZ=0 TO MX

14255 GOSUB 14266

14256 GOSUB 38442

14258 NEXT BOXI

14259 H2=({124GNCI)*HBST)41:6ET #2,MI:LSET TPAKS(1)=ZPAES(1):PUT 43,M2:CLOSE #3:RETURN

FOUND OR NOT CORRECT"
CONTINUE® : LOCATE 12,26 : COLOR IS : PR

OXHL=XHL(T) = ORLT=RLT(I) : OXLT=X

RHL(T) : OXMLI=XHL(I) : ORLTI=RLT(I) :

- ki

14235 LSET 1




245

14260 REN —=-==-====mmmmmmmmen
14262 REM € GET ZBX FROM DISK +
14264 REN =----nmmmsommmemennan
14266 FOR K=1 TO MBSI

14268 NI = BOXI*MBSI+K

14270 GET #2,N1

14271 GOSUB 14301 "UNPACK

14272 FOR L=1 T0-HBST

14274 18K(K,L) = cvs(Z$(L))
14276 NEXT L

14278 HEXT X

14279 RETURN

14280 REM ----=-=mmmcemmmmmnoee
14282 REW % GET IBR FROM msr i
14284 REN ---=------=-mmmmee
14286 FOR ¥=1 T0 MBSI
14288 NI = BOXXSHBSY+K
14290 GET ¥2,M1

14291 GOSUB 14301 'UNPACK
14292 FOR L=1 TO MBSI

14294 ZBR(K,L) = cvs(zs(L))
14295 MEXT L
14296 NEXT K
14297 RETURN
14298 REH ===-==mmmmemmm e
14299 REW + UNPACK FILE BUFFER #
14300 REM :
14301 FOR 12P=1 T0 &
14302 121 = (10%12P)-9 : IIN=10%]
14303 FOR 125=111 T0 12K
14304 78(125) = WIDS{ZPAKS(1ZP),
14305 ISH = ISH+4
14306 WEXT 125
14307 NEXT 12P
14308 RETURN
14310 REW —-----mmmmmmmmmmes

14311 REW * CHAIN BACK TO PROGRAM EOR CREATE DATA ¢ o

s oo "IJ‘EI’J VTHTI NGNS

14317 IF CHNI=0 THE
PRIHT IHJ YOU WANT W SAVE THE CHA SYSTEM DATA 7 §_7;:COLOR 15:PRINT “Y";:

14516 CLS: Lﬂf.‘HE 12,1

COLOR 7:FR P
14319 Lo it ekl o 1| 7 6) B
14320 IF Ti$= 1 : ? THEH LL TEMPDS : KILL TEMPZ$ : GOTO 14330

14325 IF T1$="N" nn T1$="n" THEN CDAT$=FDAT$+".DAT" : KILL CDATS : NAME TEMPD$ AS CDATS - KILL 28S$ -
NAHE TEMPZ$ AS 7BS$ ELSE 14313

14330 CINIDXI=4: CHAIN “SCIP*

14490 REM $INCLUDE: 'DSP-7'

16000 REH -—---

16010 REN * IBX FOR CHECKING GEN REHOTE OR LOCAL ¢
16020 REW -—-- -—--

16030 FOR LG=1 TO HLNX

16040 XX(LB)=XLT(LG) : RR{LG)=RLT{LE)

16050 NEXT LG

16060 COMPI=0 : GOSUB 8565 'FORH 2BUS




16070 BOXY=10 : GOSUB 8442 'RECORD ZBX OF LTD
16080 FOR KG=1 TO GNCY

16090 LG=GNTHI(KG) : GET #1,LG

16100 IF DA$="UTIL" THEN 16190

16110 BOXZ=10 : GOSUB 14266:GOSUB 14286 GET 78US
16120 FOR ING=1 TO GNCX

16130 IF IHG=KG THEN 16170

16140 T=GNTHZ(THG)

16150 XX{I) = -¥LT{I) = RR(T) = -XLT{I) : ION:=10
16160 COHPI=0 : GOSUB 8750 'ADD LINK

16170 NEXT IHG

16180 BOXY = 11446 : GOSUB 8442
16190 NEXT ¥6

16200 6070 8372

16270 REN : "
16280 REM * CHECKING GEN nfrmc !
16290 REH - -
16300 FOR LGA=1 TO GNCY
16304 RHOTI{LSA)=1
16306 NEXT LGA

16310 FOR KG=1 TO GNCX
16320 L6 = GNTHI{KG)
16322 GET #1,L6 ;
16324 IF DA$="UTIL" THEW RMOTI{
16330 IN = ({114KG)*MBSY) +FB2
16335 GOSUB 14301 'UNPACK
16340 XT6 = CVS{2$(FBX))
16350 XEXT = XT6 - XLT(LG)
16360 XGEN = 1.54XML(LG)
16370 IF XEXT)=XGEN THEN RMOTI(KE)=1 :
16380 RMOTI(KG)=0
16390 NEXT K6

16400 BOX%=2 - GOSUB 14
4 .
16410 GOSUB 10680 m
16420 GOSUB 10800

16425 CNRR=0 : CNRI=0 : CNLR=0 yCHLI

'RECORD

y

o m}qﬁgmlwsmm

16440 A=FIL{LGG)

16445 B=FIL(LGG)*SIN(FILA(LGG) /18043, 14159) ¢
16450 IF R
16455 CNLR=
16460 NEXT K
16465 CNRH = ABS(({CNRRECNRR)+(CNRISCNRT)) : CHRMTE=SOR{CNRH)
16470 CHLO = ABS({CHLR*CNLR)*{CNLISCNLI}) : CNLOCE=SOR{CNLO)

D =

16480 IF (CNRHTH4CNLOCE)=0 THEN WFIDX=1 ELSE MFIDX = CNRHT®/(CNRHTE4CHLOCE)

16482 RETURN
16490 REM
16492 REW * CORRECT ZBX FOR GEN CHECKING *
16494 REH
16500 IF DZIHFI=0 THEW 16650
16520 IF DZNFI=1 THEN 16550
16530 IF DZHFI=2 THEN 16600
16540 6OTO 16650

16530 FOR KG=1 TO GNCI

WS YN YA Y
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16555 LLG=6NTHI(KG) :6ET #1,LLG:TF D4$="UTIL" THEM 16590

16560 BOXT = 114KG : GOSUB 14266:G0SU8 14286 'GET 7BX,IBR

16570 TF XLT(I)=0XLT THEN XX(I)=1E418 ELSE XX{I) = XLT(I)*0XLT/(OXLT-XLT{I))
16575 RR(I)=XX{I)

16580 COMPL = D - GOSUB 8750 'ADD LINK

16585 GOSUB 8442  'RECORD 28X

16590 NEXT K6 : GOTO 16650

16600 FOR LG=1 TO GHCX

16610 TF TOIGNTHI(LG) THEN NEXT L6

16620 BOXT = 114LG - GOSUB 14266:605UB 14286 'GET IBX,IBR

16630 IF XLT(I)=0NLT THEN XX(T)=1E41% ELSE XX memmmxu XLT(1))

16635 RR(I)=XX(I)

16640 COMPY = 0 - GOSUB 8750  'ADD
16645 GOSUB 8442  'RECORD 28X
16650 RETURN

17040 REM --
17050 REH * FIND MULTIPLYING
17060 REM ——mee
17070 IF IT=2 THEN 17150
17080 IF 1T=3 THEN 17190
17090 IF IT=5 THEN 17234
17100 IF IT=8 THEN 17280
17147 REN —==---==mmmm -
17148 REH * INTERRUPT 2 CYCLES
17149 BEH ---=-============ux
17150 U(1)=1.5 : U{2)=2 : WI=2
17151 IF PT)U(HI) THEN P=1 :
17152 GOSUB 10506  'PT BOUNDARY JPTHEI#5
17154 ON PTHY GOSUB 17174,17176 :
17156 GOSUB 10490 -
17158 GOSUB 10520  'INTERPOLATE.FOR-THE AT &
17160 P1=P £
17162 ON PTLI BOSUB 17174 5":"‘"""'“"*""'*
17164 GOSUB 10490 s
17166 GOSUB 10520 ‘Imnﬁm . “!j
17168 P2=P ‘ ‘
17170 60SUB 10538 'TNTERPOL#TEBETWEEN PTHI AND RTAT AT 1

e efilat) ANV TNENT

X, ¥ COORDINATE

17176 RESTORE 17408
17184 REM ——-
17186 REN
17188 REH 1
17190 U(1)=2 % U(2)=
17192 1F PTIU(HY) THEN P=1 - nuunu

17194 GOSUB 10506  'PT BOUNDARY [PTHE,PTLI)

17196 ON PTHZ B0SUB 17216,17218,17220 'READ DATA FOR X,Y COORDINATE
17198 GOSUB 10490

17200 GOSUB 10520  'INTERPOLATE FOR PTHI AT 2

17202 P1=P

17204 ON PTLI GOSUB 17216,17218,17220 "READ DATA FOR X,Y COORDINATE
17206 GOSUE 10490

17208 GOSUB 10520 "INTERPOLATE FOR PTLI AT 2

17210 p2-F

17212 GOSUB 10538 "INTERPOLATE BETHEEN PTHI AND PTLY AT Z
17214 RETURN

ﬂﬁmuﬂﬁﬂﬂﬂqﬁﬂ
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17216 RESTORE 17416 : RETURN
17218 RESTORE 17418 : RETURN
17220 RESTORE 17420 : RETURN
17228 REN ======mn==m=

17230 REM * Im‘.nmt 5 CYCLES *

17232 REM =======-==

17234 U(1)=3:0(2)=4: um S:U(4)=6:M1=4
17236 IF PT)UCHZ) THEM P=1 : RETURM

17238 GOSUB 10506

17240 ON PTHX GOSUB 17262,17264,17266,17268
17242 GOSUB 10490

17246 GOSUB 10520

17248 P1=P

17250 ON PTLE GOSUB 17262,17264,1
17252 GOSUB 10490
17254 GOSUB 10520
17256 p2=P

17256 GOSUB 10538
17260 RETURN

17262 RESTORE 17428 :
17264 RESTORE 17430 -
17266 RESTORE 17432 -
17268 RESTORE 17434 :
17274 REN
17276 REM * INTERRUPT 8 CYCL
17278 REW '
17280 U(1)=4 = U(2)=5 : U(3)=6 = U
17282 IF PTIU(KT) THEN P=1 : RETUM

17284 GOSUB 10506
17286 ON PTHE GOSUB 17306,17308, 173102548475 14,
17288 GOSUB 10490 '
17290 GOSUB 10520

17292 P1=P Vi

17294 ON PTLI GOSUB 17306,17
17296 GOSUE 10490
17298 GOSUB 10520
17300 P2:F

e i ﬂ%ﬂ@fﬁ@%ﬁ WHINTI

17306 RESTORE l?llll

17308 REST

R AN T NI NS
17312 RESTORE:

17314 RESTORE 17448 - RETURN

17316 RESTORE 17450 - RETURN

17400 REW
17402 REH * DATA FOR GRAPH IMTERPOLATION *

17404 REM T

17406 DATA 7,22,1,30,1.05,40,1.09,50,1.12,60,1.14,70,1.15,130,1.16
17408 DATA 5,33,1,50,1.06,70,1.08,100,1.11,130,1.12

17416 DATA 7,22,1,30,1.06,40,1.12,50,1.15,70,1.18,90,1.2,130,1.22
17418 DATA 5,43,1,50,1.03,70,1.09,90,1.12,130,1.14

17420 DATA 4,68,1,80,1.02,100,1.05,130,1.07

17428 DATA 7,26,1,30,1.03,40,1.09,50,1.13,70,1.19,90,1.22,130,1.24
17430 DATA 6,43,1,50,1.04,60,1.07,70,1.1,90,1.13,130,1.16

248



249

17432 DATA 4,62,1,80,1.05,100,1.09,130,1.1
17434 DATA 3,89,1,100,1.02,130,1.05
17440 DATA 8,25,1,30,1.03,40,1.09,
50
0

1

1

1,30,1. 50,1.13,70,1.21,90,1.25,110,1.27,130,1.28
17442 DATA 7,40,1,50,1.05,60,1.09,70, 1.1

1,70,1. 10,

1,90,1. |

1,

13,70
12,90,1.17,110,1.19,130,1.21
17444 DATA 5,57,1,70,1.05,90,1.1,1 14,
17446 DATA 4,79,1,90,1.04,100,1.06,130,1.1
17448 DATA 3,95,1,110,1.03,130,1.15
17450 DATA 2,115,1,130,1.1
19970 REN ———-—---—--=-=-=- -
19980 REM ¢ DISPLAY CURRENT CONTRIBUTION *
19990 REH ==========mmmmmmm oo
20000 L=1
20010 LOCATE 4,15 - PRINT T$
20015 KCC=(SUBPAGEX*8)-7

I.

l.

1.14,130,1.15
30,

20020 IF KCC{1 THEN KCC=1 : SUBPASEESTS.

20025 CLS :LOCATE 1,1 :COLOR O, CoRaiE " RUGE 1 ~eogSURAeES : LOCATE 3,15 : COLOR 15,0 : PRINT °
SHORT CIRCUIT CURRENT CONTRIBUT UL I~

20027 LOCATE 4,15 : PRINT uy ‘

20030 FOR T=KCC TO HLNZ :

20040 K=5+(L#2)

20050 LOCATE K,5 : COLOR 7 -

K,29 : COLOR 7 : PRINT "FROM B
: PRINT "T0"

20060 LOCATE k,49 : COLOR 15 :

S : PRINT USING "BREd_ BER";FIL|

,24 : COLOR 15 : PRINT I : LOCATE
RINT u@:{n : LOCATE X,46 : COLOR 7

: PRINT "=" : LOCATE K,57 : COLOR 1
\E K,68 : PRINT USING "BERE.28":FILA(

1)
20070 L=L#1 : IF L{=8 THEN 20130 ~ 7R
20080 LOCATE 23,50 : COLOR 15 : PRINF *PRESSSENY-FEYB0.CONTINUE. .. "

20085 LOCATE 23,1:COLOR 0,7:PRINT |
20090 T9$-INKEY$ : IF 194" i 'CHECK SPECIAL KEY
20094 ON GOIDXT 60TO 20100,20160, 201702068 8020440 , 20160, 20090
20100 L:1 : mum‘mr G+ L “ i

20110 CLS :LOCATE 1,1 :COLOR ALEY — JORATE 3,15 : COLOR 15,0 : PRINT °
SHORT CIRCUIT CURRENT r.mr O

20120 LOCATE 4,15 : PRINT Tt
20130 NEXT I ;
20140 LOCATE 23,50 : EULDI 15 gﬂlﬂ "PRESS ANY KEY TO CONTIMUE..

20145 LOCATE 23, @w ..
20150 T?hIHIE‘I’i ﬁﬁ M:ﬁﬁ]lﬂrij 20150
20160 RETURN |

20170 SUBPAGEZ=SUBPAGEX-1 - GOTO 20000

20470 REM

mg.@?ﬂ@ﬁ'ﬁﬂﬁu UAIAINYIAY

20500 L=1

20510 lﬂt:tmrlﬁmi-?

20520 IF KCC(1 THEN KCC=1 : SUBPAGEX=1

20530 CLS :LOCATE 1,1:COLOR 0,7 :PRINT "PAGE";PAGEX;:".":SUBPAGET : LOCATE 3,15 : COLOR 15,0 : PRINT "B
US VOLTAGE DURING FAULT [ PU. , DEGREE ]°

20540 LOCATE 4,15 : PRINT T$

20550 FOR I=KCC TO [0

20560 K=5+(L*2) : 1I=BUI(I)

20570 LOCATE ¥,15 : COLOR 7 : PRINT "VOLTAGE OF BUS NO. = " : LOCATE K,34 : COLOR
{15] PRINT IT : LOCATE K,40 : PRINT USING "#3#8.14°;EFR(II) - LOCATE K,58 : PRINT USING "BEEE.3%";EFX
11




250

20580 L=L+1 : IF L{(=8 THEN 20640
20590 LOCATE 23,50 : COLOR 15 : PRINT “PRESS ANY KEY TO CONTINUE..."

20595 LOCATE 23,1:COLOR 0,7:PRINT “Ctrl key ON":COLOR 7,0

20600 T9$=INKEY$ : IF T9$="" THEN 20600 ELSE GOSUB 25000

20604 ON GOIDXI GOTO 20610,20670,20680,20670,20670,20670,20670,20670,20600

20610 L=1 : SUBPAGEX-SUBPAGEL+]

20620 CLS :LOCATE 1,1:COLOR 0,7 :PRINT "PAGE";PAGEX;".";SUBPAGEX : LOCATE 3,15 : COLOR 15,0 : PRINT "B
US VOLTAGE DURING FAULT [ PU. , DEGREE |"
20630 LOCATE 4,15 : PRINT T$

20640 WEXT I

20650 LOCATE 23,50 : COLOR 15 : PRINT "PRESS
20655 LOCATE 23,1:COLOR 0,7:PRINT “Ctrl ks

¥ T0 CONTINUE

20660 T9$=INKEYS = IF 19¢="" THEN 206 #;. o ¢ £OTDXZ=9 THEN 20640
20670 RETURN Sl €====£!.,

20660 SUBPAGEZ-SUBPAGEI-1 : 60T 2056 e —

20990 REM MEMORY CONTRIBUTION ANDPVOLTHEE T—

21000 TPO$=T$

21010 FOR KP=1 TO MLNX
21020 FILO(KP)=FIL(KP) : FI
21030 NEXT kP

21040 RETURN

21100 TPO$=T$

21110 FOR KP=1 TO MBSI
21120 EFRO(KP)=EFR{kP) -
21130 NEXT kP

21140 RETURN

21200 TP1$=T$

21210 FOR KP=1 TO MLNX
21220 FILL(KP)=FIL(KP) : FILAM{KP)SFI

21230 MEXT KP AT T

21240 RETURN

21300 TP1$=T$ M CEEEE.
21310 FOR KP=1 TO MBSI o <
21320 EFRL(KP)=EFR{KP) : PEAl{X i
21330 KEXT KP 'll : m
21340 RETURN ‘ ‘
21400 TP28=T%

L BHARYNINYINS

(a2

™

*

21430 NEXT KP
21440 RETURN

21500 TP2% : % -
el P8 AN MUV INEA Y
21520 EFR2(KRY:-EFR(XP) : EFX2{xP}:=EFX(KP

21530 NEXT KP

21540 RETURN

21600 TP3$=T$

21610 FOR KP=1 TO HLNX

21620 FIL3(KP)=FIL{KP) : FILAI(EP)=FILA(KP)

21630 NEXT KP

21640 RETURN

21700 TP3$:T8

21710 FOR KP=1 TO HBSI

21720 EFR3(KP)=EFR(KP) : EFX3(KP)=EFX(KP)

21730 NEXT KP

21740 RETURN



251

24585 BEN —-—m e e e a e n e m e e

24590 REM * SPECIAL DISPLAY ACT BY CONTROL KEY *

24595 REM -==---=========-

25000 IF T9$=CHR${10) THEN GOIDXI=8:60TO 25070

25002 IF LEN(T98)=2 THEN SK$ = RIGHT$(79$,1) ELSE GOIDXY=1:6070 25070

25005 IF SK$=CHR$(116) THEN 6OIDXI=1 : GOTO 25070

25010 IF SK$=CHR$(132) THEN GOIDXZ=2 : 60T0 25070

25020 IF SK$=CHR$(115) THEN GOIDXI=3 : GOTO 25070

25030 IF SK$=CHR$(119} THEM GOIDXX=4 : 60TO 25070

25040 IF SK$=CHRS(94) THEN GOIDX2=5 : GOTO 25070

25050 IF Sk$=CHR${117) THEN GOIDXI=6 : 6OLO'2

25060 IF SKk$=CHR${118) THEN GOIDXX=7 LE GOID!

25070 RETURN \

29985 REH ——- wss;

29990 REM ¢ CHAIN TO ﬁummn SPLAT PRIRE

29995 REM -

30000 CINIDXI=1

30010 CHAIN “SCDRAW"

38440 REM RECORD TENPZ

38442 FOR k=1 TO MBSI

38444 FOR L=1 TO MBSI

38446 78(L) = MKS(ZaXiK,L)

39448 NEXT L

38449 GOSUB 38500 :

38450 TN:=BOXY*HBSIHE:PUT 43,

38452 MEXT K

38454 RETURN

38500 FOR 1JK=1 T0 6

38505 ILE=(10¢1JK}-10

38510 03: Eiilt[*li*!tiIL{+21*Itl

ILK+10) o

38512 LSET TPAKS(1JK)=08 .

38515 NEXT 13K V; A

38520 RETURK 1-| i'ﬁ
v 1

ﬂ‘IJEI’J’VIEWﬁWEI']ﬂ’i
ammnimum'mmau

LE+6)428 (ILK+7)428 (TLE+B) 428 (TLK49)428(



SCPRIN

200 REN --------- -
210 REN * SHORT CIRCUIT AMALYSIS OF THDUSTRIAL POWER SYSTEMS *
220 REN * BY '
230 REN ¢ sus [HPEDANCE MATRIX neruun ¥
240 REM ;

250 REN * PRINT OUT THE RESUL
260 REM ———=-m-m== === mem e
300 REW $INCLUDE: 'COMDEF-9'
6115 ON ERROR GOTO 6450 )
6117 IF PSTX=0 THEN 6120 ELSE GV
6120 CLS : LOCATE 12,16 : COL W CH
15 : PRINT "132° : LOCATE 12,5 o AT 0%
E 12,60 : COLOR 7 : PRINT “COLUM

6130 LOCATE 12,70 : COLOR 15.49TH

6140 WIBTH °LPT1:",132 : CLS:LO
6150 IF WID$="132" THEN LPRIMM
6160 IF WID$()"80" THEN LOCK]
6170 LPRINT CHR$(27);"x";CHR$ (g
6180 LPRINT CHR$(27);CHR$(15)4
6190 LPRINT CHR$(27);"A";CHR$(12)
6200 LPRINT CHR$(27):"1":CHR$(0)"
6210 LPRINT CHR$(27);"a";CHRS(132)
6220 LPRINT CHR${27):"P":

6230 LPRINT CHR$(27);"5";
6240 IF PSTI=0 THEN GOSUR-id1
6245 IF CHRZ=1 THEN GOS
6250 IF CHDI=1 THEN C3="
6260 IF CHIZ=1 THEN C$="
6262 GOSUB 11910

6263 IF CLIZ=0 AND CLVI=0 THE as:u

S TR TN ENINYINS
S AR

6270 IF CLII=
6271 IF CLYX=I' THEN GOSUB 12410
6273 1% = TP1§

6274 FOR KP=1 TO MLNX : FIL(KP)=FILL(KP) : FILACKP):=FILAL(KP) :
6278 FOR KP=1 T0 MBSX : EFX(KP)=EFXI{KP) : EFR(KP)=EFRI(KP) : MEXT P

6280 IF CLIZ=) THEN GOSUB 12230
6282 IF CLYI=1 THEN GOSUB 12410
6283 RETURN
6284 T$=TF2¢

6286 FOR KP=1 TO MLNT : FIL(KP)=FILZ(KP) : FILA(KP):=FILAZ(KP) :
6268 FOR KP=1 TO MBSX : EFX{KP)=EFX2(KP) : EFR(KP):=EFR2(KP) : NEXT KP

6290 IF CLIZ=1 THEW GOSUB 12230
6292 IF CLVX=1 THEN GOSUB 12410
6293 RETURN

: H rou HHE. I.GL'M’E 12,50 :

THARGIN = 132
TCA-SIZE CHARACTER
JALIC CHARACTER

252
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© 6342 REM * CHAIN BACK TO CALCULATE PROG

6294 T3-TP38

6296 FOR KP=1 T0O HLHY : FIL(KP)=FIL3(¥P) : FILA(KP)=FILAS(RP) : MEXT KP

6298 FOR KP=1 TO MBSI : EFX(KP)=EFX3(KP) : EFR(KP)=EFR3(KP] : MEXT KP

6299 1F CLIT=1 THEN GOSUB 12230

6300 IF CLVI=1 THEN GOSUB 12410

6301 RETURN

6302 GOSUB 6266

6303 GOSUB 6284 : GOSUB £294 : RETURN

6304 LPRINT : LPRINT = LPRINT TAB(7): ~-rmmemmmmmm e e e s b e st e m e e e o e
s m e * : LPRINT

6344 REM -
6350 CIMIDXI=2 - CHAIN “SCCAL"
6420 REM --- -
6430 REN + ERROR OF PRINTER *
6440 REM
6450 IF ERR=25 THEN CLS : BEFE WP
6460 IF ERR=27 THEN CLS : BEEP - @ftF
6470 LOCATE 23,41 - COLOR 15
- COLOR 7
ﬁlﬂu T9$=IMKEYS : IF T93=""
6485 IF T9$()CHR$(27) THEN RESUH
6490 RESUNE 6350 "CHAIN BACK
11110 REW —-=-=—m=mmmmmmmmeee
11120 REM * PRINT SYSTEN DATA & ! MPEDA
11130 REH --- -2 :
11140 P5TI=1 - CHDI=0 : CHIZ=0 -
11150 LPRINT CHR$(27);76"; SLE-STRIKE MODE
11170 LPRINT CHR$(27);"W";CHR$(1); - /8 RGED HODE
L1180 LPRINT TAB(7); *sssttisssttast@iiaibttistate kepigse”
11190 LPRINT TAB(7):"¢ Lo , . I
11200 LPRINT TAB(7);"¢ SHORMETH NECTSIS OF PROJE 27" §"4";FOATS; CHR$(27) ;°5™  TAB(S9
11215 X = LEN{NAHS)

g-
11216 ¥ = INT(33-X/2)

s o 1w ] W"WE‘JWW IR
11230 LPRINT TAS({7);

11240 LPRINT TAB(7); %) DATE : ":DATES; :LPRINT TAB(S57);"¢"
11250 LPRINT TAR(7); 'umtmtttttttttttttaﬂtttmttmtwtmmm'

e mQ R AR 1IN 818 Y

11260 LPRINT BHR$(27);"W";CHRS(0);

11290 LPRINT TAB(62) :eﬂn{zﬂ;'-‘:umﬂ 1);"SYSTEM DATA";C$

11310 LPRINT : LPRINT

11320 LPRINT CHR$(27);"-";CHRS${0);

11330 LPRINT TAB(4); LINE";TAB(16);"BUS NUMBERS";TA8(88); CIRCUIT ELEMENTS®

11340 LPRINT TAB(13):"LOWER  HIGHER™;TAB(33);"EQUIPHENT  TYPE";TAB(S7);"MYA,kW,L";TAB{70); kV,R
PH:TAB(82) ;X" "d,X"; TAB{94) ;"X "d,PF,R"; TAB(108); "EFf™; TAB(120) ;" X/R.L/P™ : LPRINT
11350 IF CHDX=1 THEN WI=CLMZ ELSE NI=MLNX

11360 FOR 13=1 T0 NI

11370 IF CHDZ=1 THEN I=CLNTHI(1J) ELSE 1=1J

11380 LPRINT CHR$(27):"H";

L1390 GET B1,1 : IF DA$="EODF" THEN 11430

: PRINT "PRINTER IS OFF"
: PRINT ﬂﬂ’.ll' OF PAPER"
E‘!’ "!!.'l RETRY...." : LOCATE 23,78

]_ -tt
11210 LPRINT TAB(7);"# m
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11400 D1=CYI(D1g) : D2=CVI(D2$) : D3=CYI{D3$) : Dé=CVS(Des) : D7=CVS(D7$) - DE=CvS(DES) : D9-CVS(D9%
) : DLO=CYS(D1DS):DL1=CVS{DL1%)

11410 LPRINT TABI#I:ﬂl;TAB{14]:ﬂ?;lﬁﬁ{24];ﬂE;TABiSE}:ﬂ##:TAB{!?I-Dﬁt;

11411 IF D6()0 THEW LPRINT TAB(S7):Dé; ELSE LPRINT TAB{60);"-";

11412 IF D70)0 THEN LPRINT TAB{70);D7; ELSE LPRINT TAB(72);"- '.

11413 TF D8()0 THEN LPRINT TAB{82);D8; ELSE LPRINT TAB(84);" K

11414 IF D90 THEM LPRINT lhﬂi?l]:ﬂ?; ELSE LPRINT rﬁala?}; :

11415 TF DI1¢)0 THEM LPRINT TA®(108):D11; ELSE LPRINT TAR(109);"

11416 IF D10CYO THEN LPRINT TAB(120);D10 ELSE LPRINT TAEI]E!};'*‘

11420 NEXT 1J

11430 LPRINT : LPRINT : LPRINT : LPRINT
11440 LPRINT CHR$(27):°6";
11460 LPRINT TAB(S1);CHR$(27);"-";CHR
11480 LPRINT : LPRINT »
11490 LPRINT CHR${27);"-";CHR$(0]3
11500 LPRINT TAB(3); LINE";TAB(TH
"FOR LY. CB. OR FUSE™;TA8(108
11510 LPRINT TAB{12);"LONER
11520 FOR 1J=1 TO NX

11530 IF CHDX=1 THEN I=CLNTHX
11540 LPRINT CHR$(27);"H"; =%
11550 LPRINT TAB(3);1;TAB(12);
(I); : LPRINT TAB(41);"]"; #CF
11560 LPRINT TAB(S6); : LPRINT
e | (44 13
11570 LPRINT TAB(82); : LPRINT UGN
11580 LPRINT TAB{93);%1%; : LPRINT LS !

11590 LPRINT TAB(106): : LPRINT USHNE s = ; SPRINT TAB(119):73%; = LPRINT USING “#4
AR LTI I ;

11600 NEXT 1J : CLWX=0 : C$="" :
11610 RETURN _
11620 REW i
11630 REH & PRINT INITIALD ~
11640 REH ——————--
11650 LPRINT : LPRINT : L?EE: LFF
11660 LPRINT CHR$(27);°6";

11680 LPRINT TAB{S8);CHRS(27); 7 ";LHRS (1) "INITIAL GONDITIONS®;C$

11700 LPRINT : LPR f] ﬂ ‘j

11710 LPRINT cun:{
11730 LPRINT TAB(23); mir m:s:smct muz] mn[z:ﬂg <RF:TAB(54); ﬁ(??l "5 "oha"; TAB(75

11720 LPRINT CHR$(2

); mﬂi'ﬂ]ﬁ "¢ "oha® : LPRINT

kA RS
ummmmmnmmmmmzw,m LPRINT

11760 FOR 1=1 TO 10 STEP 2

11770 1J=141 & TT=BUL(I) : VOA(IT)=VOA(IT)*180/3.141592

11780 LPRINT CHR$(27);"H";

11790 LPRINT CHR$(27):"5";

11800 IF 1J}10 THENW LPRINT tnniss};‘nus HO.";11:TAB(49);"="; TAB(52);CHRS(27);"4"; : LPRINT USING"#8%

EA;VO(IT); < LPRINT TAB(62);" : LPRINT USING" 888 80°;VOA(IT) : GOTO 11840

11810 1J3= nu:[::i VOA(13])= Hﬂlillli‘lﬂﬂfE 14159?

11820 LPRINT 713{351 "BUS NO.™:TI:TAB(49):"=":TAB(S2):CHR$(27);"4"; - LPRINT USING'#3#3.¥34%";v0(II);
: LPRINT TAB(62);" , *; : LPRINT HSIHB'lIII.II';HDl{II]: + LPRINT TAB(84);CHRS(27);"5";"BUS NO.";1J

T;TAB(99);"=";TAB(102) ;CHR$(27);"4";

11830 LPRINT USING 8388 888°:¥0(133); : LPRINT TAB(112);" ,"; : LPRINT USING"BRRE.$8";VOA(IJI) :
(1J7)=VOA(1JI)#3.141592/180

VOLTAGE CIRCUIT BREAKER™;TAB{E3);

WES): " INTERRUPT™ s LPRINT

ABASD) ; - LPRINT USING “38.888""""" ;RN

K1 TAB(£7):"1": : LPRINT USING "§8.848
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11840 VOALIT)=VOA(TT)#3.141592/180 : NEXT I

11850 LPRINT

11860 LPRINT;CHR$(27);"5";

11862 LPRINT TAB(23):"INTERRUPTING TIME OF Hv. C8.
*5": "CYCLES™

11863 LPRINT TAB{22):"CONTACT PARTING TINE OF WV, CB. =";TAB(64);CHR${27);"4";PT;TAB(74);CHR$(27);
*5":"CYCLES"

11864 LPRINT

11865 €$="" : CHIY:0 : CHRI:0

11870 RETURN

11880 REW =-=-----
11890 REM * PRINT SHORT EIHEHIT CURRENT *
11900 REN
11910 LPRINT : LPRINT : LPRINT : LP
11920 LPRINT CHR$(27);%6";

11940 LPRINT TAB{44);CHRs(27);"" EPORT OF w.';cnnsim;'1';fal:nunsiz?i:'5‘
; “RATED" ;CHR$(27) ;4" ; VB CHRS - A

11960 LPRINT : LPRINT
11970 LPRINT CHR$(27);"-";
11980 LPRINT CHR$(27):"6";
11990 LPRINT CHR$(27);°5";
11995 1F (0PT2=1 OR 0PTI=4) 5t 1207
12000 LPRINT TAB(23);"FOR H I T(BREAKERT:BHRS( 20N “W™5°  [INTERRUPT “;IT;" cCY.
CONTACT PARTING ":PT:" CY. ]" ' B
12010 LPRINT CHR$(27);"H";
12030 LPRINT TAB(40); "FAULT LEVE
NT TAB{71);CHRS(27) ;5" "HVA";T

(1]

" TAB(6S);CHR$(27) ;4" 1T; TAB(7S) ;CHR$(27) ;

PRINT USING “R8R8808 H°;FLH; : LPRI
27):"4"-XRH - LPRINT CHR${27):°5":

12034 LPRINT TAB(40);"€/7 s TRECSST: DHRE 122 s - LPRINT USING “HE88808 8047 EPI; : LPRI
NT TAB(72):CHR$(27);"5"; "kA(ras)® IR -

12036 LPRINT TAB(39); “HULTIPLYING FACTOR > EOCAL, T ="-TAR(84);CHR$(27) ;4" ;HFLOC = LPRIN
T CHR$(27);"5"; o)

12037 LPRINT lAﬁi&ﬂ} HHLI1';} TOR + REXOTE A 5):CHR${27); 4" ;MFRNT = LPRIN
T CHR$(27);°5"; :

12038 LPRINT muu} "HULTIPLYING FACTOR™: | ="-_Binsl;cuﬂsl:2?l;'4';Hrm : LPRIN
T CHR$(27);°S";

ummmmmmﬂm1 m ="-TAB(8S);CHR$(27):"4"; - LPRINT USI

:gﬂs:i::;::ji::a{§;1EE‘IQIJI:!!j IT; '!;]zflllirli‘:iﬂntizrl "A%; « LPRINT USI

NG "BRRRERE.MADTFIRMTY - LPRINT TAB(98) ﬂnaiiz?i 'hn{r
mummumnunm -rmmmmmq + LPRINT UsSI

= R SR g A T

mmmmwmlmmmmmmmmnmmulemmmmm1 : LPRINT UST
NG "HEREEEE. 4887 ;FIAVR: : LPRINT TAB(98);CHR$(27);"5"; kA(ras)®

12060 LPRINT lnnixai;'ﬂﬁHEHTnnr SHORT CIRCUIT CURRENT [ASYM]  =":TAB(84);CHR$(27):"4"; : LPRINT USI
NG “SSBERRE.BEE";FINH; : LPRINT TAB(98);CHR${27);"5";"kA(ras)® : LPRINT

12062 LPRINT TAB(39):"GENRATOR CONTRIBUTION (SYN) [P.U.,DEGREE]:"

12063 FOR 16=1 T0 GNCY : I11=6NTHI(16)

12064 LPRINT CHR$(27);"5";

12065 IF RMOTZ(I6)=1 THEN ns='[ REMOTE 1" ELSE B$="[ LocAL ]"

12066 LPRINT TAB(32):"LINE NO. ";IT;TAB(48);"BUS MO. ";NOZ(IT);TAB(64);CHR§(27);"4";B$;TAB(BL) CHRS
(27);°5%;"=";TAB{84) ;CHRS (27);"4";

12067 LPRINT USING "$8pese. 18" sunnutisl; < LPRINT * , ";: LPRINT USING “#¥88.3%";GNCONA(IG)

12068 NEXT 16
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12069 LPRINT TAB(39);CHR$(27);"5"; "REMOTE / (LOCAL+REMOTE) ="; ¢ LPRINT TAB(84):CHR
$(27);°4";HFIDX; : LPRINT CHR$(27):°5%: . LPRINT : LPRINT:LPRINT

12070 LPRINT CHR$(27):6":

12075 1F (0PT3=1 OR OPTX=4) AND VB=)1 THEN LPRINT TAB(22);"FOR LOW VOLTAGE CIRCULT BREAKER EQUIVALEN
CE CIRCUIT" - GOTO 12077

12076 IF {0PTI=1 OR OPTI=4) AWD VB(1 THEN LPRINT TAB(22):"FOR LOW YOLTAGE CIRCULT BREAKER * ELSE 120
90

12077 LPRINT : LPRINT CHR$(27);"H": ,

12080 LPRINT TAB{40);"FAULT LEVEL =";TAB(S4);CHR$(27);"4"; : LPRINT USING “Be¥ssss t#d":FLL; : LPRI
NT TAB(70);CHR$(27);"S";"HVA"; TAB(79) ; “X/R RATIO =*;TAB(95):CHR(27): 4" ¥RL : LPRINT CHR$(27);75";

12082 LPRINT TAB{40):"E / 2 _
USING “SRBRERE. EBE":FIIL: : LPRINT TAR(9 7
12084 LPRINT CHR$(27);"5"; Sy x\‘
12085 IF VB):1 THEN LPRINT :LPRINTwaGOIO 2708

12086 LPRINT TAB{40);"CIRCUIT BREwNE

12088 LPRINT TAB(39): " INTERRUPLLNGnSHN
NG “BE$EE88 BHET;FLVCE; : LPRINT
12090 IF (OPTI=2 OR OPTY=4) Tiel
12092 LPRINT : LPRINT CHR$(27):
12100 LPRINT TAB(40); "FAULT LeVE
HT TAB(70) :CHRS(27):"5" < "HVA™- T4l
12104 LPRINT CHR$(27);"5";
12105 LPRINT TAB(40):"E [ 1
NG "BEERRER_BME;FIIL; : LPRINLTAR
12110 LPRINT CHR$(27):°5":
12115 LPRINT m{ml;'rm puTY”
12120 LPRINT TAB(39);"INTERRUPTING SHOR
NG “BERRERE.BRET;FIIL; : LPRINT TaAB(9¢ 5 kalra:
12130 LPRINT TA.B{H] [ &s'l’I'H'EIIl(:AL sm 1T GURREN] =", TAB(BA);CHRS(27);"4"; : LPRINT USI
NG "HERBRRE BR";FINL; : LPRINT TAB(98) Ehes : .
12140 LPRINT : LPRINT - -
12145 IF OPTI=3 OR OPTY=4 T Ir
12150 LPRINT CHR$(27);%6";
12160 LPRINT TAB(22); *FOR T
12170 LPRINT mﬂﬂz?i "H
12180 LPRINT mun} *SHORT nmnyr uamsul =";TAB(85) ;CHR$(27);"4"™; - LPRINT USI

oDkl ek

12200 REM --=------- ~
12210 REN ¢ PRINT CURRENT CONTRIBUTION % EACH LINE +

iz o mmmmﬁmnwmaa

12250 LPRINT

12260 LPRINT TAB(22);"SHORT CIRCUIT CURRENT CONTRIBUTION OF EACH LINE ( SYW. ) [ P.U. , DEGREE ]*:T8
: LPRINT

12270 FOR T=1 T0 NLNZ STEP 2

12280 13=141

12290 LPRINT CHR$(27):"H":

12300 LPRINT CHR$(27);"5":

12310 IF TJYHLNI THEN LPRINT TAB(33):"LINE m.';r;mtm;':*;mm1;cuu{2?1;'4'; : LPRINT USING

"R BRETSFIL(D); < LPRINT * , % - me USING “BE#3.88";FILA(I) : GOTO 12340

12320 LPRINT m{m; I.IHE NO.";T;TAB(49);"="; TAB(S1);CHR$(27);"4"; : LPRINT USING “B3888. 488" :FIL(I

], : LPRINT TAB(62);" . LPRINT USTNG uu 87 FILA(L); - LPRINT TAB(BL) ;CHR$(27);"5": "LINE HO.
*;13;TAB(99) ;=" munn mms-:z?i 4",

=";TAB(85) ;CHRS(27) ;"4"; : LPRINT
#s]” : LPRINT

8(84) ;CHR$(27):74"; - LPRINT USI
Hlﬂ :LPRINT
* ELSE 12145

X ,;%" USING “BEBEERE. B44°:FLL; : LPRI
5] s0HR$E27) ;4" xR

N -TSTAB(8S) ;CHRS (27);74%; « LPRINT UST

YL " TAB(84):CHRS(27):"4": : LPRINT USI
5)
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12350 LPRINT USIWG “sedd# e20";FIL(IJ); : LPRINT TAB(112);" , *: : LPRINT USING "%8#4.38":FILA(T])
12340 NEXT T

12350 LPRINT CHR$(27):"5":

12360 LPRINT

12370 RETURN

12380 REN --=-----=-=mmmmmmmm oo eacnee

12390 REM * PRINT BUS VOLTAGE DURING FAULT

12400 REM

12410 LPRINT : LPRINT
12430 LPRINT CHR$(27):"6";
12440 LPRINT CHR${27);"5"; ,
12450 LPRINT TAB(22);"BUS VOLTAGE DURING.FMULY | 'HCul 4 LEGREE ]°;T$ : LPRINT
12460 FOR I=1 T0 {0 STEP 2 ~ ] '

12470 13=141 : I1=BUX(1)
12480 LPRINT CHR$(27):"H";
12490 LPRINT CHR$(27);"5";
12500 IF 11010 THEN LPRINT TABTS
BEBBEEFR(TI); : LPRINT TAB
12510 1J7=BU2(1J)

12520 LPRINT TAB(33);"BUS NO.
J; = LPRINT TAB{62);" , *: :
T33;TAB(99) ;=" TAR(101) ; CHRS (af - —
12530 LPRINT USING"s#ees. se0™CEFRUTIIE SLRRINT TAB (#2)5 PRINT USING™#¢48. 88" ;EFX(11])
12540 NEXT I . ‘

12550 LPRINT CHR$(27);"5";
12560 LPRINT : LPRINT
12570 RETURN

;CHR$(27);"4%; : LPRINT USING"4#84
(1) : GOTO 12540

LPRINT USING"§8488. 884" ;EFR(II
[ TAB{81);CHR$(27):"5":"BUS NO.":

X

AU INENTNEINS
. AMIANTUNMINYIAE

300 REM $INCLUDE: 'COMDEF-9°

1000 * The following source code (lines 1000-1520)loads and draws

1002 ' the drawing called by "SCIF".

1003 *

1045 DEF FNZADDS(F1,F2)=STRINGS((F1-LEN(MIDS(STRS(F2),2))),48)4MIDS(STRS (F2) ,2)
1046 DEF FNYADDS(F1,F28)=STRINGS((F1-LEN(HIDS(STR$(F2¢),2))),48) +HIDS(STRE(F28) ,2)
1047 DEF FNXADDS(F1,F2¢)=STRINGS{(FI-LEN(NIDS(STRS(F2!),2))),48)+HIDS(STRS(F21),2)
1048 MAXPI=1400

1050 DIK PRHS(200),DSPS(1600) ,PARK! (5),TEXTS(96), ITEXTS(36)

SCOR
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1055 CLS : BAKPAGEX:=PAGEX
1056 KEY 1,"":KEY 2,"":REY 3,"":KEY 4,"":KEY 5,"":HEY 6,"":HEY 7,"":XEY 8,"":KEY 9,°":KEY 10,""
1060 DIVI=1:DIV$="01":NN$="1" :NNX=1:KEY OFF

1065 TLY=82:CLRY=9:55MY=2: PALY=1:COLRS:"1":PAGEY=1

1070 FL$=LEFTS(FDATS,2) : F2$=RIGHT$(F1$,1)

1072 IF F2$=":" THEM DRIVE$=F1$ : DIAGRAM$:=MID$(FDAT$,3,10) : GOTO 1080

1074 DRIVE$="" : DIAGRAM$:FDATS

1080 CLS: ON ERROR GOTO 1500

1081 IF DIVI(10 THEN DIV$-RIGHT$(DIV$,1) : DIV$="0"+DIV$

1082 VARS=DRIVES+DIAGRANS+ ™ P +DIVS
1084 NAME VARS AS VARS

1085 CLS : GOSUB 65200:60SUB 2700 N
1090 GOSUB 13000:60SUB 12000:0N ERROR GOTG. 0
1100 LOCATE 1,1 : T9$=INKEY$ : IF 7949
1110 1F mimnt{ﬂ] OR T9%=CHRS (10 -

1120 IF LEN(T98)=2 THEN SK$=RIGI Bt 10
1130 IF SK$:CHRS(118) THEN 1180m¥ETR Lpety —
1140 IF SK$=CHR$(132) THEN 1190
1145 IF SK$=CHR$(115) THEN 1100
1150 TF SK$=CHR$(119) THEN 1060
1160 IF SK$=CHR$(117) THEN 110€
1170 GOTO 1100

1180 NNI-NNI+1 : 1F NNI)4 THEWTNWIA -4 TEEN ‘ sTRe (DIVE KN$=STRE(NNT): GOTD 1080 FLSE
WN$=STRS(NNT) :60T0 1080 oy, Tl
1190 IF NNI(=1 AND DIVI=1 THEN B0 TS % _' 335 : PRUNTSENDROF DIAGRAK™ : LOCATE 23,55 : PRI

NT “PRESS Esc TO RETURN ..." :
1520 IF ERR=58 THEN RESUME 1085
1530 RESUME 1100

2700 'LOAD INTERNAL TEXT FILE INTO
2701 "RETURN

2710 I£H=EHI'I|'E$+'HEIT.IIﬂ_"-ﬂPEII i
2724 GET #3:1F EOF(3) THEW.CI
2726 N1T=INSTR(FULLS," *): 'qv =l THEN
2732 VARS=HIDS (FULLS,1,N11-THEN

2733 NI=INSTR{N1Z,FULLS,CHRS (25 H : ﬂ

2736 YARS=HIDS (FULLS NLY,NI-NIE):NLZ=NI#1: IF (SSWI=2 AND VAL(MID$( $,3,2)))36) OR 5SWX=1 THEN ITEX
T$(32)=HIDS(VARS,24) : JT=7041: IF )36 THEN CLOSE 43:RETURN

2740 60TO 2733
2742 LSET Fmt-ﬁlu:ﬂ.lulﬂ ’g 1‘] ﬁﬂm ? w%‘;ﬂ ﬂ ﬁ{rms,s,zmssi OR SSWI
=1 THEN TTEXT$(JX)= 1):31=0041:0F J2)36 T ETURN

2760 6OTO 2724

4100 TXHAXX T=MMAXZ-{ (XMAXZ
o umvwwmm%mmmm S SCRE
1:COLOR CLRZ §

4112 IF HIDEX m TRAMBEZ=TXMAXL: DRANGEX=XMAXZ: YRANGET - YHAXY

4115 RETURN

8000 IF LIMIT=0 THEN STROBEZ=0

8050 FOR TTI=L TO LIMIT-IF B$="0" THEN GOSUB 13000

8079 COLE=VAL(NIDS(PRMS$(IIT),7,3) ) :ROND=VAL(MIDS(PRMS(111),10,3)) :DRAM"COSO04AOBK +HIDS(STRS (COLT),2
)", "+HIDS(STRS(RONT),2) :NX=INSTR(PRM$(III),"2"):IF NI-=0 THEN 8170

120 SUBS=MIDS(PRMS(ITI),16,N2-16):IF LEN(SUBS))1 THEN DRAW SUB$

8130 SUBS=HIDS(PRM§(IIT) ,NX ) :PARM!(1)=VAL(NIDS(SUBS,2,3)) :PARNI(2)=VAL (HID$(SUBS,5,1)) - PARN! (3)=VAL
(HIDS(SUBS,6,4) ) :PARM! (4)=VAL (HIDS$(SUBS,10,4) ) : PARM! (5)=VAL (HID$(SUBS,14,4))

8140 1F HIDS(PRMS(IIT),N2-8,1)="C" THEN PARM!(1)=PARM! (1)*(VAL(HID$(PRMS$(III) NZ-5,3))/4)

8152 TF PARN!(3)=0 AND PARM!(4)=0 THEN PARM!(4)=6.283001

hszlm;:l::f
=



259

8154 IF PARM!(4)16.293001 THEM PARM!{4)=6.28300]

8156 IF PARM!{3))6.263001 THEM PARM!(3)=6.283001

8158 IF PARM!(5)=0 THEN PARMI(5)=5/12

§159 CIRCLE STEP{+0,40),PARMI(1),PARN!(2) ,PARK!(3),PARK! (4], PARNI{S)-60TD 8196

3170 NI=INSTR{PRH$(ITI),"P"):IF NI ()0 THEN PAINT (COLY,ROMZ),VAL(HIDS(PRNS{III), HI+1,1)) YAL(MIDS(P
RM$(T1T) N243,1)):60T0 8194

8174 SUBS=NIDS(PRMS(11T),16):K=0:NX=INSTR(SUBS, "X"):IF NI-0 THEN 8190

8181 IF VAL(MID${SUBS,NX+1,2)))47 AND VAL(MID$(SUBS NZ+1,2)}(58 THER NIT-VAL(MID${SUBS,NI+1,2))-47
8182 IF VAL(HIDS(SUBS,WI+1,2)) )64 THEW WIZ=VAL (MIDS (SUBS,NI41,2))-54

8184 DRAW MIDS$(SUBS,K+1,MX-§-1)+ITEXTS(NLT) :K=NI+2:NZ=INSTR(NI+3,508%,"X"):IF NI ()0 THEN 8181 ELSE

IF K{=LEN(SUB$) THEN DRAH MIDS(SUBS,K+1): 6074 W/g 60T0 8196
Pné-

8190 IF LEN(SUB$))1 THEN DRAW 5U8$
 PRHS(LINIT)=DSP$(JT):COSUR 8000

8196 IF B$="0" THEM PRHS(I11)=VARS
8197 K=0:NEXT T1T:84="1":RETURN
12000 'SELECT AND DRAW THE SYHB
12020 LIMIT=1:L=1

12030 FOR JI=1 TO PCTRY:IF VAL
12070 HEXT JI:RETURN
13000 "PRINT TEXTS
13010 J2=0

13020 L.NO=( (NNZ-1)*(TYHAXX-1) )+
1:TRANGEZ-1

13047 LOCATE JI,1:PRINT HI
13060 MEXT I11

13200 RETURN

65200 "LOAD A DIAGRAM PAGE TO T
65210 VARS:DRIVES+DIAGRAMS+" P +DTVS
65220 OPEM VARS AS #3 LEN=255:FIELI
65290 PCTRI=PCTRI+L

65292 GET #3:1F EOF(3) THEII IF FIRST
90
65293 IF FIRST.TIMET AND HEDSH

‘m. 1=0541:0F JI=TYMAXI-1 THEN TRANGE

\ EN TRANCET=TRANGEL+]

TRST. TIKET=1:CHANGEX=0
VARS:BOTO 65390 ELSE CLOSE #3:60TD 653

‘ 0.0 2=62- HIDET=0- 0V2=0: SSHI=2
‘\
65294 TF FIRST.TINEX AND DGR : “ £ 2:0: SSWT=2: HIDEX=VAL (ID$ (FULL
$,9,1)) :0VI=VAL (NTDS(FULLS, 10, 8) ) : VERZ=VAL [HTD 9116010 64282
£5295 IF FIRST.TINED AND MIDS L:.[ A)"CHIA" THEN TL1-82-FIRST. TTHER-0:SSHT=1:CLRY-VAL (NIDS(FULLS

,5,2) ) : PALI=VAL (NIDS(F Ll.? u nm: FULLS,® ULLS,9, 1)) :OVE=VAL (MIDS(FULLS
,10,1)) :VERL= m{nx wﬁﬁi i
65296 IF FIRST. THEE =2:HIDET=VAL(NIDS(FULLS,

8,1)):00%= m{nmiruﬂl 9, iH mz mtnm L:.a.zn 60TO 65292

, dﬁ,ﬁ i ﬁﬁ%ﬁ P, o i

TROFULLS," °):IF N1%=0 THEN N1%:256

65299 WRE$=MIDS(FULLS,1,N1Z-1):N12:1

65300 NX=INSTR{NIZ,FULLS,CHR$(255)):IF NX=0 THEW &5318

65304 WRK$=NID$(FULLS, N1Z,NI-N1Z):NLZ=ME+1:IF PCTRY)MAXPY THEN PCTRI=MAXPI

65314 DSP§{PCTRT)=HRKS:PCTRY=PCTRY+1:60T0 65300

65318 LSET FULL$=MIDS(FULLS,NIZ):IF PCTRI)MAXPI THEN PCTRY=HAXPI

65330 N1Z=INSTR(FULLS," "):IF N1Z:=0 THEN N1I=256

65360 DSPS(PCTRT)=NIDS(FULLS,1,NIZ-1) :PCTRI=PCTRI+1:60T0 5292

65390 IF TLI=62 OR VERX=13 THEN FOR III=1 TO PCTRY:D$=DSP$(111):GOSUB £S500:DSP$(ITT)=D$:NEXT III
65391 PCTRI=(PCTRI-1):IF PCTRY()O THEN LAST.PHUMZ=VAL(MID$(DSP$(PCTRZ),1,4)) ELSE LAST.PHUNI=O
65392 FOR ITI=PCTRI+1 TO MAXPI:IF DSP$(III)="" THEN 65394 ELSE DSP$(II[)=""

65393 NEXT 111




65394 IF SSHI=1 THEN XMAYY=319 ELSE XMAXY=639 .
65395 GOSUB A100:VARS=DRIVES4DIAGRAMS4 " .T"+DINS - OPEN VARS AS 3 LEN-TLI-FIELD 3,TL AS FULLS:FOR 11
1=1 70 (TYNAXI-1)#4: TEXTS(IIT)="":MEXT T11:111=0

63420 GET #3:1F EOF(3) AND IT1:0 THEN CLOSE #3:KILL VAR$:RETURN ELSE IF EOF(3) THEN CLOSE ¥3:RETURN
65423 IF VAL(KIDS(FULLS,1,2))(1 OR VAL(MIDS(FULLS,1,2))) (YRAXZ-1)44 THEN £5420

65424 IF FULLSC)STRINGS(TLY, (CHRS(D))) AMD FULL$(ISPACES{TLY) THEN TII=VAL(HIBS(FULLS,1,2) ) s TEXTS(IT
1):=HID${FULLS,3)

65426 GOTO £5420

65500 ' REFGRMAT 1.2 RECORD

65502 TF HID$(D$,12,1)()°C" AND NIDS(DS,12,1)¢)"2" AHD HID$(B$,12,1)0)°P" THEN IF WID$(DS,16,1)()"¢C"
AND KIDS(DS,16,1)0)°2" AND MID§(D$,16,1) () P™ THEN DS:STRINGS(1S,"0")-RETURN ELSE IF INSTR(D$,"2")=

D THEN RETURN ELSE 60TO 65510 i

65503 NI=INSTR(DS,"Z"):IF NI=D THEN. D8:FW/
$,9,3)47000° K108 (D8, 12) - RETURN »
65504 IF NI=12 THEN D3=MID$(DE)MN
N DS=HIDS(DS,1,M2-9)4HIDS(ne TP 8
1-1)4K108(D$, 12,8)+HIDS (DS, KT L.
555?5 SCALI-VAL (KIDS (D3, M
§4 - -
65508 D§=FNZADDS (4, VAL (HIDS (ag®T 31"J VNI (D9 31 K104 (D$,9,3)4"000"+HIDS (s, 12)
65510 NX=INSTR(D$,"Z"): W1 ' U5 % =HID$(DS,1,NT)+HIDS{DS, NL+11,3)4HID
$(D§,N1415,1)+HIDS (D, NI1
65520 RETURN

108(D$,1,3)) }+HIDS (DS, 4,2)4MIDS(DS, 6,3) 4N1D$(D

):X2=19 ELSE IF MID$(D$,NZ-8,1)="C" THE

b3(0%,15,31) ) :HIDS (DS, NX+XX, 3) -FNZADDS (3, SCA

COMDEF-9

490 REN -----r==mnn-
500 REH * "COHDEF-9" =
L] [ 11 [ — .
SOS DEFINT I, K, L ﬂ

510 DIK urmml,Hnmun}.iyluuh:mm],qut H(100),R1(100) ,RHL (100) ,BUZ(60), NTZ(100), ZLX{£0)

)
+ ILR(60), vo( Alsal,, 1 é i R F(100), FILA(100), XLT(100), R
e
520 DIN Xx(100); BR(10U),~PPz(i00), do L, | (100}, GNTHZ(20), ZPAK$(6),RNOTI(2

0), TPAKS (&), CLNTHE{ 100) ¢

330 DIMET 1 IL3 kbl vl ,FILA3{100) ,EFX0(60) ,E
e
S40 COoHM 102§, D38, D4S, D58, DES, D73, 1S, D98, D108, D118, FOATS, NARS, T, CINTDXX

550 ¢ HPE(), Wax(), xu(), xt(), xuL(), RM{), RI(), RML(), BUX(), NTZ(), 2Lx(), 2LRC), Vo), VOA()
» X0, YOO, EFX(), EFRQ), FILC), INF(), FILAL), XLT(), RLT(), 280), soLx()

560 COMHOR XX(), RR(), PPE(), 0QZ(), U(), TTHF(), RCONI(), GNTHE(), ZPARS$(), RMOTI()

570 COHHON FILO(),FILI(),FIL2(),FIL3() ,FILAOL) FILAL(), FILAZ() FILAS() ,EFXD() JEFX() EFX2()EFX3() EFR
1(),EFR2() ,EFR3() ,EFROC) ,CLNTHX() ,GNCON() , GNCORAL)

380 CONHON ADINI,BST,BCUR,CHNX,CHIT,CLIX,CLNY,CHDX, CHRY,CLVE, DZNFY, EPZ, FTIL,FINL,FILT,FINH,FLH,FLL ,FB1
JFIRNT,FILOC, FTAVR, GNCT, GOTDXY, HENT

590 COMON 10,10, INFC,IT,ITHC, LN, LBN,HLNT KBS, HF 10X, HFRNT, HFLOC, MFAVR, M8, OPTY

600 CONHON PSTY,PTHT,PTLY,PT,PT,PAGEY, SUBPAGET, 08, RF ST, VB, XRL, XRH, XF , XHIH, IF , 28H, 798, 5¢8,C3 B8 , TENPDS
VIENP2S, TS, TF08,TPIS, TP2S, P38, CDATS, WIDS, 2SS, FLVCR




bsp-7

15000 REM
15010 REH * DISPLAY UTILITY DATA #

15020 REH

15030 LBN=CVI(D2$) : HENZ=CVI(D3$) : WVA=CVS{D&S) - m cvs(pios)

15040 LOCATE 6,28 : COLOR 7 : PRINT “INSTALLED BORG : LOCATE 6,46 : COLOR 15 : PRINT “UTILITY"
15050 LOCATE 9,21 : COLOR 7 : PRINT "LOMER BUS NUM - LOCATE 9,45 - COLOR 15 : PRINT LBN
15060 LOCATE 11,21 : COLOR 7 - PRINT “HEGHER BUS' NUFsFx 2 LOCATE 11,45 : COLOR IS : PRINT HBNX

15070 LOCATE 13,21 : COLOR 7 : PRIGIUWCIRN FauLT COEl®L0CATE 13,45 : COLOR 1S : PRINT HVA :
LOCATE 15,56 : COLOR 7 : PRINT ilmemms —

15080 LOCATE 15,21 = COLOR 7 : PRINLfR St LOGATE 15,45 : COLOR 1S < PRINT XR
15090 RETURN 7/

15110 REN * DISPLAY TRANSFORHER . A\

15130 LBN-CVI{D28) : HBNE=CV1(D3 134 =N (068), - QuisCvsoes) - Xe=cvs(o10s)

15140 LOCATE 6,16 : COLOR 7 5 @HTNT STVGPLED Cok) 158 & LODKTE 6486, COLOR 1S

15150 IF LTY$="TWWD" THEN PRINT
15160 TF LTY$="AUTO" THEN PRIN
15170 IF LTY$="TRWD" THEN PR
15180 IF LTY$="AUNT" THEW PRINT §ITH TERTIARY
15190 LOCATE 9,21 : COLOR 7 : PRINYFLONER BUS HONE % U 9,45 : COLOR 15 : PRINT LBN
15200 LOCATE 11,21 : COLOR 7 - r GHER BUS NUMBER - TE 11,45 ; COLOR 15 : PRINT HBNX
15210 LOCATE 13,21 : COLOR 7 NT SPRATE DG OCATE 13,45 : COLOR 15 : PRINT HVA :
LOCATE 13,56 : COLOR 7 - Pam " = ‘
15220 LOCATE 15,21 : COLOR 7 : PRINT * =" : LOCATE 15,45 : COLOR 15 : PRINT LX! :
LOCATE 15,56 : COLOR 7 : PRINT "1" AT _

15230 LOCATE 17,21 : COLOR P P
15240 RETURN —
15260 REM * DISPLAY LINE [ ?f’
15280 LBN=CVI(D28) : HBNI=CVIfH
94) - LP1=CYS(DLOS) ‘
15250 LOCATE 6,26 - r.nwn r r “INSTALLED LOAD 15 : LOCATE 6,45 : COLOR 15

15300 IF LTY$="8US "
i dhand ﬁ ﬁ WS
15320 LOCATE 9,21 : A COLOR 15 : PRINT LEN

45 : COLOR 15 : PRINT XR

“Cy U n?:J LXi=Cvs(Das) : LRU=CVS(D

15330 LOCATE 11 21 : II 7: HIIHT "HIGHER NUMBER =" : LOCATE 11,45 : : PRINT HEMI
15340 LOCATE : - : PRINT AL :
LY *ﬁiﬁ*ﬂﬁf piigeNikln

13350 LOCATE : : PRINT VK :
LOCATE 15,56 : UH 7 : PRINT “kv"

15360 LOCATE 17,21 : COLOR 7 : PRINT "REACTANCE =" : LOCATE 17,45 : COLOR 15 : PRINT LX! :
LOCATE 17,56 : COLOR 7 : PRINT “oha/ka"

15370 LOCATE 19,21 : COLOR 7 : PRINT "RESISTANCE =" : LOCATE 19,45 : COLOR 15 : PRINT LR! :
LOCATE 19,56 : COLOR 7 : PRINT “cha/ke"

15380 LOCATE 21,21 = COLOR 7 : PRINT "LINES/PHASE =" : LOCATE 21,45 : COLOR 15 : PRINT LP!
13390 RETURM

15410 REM * DISPLAY HOTOR DATA *

15430 LBN=CVI(D24) :HBNI=CVI(D38) :LTY$=D5$:NK=CVS{DES) - RPH=CVS (D7) : XD=CVS(DAS) - PF=CVS(D98) - XR=CVS(D1
08) <EFF=CYS(D11S)

15440 LOCATE 5,15:COLOR 7:PRINT “INSTALLED LOAD IS" : LOCATE 5,33 : COLOR 15

261
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15450 IF LTY$="SYNC" THEN PRINT "SYNCHRONOUS MoTOR"

15460 IF LTY$="INDT® THEM PRINT "SIMGLE IMDUCTION MOTOR®

15465 IF LTY$="GUPX" THEN PRINT "GROUP OF IMDUCTION MGTORS® :LOCATE 6,33:PRINT “( each )746 kW & 186
.5 kM at 1800 rpa )"

15470 TF LTY$="GURY" THEM PRINT “GROUP OF IMDUCTION MOTORS™:LOCATE 6,33 :PRINT “(each 37.3-186.5kM &
)186.5-746kN at (=1600 rpa)

15460 TF LTY$="GUP(" THEN PRINT “GROUP OF INDUCTION HOTORS (each under 37.3 kM)®

15490 LOCATE 7,15:COLOR 7:PRINT “LOWER BUS NUMBER =*:LOCATE 7,45:C0LOR 15:PRINT LBN

15500 LOCATE 9,15:COLOR 7:PRINT "HIGHER BUS HUMBER =":LOCATE 9,45:COLOR 15:PRINT HBNI

15510 LOCATE 11,15:COLOR 7:PRINT “RATED POM =*-LOCATE 11,45:COLOR 15:PRINT WK:LOCATE
11,56:COLOR 7:PRINT “kN"
15520 LOCATE 13,15:COLOR 7:PRINT °

E 13,56:C0LOR 7:PRINT “rpa" :
15530 LOCATE 15,15:COLOR 7: PRIN Tt
15,56:COLOR 7:PRINT 1" ,
15540 LOCATE 17,15:COLOR 7:PRINT “F | LOCATE 17,45:COLOR 15:PRINT PF

15545 LOCATE 19,15:COLOR 7:PRAMT™"T CRa¥ Lafls h~hninnmnwmwwmm
E 19,56:COLOR 7:PRINT "1° i *_ _

15550 LOCATE 21,15 : COLOR 7
XR

15560 RETURN

15530 REM * DISPLAY GEMERATON

15600 LBN=CVI(D28) : HBMZ=CYI(§

108)
15610 LOCATE 6,15 : COLOR 7 : PR

15620 IF LTY$="HWOA" THEN PRINT ~H)

15630 IF LTY$="TURR" THEN PRINT "TURS
15640 LOCATE 9,21 : COLOR 7 : PRINT “LOK

H 5 e s -

15650 LOCATE 11,21 : COLOR™My: B HER BUS” N JCATE 11,50 : COLOR 15 : PRINT

HBNT  —
15660 LOCATE 13,21 :

HYA - LOCATE 13,61 : COLOR 7 1
15670 LOCATE 15,21 : COLOR 7-2PRINT “SUBTRANSTENT REACT 3

LX! : LOCATE 15,61 : COLOR 7 : PRINT "Y"

s T H“ﬁ%‘*w I i
= RAN TN NN

2:LOCATE 13,45:COLOR 15:PRINT RPH:LOCAT

TE 15,45:COLOR 15:PRINT XD-LOCATE

OCATE 21,45 : COLOR 15 : PRINT

PRCVS(DBS) : XD=CYS(DI8) : XR=CS(D

_\
sTh \ ,33 : COLOR 15
) GEM

(v

=" : LOCATE 9,50 : COLOR 15 : PRINT LB

ﬁ*umw:mmw:mm

lf OCATE 15,50 : COLOR 15 : PRINT
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TEEEBERENRES

sSgdYEnHg2g

LINE

T

SEEEERES

e R e I R R I T I —

S IIIEIS

LOWER

q

==ﬂﬁn=*l-ll-ll-l1—

HTOR GlPrL
LikE Cig
AFHE TWND
utiIL

IFHE TWHD
GENT TURE
IFHR TWHD
AFHR TND
AFHR TuMD
IFHE THkD

. ~

M‘HEH'HI'E

2 Té
182 173
5.5 ”
6.5 5
¥ 155
5.5 =
.5 =
5.5 ¥
5.5 =
- /1
2] 76
5 T8
%5 .76
25 J6
25 T
1086 1451
T8
786
786
786
i/
T6
Té
Jé

fl UERY N A s

e

0
1]

L. 667E-02 7 5.500E-0)

§.2386-02 3 7.3336-010

W’W FEriddenaiim i (Rimed i

1. 104E-01 7 3.311E+D0
3.667E-01 1 3.667E+00
A.000E-01 7 4.000E4D0
366701 T 3.667E400
3.667E-01 7 J.667E+00
66856400 J 6.017E400
1.000E+18 J 1.000E+18
6.6B5E400 7 £.0017E401
1.000E418 J 1.000E¢18
6.6B5E400 J 6.017E401
1.000€¢18 J 1.000E418

1.667E-02 7 3.500E-01
5.238E-02 1 75550

1.6556-01 7 4.966E400
3.667E-01 1 3.6676400
4.000E-01 J 4.000E+00
3.6676-01 1 3.667E400
3.667E-01 3 3.667€400
1.671E401 J 1.504E402
1.000€418 J 1.000€418
1.67IE401 J 1.504E402
1.0006416 J 1.000E+18
1.671E40) 3 1. 504F402
1.00GE418 7 1.0006+18

1.667€-02 3 3.5006-01
5. 238E-02 QLA333E-01

L.104E-D1 7 3.311E400
3.66TE-01 J 3.667€400
4.000£-01 J 4.000E400
3.667E-01 1 3.667E400
J.66TE-01-J 3.667E400
55718400 J 5.014E%01
2.785E400 1 2.307E+01
S.571E400 ] S.014E40]
2.785E400 1 2,507€+01
S.5TIE400 J 5.014E+01
2.785E400 J 2.507E+01

264

% 9
£ 1
= 16
= 9
- 1é
= 23
= 12
= 0
& 10
= 18
95 )
%5 ]
95 9
% 9
95 9
95 ?
= 2
1] 30
5 n
= 50
75 30
] o
S 10
i 10
b 9
95 9
%5 9
L] 9

1.200€-02 J 5.4D06-01
4.541E-03 J 9.9906-02
1.667E-02 71 3.5006-01
5.236€-02 J 7.333E-01
5.2386-02 1 7.333€-01
1.0D0E+18 J 1.0D0E418
1.000E+18 J 1.000E+18
3.E6TE-01 T 3.66TE4DD
4.000E-01 1 4.000E400
3.667E-01 3 3.667E400
J.667E-01 J 3.6676+00
1.000E418 J 1.000E+18
1.000E+18 7 1.000E+18
1.000E+18 J 1.000E+18
1.000E+18 7 1.000€418
1.000E+18 J |.00DE+18
1.0DDE+18 1 1.000E418
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] 1 £, 6056400 J 6.017E401 1671E+01 7 1.504E402 S.5TIE400 J 5.014E401 1.000E418 J 1.000E+18
0 11 1.000E#1E J 1.000E418 1.000E+16 7 1.C00E418 2.783E400 J 2.507E+0] 1.000E41E J 1.000E418
1 12 9.723E-02 ] 6.4482-02 9.723E-02 1 6. 440E-02 9.723E-02 1 &.448E-02 §.723E-02 7 6.448E-02
2 12 6.875E-02 7 1.10DE40D 6.8756-02 1 [.10OES00  6.875E-02 J 1.100E400 6.875E-02 1 1.100€400
0 13 1.380E-02 J 1. 242E-01 1.380E-02 7 1.2428-01 1.3B0E-02 J 1.242E-01 1.380E-02 J 1.242E-01
z 13 8.1256-02 1 1.300E+00 8.1256-07 ] 1.300E+00  B.1256-02 ] |.300EV00 8.125€-02 7 1.300€+00
o 14 6.207E-02 J 1.B00E+00 £.207E-02 1 | BOOEA0D 6. 207E-02 J 1.800E+00 9.310E-02 3 2.700E400
2 14 9.167€-02 1 1.100E+00 9. 06TE-02 1 | I00ER0D  9.167E-02 1 1.100E400 9. 167602 3 1.100E+00
2 15 3.66TE-01 1 3.64TE4DD J.667E-01 J 3.66TE4DD  3.G6TE-DL J 3.667EAD0 J.667E-01 1 3.667E+00
2 1é J.6TE-0L 1 J.067E400 J.6ETE-01 1 3.667E+00 J.66TE-01 J J.6ETEA0D J.67E-01 J 3.667E400
- 17 3.66TE-01 1 36676400 J.667E-0L ] 3.66TE400 S.EETE-01 3 J.66TE400 J.B67E-01 J 3.66TE400
] 15 5. 685E400 7 6.017E%D 0] J 1.50dE#02 5.571E400 7 5.004E401 L.DOOE+1E J 1.000E+18
0 15 1.000E418 J 1.009E4] 2,785E+00 J 2.507640] 1.000E+18 J 1.000£+418
0 16 S.571E400 J 5.0014E401 1.000E+18 7 1.000E+18
o 1é 2.785E400 7 2.507E401 1.000E+1% 7 1.000E+18
0 17 $.571E400 J 5.014E401 1.000E+18 7 1.000E418
0 17 27636400 3 2.507E401 1.000€418 J 1.000E418
2 ) J.195e-01 J 2.391E-01 3.195E-01 1 2.391E-01
] 4 3.21E-00 J 9.723E400 1.000E%18 J 1.000E+18
0 i LMIE-01 J 9.723E400 1.000E+18 J 1.000E418
2 3 2133602 7 1.067e+00 2,133-02 J 1.0676+00
0 3 J.241E-00 T 9.723E400 1.000£418 J 1.000E+18
o 3 3.241E-01 7 97236400 1.0D0E418 J 1.000E+18
i 18 3.667E-01 J 3_667E400 3.667E-01 7 3.667E400
3 19 J.6676-01 7 3.667E400 F.66TE-BI T 3.66TE400
L it " 5.571E400 J 5.0014E401 1.000E418 J 1.000E+18
0 18 2.7835E400 1 2.507E401 1.000E418 1 1.000E418
f 19 S.5TIEAD0 J 5.014E401 1.000E418 J 1.00DE+]1E
0 19 2.7856400 7 2.507E401 1.0BOE+18 1 1. 0008418

ﬁwﬂﬂsmﬂwn e

BS M. 6 = gL000 , BUS MO, 7 Logg , 0.0

5000 , 0.00

3 "1 a\m gwmmaﬁm i

: Bsw. 2 = L0000 , 0.00

BUS 0. 13 = , BUSMO. 4 = L0060 , 0.00

BUS MO. 15 = J.uuu . u.m BUS M. 16 = 1000 , 0.00

BUS MO. 17 = 1000 ., 0.00 BUS M. A4 = J.O00 , O6.00

BUSMO.3 = om0 , 0.00 BUSMD. 18 =  1.000 , O0.00

BUSHO. 19 =  L.000 , 0.00

INTERRUPTING TIME OF M. CB. z 5 CYCLES
CONTACT PARTING TIME OF HV. CB. = 3 CYCLES
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BEPORT OF FAULT AT BUS HO. J RATED JJ.8 kV

FOE HIGH YOLTAGE CIRCUIT BREAKER  [INTERRUPT 5 CF. , CONTACT PARTING 3 €Y. ]

FAULT LEVEL = 642.63F  MYA AR RATID = 3158745
Efl £ 20643 kA{ras)
R, - 1.039525
1151112
1.o91007
25.617 khlras)
28367 kilras)
26,086 kk{res)

LL] L1 i

26.8% kA{ras)
40,775 ki{ras)

27 , -88.73
L2, -0
0. , -81.39
013, 817
813591

30.57505
26.10% khlres)

-
AUE IR

FUSE DuTY

R AN s,

FOR TIHE DELAYED RALAYING DEVICE

SHORT CIRCUIT CURREMT 3 18,920 kalras)

mrc:mrmmnﬁnmumu:{m ) [ .. , DEGREE ][ MOMENTARY FOR HY. CE. ]

LIKE Ho. 1 = 2777, -88.73 LIKE Wo. 2 z 2.220 , -87.30



LINE WD, 3

LIKE M. §

LIKE #0. 7

LIKE WO, 9

LTHE Mo 11
LINE Ho. 13
LINE Ho. 15
LINE #o. 17
LINE HO. 19
LINE WD. 21
LIKE Mo, 23
LINE WO. 25
LINE HO. 27
LINE 0. 2§

S T T T I T T T T T B T B T R R T R

2.200
0.247
0.247
0.015
0.018
f.000

0.725

L]

Ll

'

§2.70
nu
-8r.70
#6.30
%630
-45.4
-45.04
-45.04
=45.M
=83 4%
9661

0.5

LINE M0, 4
LIKE HO. &
LINE WO, &
LIKE W0, 10
LIKE 0. 12
LTHE MO, 14
LIHE WO. 16
LINE KO, 18
LINE HO. 20
LINE WO, 22
LIKE H0. 24
LIKE W0, 2¢
LIKE W0, 28

ﬂ‘lJEl’J‘VIH‘VIﬁWEI']ﬂ‘i

Eiﬂﬂ' CURRENT HTIIIHTP OF EACH LINE { sm. ) (e, IGEEJ}IHTEIHH FOR HY. C8. ]

awwmimm’n ;-8

LIKE M. §
LIKE 0. 7

LIKE W0,

LIKE HO. 11
LINE M0, 13
LIKE NO. 1§
LINE WO. 17
LIHE W0, 19
LINE Mg, 21
LIKE MO, 23

i LL] L1} i " (1] Wi Lid

0.173
0.175
0.008
0004
0.000
0.000
£.000
0.000
0.318
020

L]

92.19
-87.81

9.2

9.33
-45.00
-45.07
=45.01
-45.0
-83.68

9.6l

LINE M. &

LINE WO, €
LINE NO. 10
LINE WO, 12 -
LIRE W0. 14
LIKE KO, 16
LINE 0. 18
LIKE WO, 20
LINE WO, 22
LIME WO, 2

UL LL] LL) i :H L1 i i [Tt

i L1 a

i LL) A 2 L) LT} " " W Wi W i

L T T R T T T T 1]

" " LL] Ll L L1 i i

0.247
0.247
0.016
0.016
0.016
0.015
0.016
0.016
0.540
0.256
0.126
0.005
0.006
0.000
0.000
0.000
0.036
0.089
0.030
0.005
0.000
0.000

0.778
0.182
0.062
0.057
0.435
0.774
0.6856
0,656
0.728

EI?.HE v 8730

2.30

=0.03
=178

0.59

0.59
-1.4]
=113
=1.45
=332
0.9

047, 9219
0.17%5 , -87.81
0.006 , 9.3
0.006 , %.33
0.006 , -83.47
0.006 , -83.48
0.006 , -Bi.ef
0.006 , -83.67
0.5 . %R
0.2 , -83.3
015, -1

267



LIKE Wa. 25
LIKE W0, 27
LIHE Mo, 29
LIKE WO, 31
LIKE WO, 33
LIKE WO, 35
LINE R0. 37
LIKE NO. 39
LINE k0. 41
LIRE K0. 43
LIKE MO, 45

LIRE Wo. 9
LINE WP, Jd,

A W&W VBN Tkl B 10

HE IIJ. I.'F

LIKE Wo. 27
LIKE MO, 29
LIHE W0, 31
LINE W0. 33
LIKE K0. 35
LIKE M. 37
LIKE B0, 3%
LIHE Mo, 41
LIKE WO, 43
LINE MO, 45

L L1

(T TR T TR TR T T

i L1 Wi i L1 aoaw (1]

013
0.003

§3.83
§9.12
-80.83
-80. 88

#7.06

0.09 , Q.23

0.017
0.004
0.008
0.00s
0.067
0.034
0.027
0.013
0.004
0.004

d:m ‘ -u::

SUREE ot ol

-BI.H
-81.02
-81.02
9215
-81.86
-85 8
.45
-81.55
-81.55

LIKE NO. 26
LINE H0. 28
LINE k0. 30
LINE WO, 32
LIKE W, 34
LIKE W0. 36
LIKE WO, 34
LIKE WO. 40
LIHE KD. 42
LIHE HO. &4
LINE K. 4é

LT T T T T T T R T TR T T

0.778 |

002 ,

LU T TR T T T R T T T T

o671

. ) [ .U, , DEGREE ][ AT 1/2 FIRST
2 = 224 ,

] = 0.7,

6 = 0LAF

8 = 0.9,

M. 10 : 0.9,
LIKE WO, 12 = 0.0,
= 0o,

IR Y (N

= .16,

LINE W0. 20 @&  0.557 ,
E| Ela.m v

= LJe.11s

Lol T

LIME W0. 28 = 0.017 ,
LIKE M. 30 : oo,
LINE Wo. 32 = ool
LINE MO, 34 = oo,
LINE WO. 36 : BN,
LTHE M0. 38 = .07,
LINE WO. 40 :  8eF,
LIE W0. &2 = 0.003 ,
LINE WO, &4 = 0.008 ,
LINE MO. 46 = 0.009 ,

0.005 ,
o008
0.000
g.000
g.000 ,
0.026 ,
a.e5
0.023
0.002 ,
0000
f.000

0.12¢ ,

0.024 '
0610
0.758
0.é1% ,
0.625 ,

268

.2
§9.12
-42.22
-42.22
-2.2
“B2. %
94,92
-85.4¢
0. %
-42.38
-42.38

-0.03
-1.%0

0.6l

0.6l
-1.79
=123
=1.71
=34
-1.28

CYCLE FOR FUSE ]

=87.50
§2.30
=877
9%6.23
%6.23
=857
-83.78
-85.77
-83.77
§6.66
-83.43
-84.2]
#a.9
#a.98
-81.02
-8l.02
-81.02
-81.86
95.52
-85.86
945
-81.55
-81.55
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BUS VOLTAGE DURING FAULT [ P.U. . DEGREE ][ AT .1f2 FIRST CYCLE FOR FUSE ]

BUS MO | z 0.000 , 0.00 BUS WO, 5 : 0.7/ , -0.05
BUS MO. & : o , -7 BUS w0, 7 : o.182 , -L7
BUS WO, B : 0.180 , 0.52 BUS KO, 9 = 0195 , 0.8
BUS WO, 10 = 0.180 , 0.52 BUS Ko, 11 = o180 , 0.5
BUS WO, 12 : 0.065 , -49.78 BUs Mo, 2 : 0.656 , -1.45
BUS WO, 13 : i BUS MO, 14 : 0.787 ., -0
BUS MO, 15 = BUS KO, 16 = 0.717  -L.M
BUS MO, BUS WO, 4 = 0.675 , -1

BUS W0 18 : 0.785 , -0.57

2 : 2220 , 8030

4 = g0.000 0.00

6 t 0.000 , -45.80

. :  0.000 , 0.60

£ Mo, 10 0000 , 0.00

THE MO, 12 :  0.000 , -45.00

LIKE LIME WO. 14 : 0.000 , -45.00
LTHE MO, | LIME WD, 16 = 0.000 , -45.00
LINE W0. 17 —0.00 , LIKE Wo. 18 : 0.000 , -45.00
LINE K0, 19 _is 5o 0/ LINEW. 20 =  0.452 , 95.97
“hiM W, 22 £ 0.3 |, 8375
A r 0.2, BT

, . % 0000 , 0.00

. LT W0 28 z  0.000 , 0.00

L MO, 29 i T HE WO. 30 = 0.000 , -42.57
u&. 3 - 42. ulla m. 0000 , -42.57
LIII: ¥ :  0.000 , -42.57
183 wﬂmm iy
3 y 0o

z l'hm o —42.57

LIKE 0. 3% = +M ' 'JIIS? LIKE k0. 40
LIKE k0. 41 k

R a:ﬂmzu:ﬁ AT YA rpem |

BUS VOLTAGE DURTME FAULT [ P.U. , BEGREE ][ AT LOWS TINE DELAY ]

BUS K0, 1 z o000 , 0.0 BUS WO. 5 : g.778 , -0.03
BUS HO. & : 0.000 , 0.00 BUs MO, 7 : 0.000 , 0.0
BUS Wo. & = e.000 , 0.00 BUS NO. ¢ ] 0.000 , 0.00
BUS WO, 10 : o.000 . 0.00 BUS Wo. 1 = 0.000 , 0.00
BUS WO, 12 = 0.055 , -50.48 BUS Mo, 2 z 0.5 , -2.15
BUS WO, 13 : 0.93% , 0.00 BUS WO, 14 : 0.668 , -l.62



Wo. IS = 0532, 2105 BUS NO. 16 IR e
BUS HO. 17 = 0.82 , 218 BUS NO. 4 R B+ - S |
BUS W0, 3 = 0532, <25 BUS HO. 18 = g5, -AlS
BUS WO 19 = 0532, -LI5

270

TIe = 15.86616

28.581 kAfres)
29.581 kh(ras)
28.581 ki(res)

20.581 kA(ras)
19127 ki{ras)

X Jose , -sna0

" i

L i . l"l 0.30 ¥ -81.58
U d. 2 B N hore ] W u.m . 8618
u'iuu 21 BUS WO, 14 j'lm'. ] S . -BE.97

ﬂum “*E‘i'%""a'wmﬁ

For U0k VOLTAGE CIRCULT BREACER £

A BT0 AT IS

FOR FUSE
FAULT LEVEL =  235.426 HWA  X/R RATIO = 137079
Efl : J2.6M kA{ras)
FUSE pUTY

INTERRUPTING SHORT CIRCUTT CURREWT [SYH] = 3260 khires)
[ ASYWMETRICAL SHORT CIRCUIT CURRENT = 48.797 Wh(ras) ]
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FOR TIHE DELAYED RALAYING DEVICE

SHORT CIRCUIT CURRENT z 25128 kilres)

2615164

) = 1.001137

2 1105365
1.084587

10.850 hA{ras)
10.984 kalras)
11,759 kh{ras)

11759 kA{ras]
19.487 kAlres)

Y Jo.az . .03

= 000, -8L.é

- il on ., -mu

BUS MO. 14 :Lm] : nu , -89.59
BEMOTE [ (LOCAL+REHOTE) )

ﬂ‘IJEI’J‘VIWI‘iWEI']ﬂ‘i

VOLTAGE CIRCULT BREAKER ENIWH,EEE CIRtU

AN AT N TI NG L.

FOR FUSE
FAULT LEYEL = 95,377 M Ik RATIO = 2502855
Ef1 : 13.236 khirns)
FUSE puty
IKTERRUPTING SHORT CIRCUIT CURRENT [SYH] = 13.236 khires)

[ ASYMHETRICAL SHORT CIRCUIT CURRENT = 20.971 kifrss) ]
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FOR TIHE DELAYED RALAYING DEVICE

SHORT CIRCUIT CURRENT : £.330 ki{res]

: 10.05163
48537 kh(ras)

X/RBATIO = 10.0S1E3
: 48.557 Kh{ras)

48,537 khlres)

5 ]
FOR TIE DELASED RALAING EVICE 2

AUt TSN s
AU TITE TR Y

SYSTEN DATA _[CHANGE]
LINE BUS WUWBERS CIRCUIT ELEMENTS .
LOWER  HIGHER  EQUIPHENT  TYPE WA ML kY, RPN X"*d.x X'd,PF,R Eff KRR
1 0 1 GENT TuRe 00000 - 9 100 - 5

22 0 13 UTIL 00001 5 : : s
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LIKE BUS MUHBERS FOR HIGH VOLTAGE CIRCULT BREALER

LOMER  HIGHER® HOMERTARY IHTERRUPT
1 ] 1 2.000E+04 1 9.000£405 2.000E404 T 9.000€+05
2 0 L IDAE404 J 9.939E406 ! E*N 1 9.939E406

13

BUS HO.
BUS WO

L ?‘/lﬂﬁ”ﬁwmﬂ’?“

LOW YOLTAGE CIRCULT IEM‘MIMEE CIRCYED

i LL] [T 1] L1

FOR LY. C4. OR FUSE FOR LOWE TIHE DELATER

2.000E404 J 9.000E+05
L. 104E406 ] 9.939E4046

22226405 1 1.000EHQT
L. EDME+DS T 9.939E+06

ONTACT PARTINE 3 CV. ]

11 (] 2046495
1

1.054184

1.049736

12.37) kA{res)
13.041 kilras)
12.9% kAlras)

12,986 ka{res)
21.298 ki(res)

0.00 , -88.73
!22 « B30
] -81.54
=§4.89

AR TLaed S b AL AL

L | Ef1 = 14010 kA{ras)
FOR FUSE
FAULT LEVEL =  334.861 WVA  X/RRATIO = 19.5502
Ef1 z 14.000 kA{ras)
FUSE BUTY

THTERRUPTING SHORT CIRCUIT CURRENT [SYH)
[ ASYHRETRIGAL SHORT CLACULT CURRENT

14.000 khlres)
21.908 kalras] |



FOR TIHE DELAYED RALAYING DEVICE

SHORT CIRCULT CURRENT : 10.129 kA{res)

274

FOR WIGH VOLTABETCIRCLLAnNRCARER. . (1w ""?r CONTACT PARTING 3 CY. ]

=3
IS

3 o) RRATIO = 13.96107

17.566 kA{ras)
17.565 %A(ras)
1754 KAlres)

17.566 kA{ras)
31861 kA(ras)

-84.62
-85.20
-#3.86
-B86.97

SL 0.00
LI u o OBWsSH. WM [mc.u ] 0.34
rE.-' tur.mmrt = L§l41535

ﬂ_uummmmm
ARAAT M TING -

- m = om

FOR FUSE
FMILT LEVEL =  [S7.240 WYA  X/R RATI0 = 1363054
Ef1 : 21,823 ¥A(ras)
FUSE putyY

INTERRUPTING SHORT CIRCUIT CURRENT [S¥M]
[ ASYMMETRICAL SHORT CIRCUIT CURREMT

20.823 kilras)
32.535 KAras) ]

" L1
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FOR TIHE DELATED RALATING DEVICE

SHORT CIRCUTT CURRENT : 12,182 kilras)

FoR HIGH VOUTAGEROTREDTLAPCArER | [INTERRUEL S ™Owelly CONTACT PARTING 3 Y. ]
BT = 2248404

I

1.07235%

1044438

2.215 kAires)
9.691 kA(ras)
9.624 khlres)

9.6 khlres)
17.105 kA{res)

000 , -8.92
0.25 , -85.50
0.0 , -35.%
0.6 , BN

7 IS Wi r.om.]
REMOTE | (LOCAL+RENOTE) = LEIISET

AUl ANauIngng
QIR LI v -

FOR FUSE
FAULT LEVEL = B5.550 WWA  X/R RATIO = 21777097
Efl z 11875 kA{ras)
FUSE DUTY
INTERRUPTING SHORT CIRCUIT CURRENT [STH] - 11.873 kAlras)

[ ASYWHETRICAL SHORT CIRCUIT CURREWT = 18.686 kalras) |



FOR TIME BELAYED RALAYING DEVICE

SHORT CIRCUIT CURRENT : 6.295 khlres)

276

= 101231
47.135 khlras)

50,526 kh(res)

10,1231

47.135 kalras)

47.135 kilres)
© 67.987 halres) ]

FOR TIME __ RALAYING DEVIC

AUt MBS wen g™

TS IR



AWEUIN 4

L] L] L]
A8 19DRIgUNTEANY

4 ;
| L]
=5ﬁ ’I,r il
=0 \;'\:—m
e
- 30
S
E 2
-
10
u ]
1l 300 1000
, FOR=P MVA
I E ! % ,
8 e\
R
3
d ,«Jmf':l \
ol 1 Enadaul endase HHA
2T LA
:,‘.."f'.n:.a,t 2

f= m
B

Sl RURD 27 Wil B
77/ >

NAMEPLATE H P

ol 2 BrerdouiEndreeisesiudintuseined 3



278

HIGH

Liow

6 & 338 35 3

NS

TYPICAL X/R o

o

5000 10000
HNAMEPLATE KWVA

:

'H"I'I"N‘d 1

Z
15000 5000

Groups of motors, each less then 50 hp,
usually 600 V and belowzt

0.25

L Then —
amiﬁﬁwumﬂmaa i

|




a1l 2 Fussupudeadisuaini

STANDARD PERCENTAGE IMPEDAMNCES OF THREE-PHASE TRANSFORMERS
STANDARD FLUX DENSITY, STAR OR DELTA H.V. AND L.V.

CONMNECTIONS

H.V. Winding (kV)

k¥A :
33
5 475
75 475
10 475
15 475
20 45
5 45
0 45
40 4-5
50 45
60 &5
% 45
100 475
125 475
150 475
00 475
250 4-75
300 475
400 475
500 475
600 475
750 475
1000 475
1250
1500
2000
2500
3000
4000
5000
6000
7500

= AudInsf B &

55
55
55
35
55
535
¥3
&0
&0
&0
&0
&3
70
70
70
g
75
735
&0
&5

100
10+
100
100

110

&3
&5

0
0
T0
70
70
T3
75
5

B0
B35

100
100
100
100
100
100

ARIAINTUUNIINGIAY

279
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